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Q.1 Which of the following numbers will replace the question mark (?) in the given series?

17,57,22,52,?, 47
Ans & 1.23

X 2.49
X 3.51
o 4.27

QuestionlD-:
<

26433091015

Option1 1D
Option2 1D
Option 31D

: 264330357469
: 264330357472
: 264330357470
Option4 1D :

264330357471

Status : Answered

Chosen Option : 4




Q2 Select the figure from the options that can replace the question mark (?) and

complete the given pattern.

A?

Ans

0

\

Question 1D :

26433074800

Option11D:
Option21D:
Option31D:
Option41D:

264330293291
264330293290
264330293288
264330293289

Status : Answered

Chosen Option: 1




Q.3 Apaper is folded and cut as shown below. How will it appear when unfolded?

Ans

Question ID : 264330103018

\

Option 11D : 264330404463
Option2 1D : 264330404462
Option 31D : 264330404464
Option4 1D : 264330404461
Status : Answered
Chosen Option: 4

meaningful order.

1. Country

2. Continent

3. City

4. Municipality

5. State

Ans % 1.2,1,5 34

X 2.1,2,54,3
/< 3.1,2,53,4
X 4.53,2,4,1

Q.4 Select the correct option that indicates the arrangement of the following words in a logicaland

Question ID : 264330131976
Option 11D : 264330517000
Option2 1D : 264330517002
Option 31D : 264330517001
Option4 1D : 264330516999
Status : Answered
Chosen Option : 1




Q5 qqammaﬁwmwa‘hwm HH d do WUl
1. qeY
2. Hdqd
3 Y
4.5
5Hgl U
Ans X 1.2,1,4,3,5
& 2.2,3,4,51
X 334,215

o 4.2,1,3,4,5

shown below.

M

1B4E7KS8

T oxogyNIpgl
.80\ 3081
8NV 3¢Aal

«8AN3IPAT

\

Question ID :
Option11D:
Option21D:
Option31D:
Option4 1D :

26433076673

264330300756
264330300758
264330300757
264330300759

Status : Answered

Chosen Option: 4

Q.6 Select the correct mirror image of the given combination when the mirror is placed at MN as

Question ID : 264330144793
Option 11D : 264330567429
Option2 1D : 264330567430
Option 31D : 264330567428
Option4 1D : 264330567427
Status : Answered

Chosen Option : 4




Q.7 Select the set in which the numbers are related in the same way as are the numbers of the
following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking down the
numbers into its constituent digits. E.g., 13 — Operations on 13 such as
adding/subtraction/multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3and
then performing mathematical operations on 1 and 3 is not allowed)
(6,12,9)
(16, 10, 13)
Ans X 1.(13,38,4)
X 2.(3,14,8)
X 3.(19, 24,5)

o 4.(15,7,11)

Question ID : 264330144421
Option 11D : 264330565942
Option2 1D : 264330565939
Option 31D : 264330565940
Option4 1D : 264330565941
Status : Answered
Chosen Option : 4

Q8 IY I UFIRAF T MR Y TIIW FRIS ¥d5, 79 PR WY TTEAVTH
e 4 g1 (1 T P YU N & Y H HEI S A 8Y, RN G H P AL/ U/
R Y AP RN WIS 4T T8 191 8U))

eI (Lyric) : TTHT (Song) :: ¥& (Stanza) : ?
Ans & 1. P ddl (Poem)
< 2. 918 T (Literature)
X 3. T9Y (Essay)
X 4.3F S (English)

Question ID : 264330144588
Option1 1D : 264330566608
Option2 1D : 264330566607
Option 3 1D : 264330566609
Option4 1D : 264330566610
Status : Answered
Chosen Option: 2

Q.9  Select the correct mirror image of the given figure when the mirror is placed at MN as shown below.

M
Ekm37a

o xraVt3wid
>567 EmKE
+sVEMII
+ BN EWKE

Question ID : 26433056967
Option 1 ID : 264330222852
Option 2 ID : 264330222853
Option 3 ID : 264330222855
Option 4 ID : 264330222854
Status : Answered
Chosen Option : 3




Q.10 Select the option that is related to the third term in the same way as the second term isrelated to
the first term and the sixth term is related to the fifth term.
9:38::13:7::24:83

Ans K 1.57
X 2.48
" 3.50
X 4.44

Question 1D : 264330126043
Option 1 1D : 264330493846
Option 2 1D : 264330493847
Option 3 1D : 264330493844
Option4 1D : 264330493845
Status : Answered
Chosen Option: 3

Q.11 Select the correct combination of mathematical signs to sequentially replace the * signsand
balance the given equation.
8* 2*2*2*2=8
Ans X L.++-x
x 2.+—+X%
K3 x+—=

-’4_><++7

Question ID : 26433068600
Option11D: 264330268914
Option2 1D : 264330268915
Option3 1D : 264330268913
Option4 1D : 264330268912
Status : Answered
Chosen Option: 4

Q.12 T YT R ITH TS 1,11 AR 111 _ A b A T 6|am=ra?rwqﬁﬁ T HA

THY
ITMIGE: ATT Y AAEAE, TIA T F HHY AFY U FIAFH Td
UAT HRAE 2

HY: .
TG IWE |
3o

AR 2l 8 B
gt Horzal, 99T |

mﬂ’r aﬂaﬁmqu'sﬁma
11. BIg Wl HoTS, AW TE &
|||.§?§ETW%EHTE’I

Ans X L@ W HY U TE FRal §
X %9 TFY 111 U6 IRl
o 35T 7Y | U BT
X 49T TFY | 3R 11 TH B §

Question ID : 264330144508
Option 11D : 264330566287
Option 2 1D : 264330566290
Option 31D : 264330566288
Option4 1D : 264330566289
Status : Answered
Chosen Option : 1




Q.13 Which letter-cluster will replace the question mark (?) to complete the given series?
FDQE, KIXM, PPEU, ?,
ZBSKAns < 1.VULC

X 2. VUKB
" 3.UVLC
X 4. VULB

Question ID : 264330144629
Option 11D : 264330566772
Option2 1D : 264330566774
Option3 1D : 264330566771
Option4 1D : 264330566773
Status : Answered
Chosen Option : 3

Q.14 In acertain code language, “MERITORIOUS” is written as “10” and “OBJECTIONABLE” is
written as “12”. How will “PREPATORY” be written in that language?

Ans K 1.9
2.8
< 3.7
X 4.6

Question 1D : 264330130326
Option11D: 264330510416
Option2 1D : 264330510415
Option 31D : 264330510418
Option4 1D : 264330510417
Status : Answered
Chosen Option: 2

Q.15 Select the option that is related to the fifth letter cluster in the same way as the second letter

cluster is related to the first letter cluster and the fourth letter cluster is related to thethird
letter cluster.

JSGXK : ADXIB :: LFCWE : CQTHV :: BDXOF : ?
Ans X 1.WX0zD

X 2.50Xwz
< 3.z00WX

& 4.500ZW

Question ID : 26433074702
Option 11D : 264330292899
Option2 1D : 264330292897
Option 31D : 264330292898
Option4 1D : 264330292896
Status : Answered
Chosen Option : 4




Q.16 Which of the following numbers will replace the question marks (?) in the given series?8, 10,
24,58, 120, ?

Ans X 1.243
& 2.234
X 3.216
o 4.218

Question ID : 26433097282
Option11D: 264330381826
Option2 1D : 264330381825
Option3 1D : 264330381828
Option4 1D : 264330381827
Status : Answered
Chosen Option : 4

Q17 K@LBI3UE "L KPIUT
TUK&LPIAYG K, LD
AR K # L BT 3AU B "K, L
FY e
YTALB@C#D@ED AIBHIDY TTTIY 72
Ans & LA

& 27dY
X 3.9g7
X4HQ[

Question ID : 264330130719
Option11D: 264330511988
Option2 1D : 264330511989
Option 31D : 264330511990
Option4 1D : 264330511987
Status : Answered
Chosen Option : 1

QIBUM A & d JLATA, Id,T UP, NIRRT ¥ IGATEWR o7 Y -4 3F
10 BUE I TP Y3 U, B FUADA P o1 d HUE |G Ubld AdTADH,

HYHTA L YH 3P o1 PUG | P a4 AT 4P, PR APH P <17 UG

| T el 4 3 o1 T8 PUE |

FITEAH T I ATIO A UFHOF oI dTe BUE?

Ans X L9d

o 2. 3 Hdl

X 3w

X 4.9

Question ID : 264330144632
Option 11D : 264330566783
Option2 1D : 264330566786
Option 31D : 264330566785
Option4 1D : 264330566784
Status : Answered
Chosen Option : 2




Q.19 In a code language, ‘COURT" is written as TROOC and 'SPORT" is written as TRIPS. How will
‘BLIND" be written in the same language?

Ans  «" 1. DNELB
/< 2.DNALB
< 3. BNELD
/< 4.DNILB

Question ID : 264330132947
Option 11D : 264330520850
Option2 1D : 264330520849
Option 31D : 264330520848
Option4 1D : 264330520847
Status : Answered
Chosen Option: 1

Q.20 Select the number from among the given options that can replace the question mark (?) inthe
following series.

13,34, 63,108, 177, 278, ?
Ans o 1.419

X 2.423
X 3.491
X 4.432

Question ID : 26433078933
Option 11D : 264330309744
Option2 1D : 264330309746
Option 31D : 264330309745
Option4 1D : 264330309747
Status : Answered
Chosen Option: 1

021 I TR Y THeT e, AR YT & 3R 20 m I &1 T T8 &1 YSl 8, 31K 15 m Tl 8138
TR Y AR g, R 10 m Toidl ¢1 BR 98 AT HSA B0 IR 20 m Il o WT@’W
W

2, 3R 14 m T 21 98 3 IH IR I I L, mAqBY § X R & ol 8l 98
??{U%%mﬂﬁﬁﬂﬂ@ﬂ@ﬁ??%? " ”

AEAA U TN A F I 0° AAHS T 1)
Ans & 1.4m

K 2.6m

X 3.14m

X 4.10m

Question ID : 264330131637
Option 11D : 264330515650
Option 2 1D : 264330515648
Option 31D : 264330515647
Option4 1D : 264330515649
Status : Answered
Chosen Option : 1




Q.22 In acertain code language, ‘CHECK” is written as ‘110’ and ‘CORRECT” is written as ‘114°.
How will ‘WRONG’ be written in that language?

Ans X 1.95
o 2.63
X 3.69
< 4.106

Question ID : 264330144558
Option 11D : 264330566488
Option2 1D : 264330566487
Option 31D : 264330566489
Option4 1D : 264330566490
Status : Answered
Chosen Option: 2

Q.23 If“+’> means ‘-, ‘-’ means ‘x°, ‘x> means ‘=, ‘=’ means ‘+’, then what will come in place of the
question mark (?) in the following equation?
13-145%x29+52+11="7
Ans o 1.106
< 2.83
X 3117

X 4.94

Question 1D : 264330126061
Option 11D : 264330493919
Option2 1D : 264330493918
Option 31D : 264330493917
Option4 1D : 264330493916
Status : Answered
Chosen Option: 1

Q.24 Inacertain code language, ‘LESSON’ is written as ‘IDPPNK’ and ‘CLASS’ is written as
‘Z1ZPP’. How will ‘CHAPTER’ be written in that language?

Ans X 1.MDZZOQE
o 2. ZEZMQDO
X 3.DOZEZMQ
& 4.MZQEDZO

Question ID : 264330144620
Option 11D : 264330566738
Option 2 1D : 264330566737
Option 31D : 264330566736
Option4 1D : 264330566735
Status : Answered
Chosen Option : 2




Q.25 Select the option figure that will replace the question mark (?) in the figure given below to
complete the pattern.

2
> A T

Ans

XL

Question-+D——264330129658————
Option 11D : 264330507998
Option 2 1D : 264330508000
Option 31D : 264330508001
Option4 1D : 264330507999
Status : Answered
Chosen Option: 2

26 T TH WY, ST TP 3R 10 km A1 6, 3R FR T 3R TS Sl 81 6 km SIS e,
e a%w%mah?as?ﬁ%,ahmkm%%&W,aa&rré%aﬁaﬁlfmn ?6k

Ans  «# 1.Ud
K237
X3a T
X409

Question ID : 26433093122
Option 11D : 264330365741
Option2 1D : 264330365743
Option 31D : 264330365744
Option4 1D : 264330365742
Status : Answered
Chosen Option : 1




Q27 gelect the option in which the given figure is embedded (rotation is NOT allowed).

Ans

o 1. N

C‘)\
LS

Ch

Question ID : 26433068176

Option11D: 264330267218
Option2 1D : 264330267216
Option 31D : 264330267219
Option4 1D : 264330267217
Status : Answered
Chosen Option: 1

Q.28 Which letter-cluster will replace the question mark (?) to complete the given series?
MCWEF, OFUE, ?, SLQC,

UOOBAnNs « 1.QISD

& 2.PITD

X 3.PHTC

& 4. OHSE

Question ID : 264330144506
Option 11D : 264330566282
Option2 1D : 264330566281
Option 31D : 264330566279
Option4 1D : 264330566280
Status : Answered
Chosen Option : 1




Q.29 Select the option that represents the correct order of the given words as they would appearin an
English dictionary.
1. Unaware
2. Unable
3. Unavoidable
4. Unacceptable
5. Unanimous
6. Unaffected

Ans % 1.2,4,65,3,1
/< 2.24,6,51,3
< 3.2,4,5,6,3,1
X 4.4,2,6,53,1

Question ID : 264330117389
Option 11D : 264330461598
Option2 1D : 264330461599
Option 31D : 264330461597
Option4 1D : 264330461600
Status : Answered
Chosen Option: 1

Q.30 Select the option that is related to the sixth letter-cluster in the same way as the first letter-cluster
is related to the second letter-cluster and the third letter-cluster is related to the fourth letter-
cluster.

NTD: OVG::KPM:LRP::?:
UXQAnNS X 1.TVM
& 2.SVN
« 3. TVN
X 4.5UM

Question ID : 264330144559
Option 11D : 264330566492
Option2 1D : 264330566494
Option 3 1D : 264330566493
Option4 1D : 264330566491
Status : Answered
Chosen Option: 3

Q.31 Select the option that is related to the fifth term in the same way as the second term isrelated to
the first term and the fourth term is related to the third term.
33:627::47:893::21:7

Ans & 1.399
< 2.371
X 3.407
#< 4.385

Question ID : 26433078883
Option 11D : 264330309546
Option 2 1D : 264330309544
Option 31D : 264330309547
Option4 1D : 264330309545
Status : Answered
Chosen Option : 1




Q32 WM WHEAIH 3RO Tdds TPl "I T
YUY 5, TP 3R IT S T BT U2
Ans X 1.Ydl

X 295
X 3R

o 4.04qd

TR

TR TN BT T gA-T 9>

Question ID : 26433092473
Option11D: 264330363183
Option2 1D : 264330363184
Option3 1D : 264330363181
Option4 1D : 264330363182
Status : Answered
Chosen Option : 4

Q.33 Select the option that is related to the fourth term in the same way as the first term isrelated
to the second term and the fifth term is related to the sixth term?

8:1::?7:2::200:5

Ans X 1.48
~ 2.78
X 3.64
o 4.32

Question ID : 264330144457

Option 11D : 264330566085

Option2 1D : 264330566086

Option 3 1D : 264330566083

Option4 1D : 264330566084

Status : Answered
Chosen Option: 4
Q.34 If "+ means '-','=' means 'x", ‘x" means '+', '+" means ‘+', what will come in place of the

question mark?
153x9-5+32+90="

Ans & 1.143
& 2.155
X 3.150
& 4.160

Question ID : 264330130212
Option 11D : 264330509960
Option 2 1D : 264330509961
Option 31D : 264330509959
Option4 1D : 264330509962
Status : Answered
Chosen Option : 1




Q.35 YId AB,C.DE F3RGI IF ARALTE T WIdYAT [ O TID® §ol RH AL
TIADP SHFAH 9aI5I FHRDP 9 $ad2 908 IC3RG

& 3 908 IBGHIPITAH T 9318l ESRAD STH had 2
gl

G T ARTFH TAH DM a1 g2
Ans X 1.F

X 2.A

& 3.D

X 4E

Question ID : 264330144641
Option 11D : 264330566820
Option2 1D : 264330566821
Option 31D : 264330566819
Option4 1D : 264330566822
Status : Answered
Chosen Option : 3

Q.36 Which of the following terms will replace the question mark (?) in the given series?KLJH,
FGEC, ABZX, VWUS, ?

Ans X 1.QRTV
o 2. QRPN
& 3. PQSM
X 4. QRNP

Question ID : 26433089473
Option 11D : 264330351396
Option2 1D : 264330351395
Option 31D : 264330351394
Option4 1D : 264330351393
Status : Answered
Chosen Option: 2

Q.37 Select the set in which the numbers are related in the same way asare
the numbers of the following set.

(NOTE: Operations should be performed on the whole numbers, without
breaking down the numbers into its constituent digits. E.g., 13 —
Operations on 13 such as adding/subtracting/multiplying etc. to 13can be
performed. Breaking down 13 into 1 and 3 and then

performing mathematical operations on 1 and 3 is not allowed)

(7, 5, 24)
(8, 2, 60)
Ans X 1.(6,3,36)
X 2.(4,8,39)
#< 3.(6,3,18)
W 4.09,3,72)

Question ID : 264330144446
Option 11D : 264330566042
Option 2 1D : 264330566040
Option 31D : 264330566039
Option4 1D : 264330566041
Status : Answered
Chosen Option : 4




"|(sra 01 3, waa?
?ﬂ F IO T d 3MYe RMUTD WO TG « %I?‘TTE{ E’ﬁ
AP G (Crew) : 1 I (Sailor) :: JT (Army) : ?
Ans o 1L 3TP (Soldier)
X 2.9 (Police)
& 3.9 YU (Battleficld)
K 4.9 (war)

Question ID : 264330144531
Option 11D : 264330566380
Option2 1D : 264330566379
Option 31D : 264330566382
Option4 1D : 264330566381
Status : Answered
Chosen Option : 1




Q.39 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

KL

Question ID : 264330129540

Option 11D : 264330507526
Option2 1D : 264330507527
Option 31D : 264330507528
Option4 1D : 264330507529
Status : Answered
Chosen Option : 4




Q40 Iy e agpey b1 T HIRTT S 1 T SMTpFRY & T b T 5 0 & SfaFiRa B (R B g 3
AR TETR)|

Ans

o 1

IS

x&g

-
)

Question ID :

Option 11D

Option 3 ID

264330144810

: 264330567495
Option2 1D :

264330567497

: 264330567496
Option4 1D :

264330567498

Status : Answered

Chosen Option: 1

Q.41 Which letter-cluster will replace the question mark (?) to complete the given series?

FTEX, GVCT, ?, IZWL,

JBTHAnS &< 1. HEVP

X 2. HUTM

o 3. HXZP

& 4. HSRU
Question ID : 264330144502
Option 11D : 264330566263
Option 2 1D : 264330566264
Option 31D : 264330566265
Option4 1D : 264330566266

Status : Answered

Chosen Option : 3




Q.42 Which letter-cluster will replace the question mark (?) to complete the given series?

XUOA, DYME, JCKI, PGIO, ?
Ans X 1. UKGU

" 2. VKGU
X 3.VLGU
5 4.ULGU

Question 1D : 264330144630
Option 11D : 264330566778
Option2 1D : 264330566777
Option 31D : 264330566775
Option4 1D : 264330566776
Status : Answered
Chosen Option : 2

Q43 Select the correct mirror image of the given figure when the mirror is placed at MN as shown below.
M

Lp4f3g7
N
A 1. XgEtvqld
> Xg€ivql
3 LBRETMAT
+ Ng€thql

Question ID : 26433056960
Option 1 ID : 264330222824
Option 2 ID : 264330222825
Option 3 ID : 264330222827
Option 4 ID : 264330222826

Status : Answered
Chosen Option: 4

Q44| L MN,O, pqahww WITI UG FNT 7 I 35 ARTI P 96 §
@ 7 aﬁs@r ga

PQBE 3R AW BINOMRQPFAH SAI8IL, QP IMAW oF

tkéa%m L@TM%WHM%

IRFAH FATTETEY

Question ID : 26433080710
Option1 1D : 264330316775
Option2 1D : 264330316773
Option 31D : 264330316776
Option4 1D : 264330316774
Status : Answered
Chosen Option : 1




Q45 TR PYT AR ITP TGS TPV 3R 11 SUTUE | HYF HITTAAD T, HA € d JroT e
JATT A Y ANIEAE, TR S HHY T PYBYT Bl A bd TY U A8 2

FHY:
FBACHUG |
RLERER R
T H:

. $BINT WCE |

N @i T Eg deg |
Ans X L$TATHY || UGH BT S
X 2 ABY 1R 1T TeH A §
X 3Ad TFY | AR T PR §
o 4P T TS | U6 IR 8

Question 1D : 264330144948
Option 11D : 264330568048
Option2 1D : 264330568049
Option 3 1D : 264330568050
Option 4 1D : 264330568047
Status : Answered
Chosen Option : 4

Q.46 Select the correct combination of mathematical signs that can sequentially replace the #signs and
balance the given equation.

25#8#21#3#5#44#4
Ans K Lo+ 5%, =+

X 24, x,= 4+
o 3o 45 x4
K b+ x5+

Question ID : 264330129581
Option 11D : 264330507693
Option 2 1D : 264330507690
Option 31D : 264330507691
Option4 1D : 264330507692
Status : Answered
Chosen Option: 3

Q.47 Select the option that is related to the third word in the same way as the second word is related
to the first word (The words must be considered as meaningful English words and must not be

related to each other based on the number of letters/consonants/vowels in theword).

Bird : Ornithology :: Plant :

Ans & 1. Botany
7< 2. Physics
#< 3. Chemistry
< 4. Trees

O i 1D-:-26433078834
‘llestlnn

Option 11D : 264330309348
Option2 1D : 264330309351
Option 31D : 264330309350
Option 4 1D : 264330309349
Status : Answered
Chosen Option : 1




Q% How many triangles are there in the given figure?

Ans 1.7
2.8

3.5

4.9

Question ID : 26433068140
Option 1 ID : 264330267073
Option 2 ID : 264330267074
Option 3 ID : 264330267072
Option 4 ID : 264330267075
Status : Answered
Chosen Option : 4

QU IJTYTYAFIITAF oY, 77 SUMCH Y TTPF WMITH R I TG AT, THRE ¢
T(YHS S T ETF W AT 4G | ,
(SZT‘c{ www;% K| wmmmw@r{waman F I SHIRSD

".Z:»T g-q |)

Ans Xl.aa:ﬁg
o 2. UG DU
X 3.9 7 Gl
X4.3|T'{5|UT:aT

Question ID : 264330117398
Option11D: 264330461634
Option2 1D : 264330461636
Option 31D : 264330461635
Option4 1D : 264330461633
Status : Answered
Chosen Option: 2

Q.50 Select the option that represents the correct order of the given words as they would appearin an
English dictionary.

1. Adequate
2. Aphorism
3. Amplify

4. Aphrodite
5. Amorphous
6. Adamant

Ans X 1.6,3,1,54,2
X 2.6,1,3,2,5,4
< 3.6,1,3,5,2,4
& 4.6,1,53,2,4

Question ID : 264330129470
Option1 1D : 264330507248
Option 2 1D : 264330507247
Option 31D : 264330507246
Option4 1D : 264330507249
Status : Answered
Chosen Option : 4




Section : General Awareness

Q1 YRAWR Yk 3 AU GO d YUHUd B yg M2
Ans X 1.9}

o 2. EWE 3G o el

K 3T RIAE

P R R

Question 1D : 264330109039
Option 11D : 264330428436
Option2 1D : 264330428434
Option 31D : 264330428433
Option4 1D : 264330428435
Status : Answered
Chosen Option: 2

Q.2 AT 20237 H B 3ER-19T 20 § FUF 3 ol T TR0 B Sfia Tl HRA F 3819
AGAM HCCHD P d b

Ans & 13T T E\H‘T
X 2. Fa Oy
3. BIIRIGCE]
XK 4 A WEd

Question 1D : 264330132583
Option 11D : 264330519428
Option2 1D : 264330519427
Option 31D : 264330519430
Option4 1D : 264330519429
Status : Answered
Chosen Option: 3

Q.3 YoRd MR Elz3 g duo CHHS T ® T8d HoRAO AOTTHTH  of YPUT (IAA) D T PRFT
FIAWAT W B YR qUTH sl
do1d g2
Ans X 1 HRAIG 3T TH (Ge) 99U, 2021
X 2. YRdIG $fcF TH TP, 2021
o 3. HRAN 3icTh o U, 2022

X 4 YRAR 3feTd T (GReH) T9UB, 2022

Question ID : 264330137272
Option 11D : 264330537717
Option2 1D : 264330537715
Option 31D : 264330537716
Option4 1D : 264330537718
Status : Not Answered
Chosen Option : --




Ans X LTS TBIG B FR THT
X 2 MSIR & HIGH ! ggmal &1
X 3. T IYF BT UEH BT 3R TH NS BT Y HH ST
4.9 & 7P A9 A FagH Bl

Q4 HoRANT TYH P 3FF oR, ATTTAT T FoAGoIAG &d T8 82

Question ID
Option1 1D
Option2 1D
Option 31D
Option4 1D

1 26433086792

1 264330340811
1 264330340809
1 264330340812
1 264330340810

Status : Answered

Chosen Option: 4

Q.5 The term "kick off" is related to which of the following games?Ans
" 1. Football

< 2. Hockey
/< 3. Cricket

< 4. Badminton

Question 1D :

264330109733

Option11D: 264330431209
Option2 1D : 264330431210
Option3 1D : 264330431211
Option4 1D : 264330431212
Status : Answered

Chosen Option: 2

YT ST | TCTHR, T T 7l
TWAY & R

Ans & 1.25°C/km
& 2.70°C/km
X 3.40°C/km
& 4.10°C/km

Q6 YT T (geothermal gradient) ®I § &1 H TERE & GUAMIHE § & UH GIUT ¥
R q%uq%qqaﬁawwanaﬁsas%mawm

Question ID :

264330113789

Option 11D : 264330447242
Option 2 1D : 264330447244
Option 31D : 264330447243
Option4 1D : 264330447241
Status : Not Answered

Chosen Option : --

Q7 AT IR P TEYH TTTTIH I HH-91 HYF T8I T8
Boas X 179019 B GG 18 7 1 HG ST

o 2. 3190 TR T 18 31ad R 7 T &l
X 3R 2% 99 @ <RI T U] Fga g
X 4. 3M9d RO A 7 319 3R 18 T B

Question ID : 264330118022
Option 11D : 264330463906
Option2 1D : 264330463904
Option 31D : 264330463905
Option 4 1D : 264330463903
Status : Answered

Chosen Option : 2




N

0.8 HoRAP UoT ST Hol g d T AAH R |
ugIfsar &
1. Sds! UgIisar a. gdf gre
2. SIgEegl b. i3 g
3. Sifaan ggifsar c. gafga
4. YTy URISal d. AU &1 UBR

Ans X 1.1-a 2-d, 3-b, 4-c
7< 2.1-a, 2-b, 3-c, 4-d
& 3.1-a,2-b, 3-d, 4-c
< 4.1-b, 2-3,3-d, 4-c

Question ID : 264330138073
Option 11D : 264330540901
Option2 1D : 264330540902
Option 3 1D : 264330540899
Option 4 1D : 264330540900
Status : Not Answered
Chosen Option : --

Q9 3Md ¥ o IR B b qY 3 W FUT SR T oTU (administration) H a1 Fo
YIS HY PIYY §AH8g a1 JUWUGRD AU H o R oRH FUMHY ¥
B IR

Ans X L FTS AT ?ﬁ\?ﬁﬁcﬁaﬁﬁ Y oM (National Oxygen Supervision Programme)
X2 AT ff AoH Aome o oM (National Oxygen Management Programme)
X 3 TS 3ff FoH Sgaure o oM (National Oxygen Development Programme)
o 4. AT 3ff W T 98 WY o TH (National Oxygen Stewardship Programme)

Question ID : 264330156913
Option 11D : 264330615029
Option2 1D : 264330615028
Option 31D : 264330615027
Option4 1D : 264330615030
Status : Not Answered

Chosen Option : --
Q.10 ST % THA DIC B AL AT g1 § 2
Ans X 1.28x22m
< 2.28x18m
7 3.28x20m
o 4.28x15m

Question ID : 264330119284
Option1 1D : 264330467423
Option 2 1D : 264330467426
Option 31D : 264330467424
Option4 1D : 264330467425
Status : Not Answered
Chosen Option : --




Q1 YoRAP TTAWATE T8 HoT3 IT0T UH ARWET T oI
K4
A B FSTE
B. I[mé T3 96 o8
C. TS ST
D. T8 SXTE
Ans & 1.A,B,C,D

& 2.B,AD,C
X 3.A,D,B,C

" 4.C DB, A

Question ID : 264330138065
Option 1 1D : 264330540868
Option 2 ID : 264330540867
Option 3 ID : 264330540870
Option 4 ID : 264330540869
Status : Answered
Chosen Option : 4

Q12 'HAT Wl ¥ F9ATIAT W 9 > TS
Ans X LI

X 2.d

o3 JID

K4sdY

Question ID : 26433089136
Option 11D : 264330350064
Option2 1D : 264330350062
Option3 1D : 264330350061
Option4 1D : 264330350063
Status : Answered
Chosen Option: 3

QIBYURA® TITTIH T SYUSR ST T qrr HTT aelt St 8
Ans X 1.9 3R TR

X 27U 3R YeH
X 3 dP1 R AE 9
o 4 (BT TH IR TS

Question ID : 264330113308
Option1 1D : 264330445318
Option 2 1D : 264330445320
Option 31D : 264330445317
Option4 1D : 264330445319
Status : Not Answered
Chosen Option : --




Q.14 HoRAH R|AYGANT 777TAH T YA T & T AP
Ans X 1.1992

o 2.1991

< 3.1990

& 4.1993

Question ID : 264330144393
Option 1 ID : 264330565829
Option 2 ID : 264330565828
Option 3 ID : 264330565827
Option 4 ID : 264330565830
Status : Not Answered
Chosen Option : --

Q.15 The headquarters of the Ghadar Party was located at which place?
Ans & 1. San Francisco

#< 2. Chicago
#< 3. Washington

& 4.New York

Question ID : 264330109049
Option 11D : 264330428475
Option2 1D : 264330428476
Option 3 1D : 264330428474
Option4 1D : 264330428473
Status : Answered
Chosen Option: 1

Q16 TTTWAH P T TF o1 9T T8, SN TATGRUI BT THIU Hall 82
Ans X 1. DHdPH

o 2.9
X 3. 95
Xa9d d

Question ID : 264330113339
Option 11D : 264330445444
Option2 1D : 264330445441
Option 31D : 264330445443
Option4 1D : 264330445442
Status : Answered
Chosen Option : 2

Q17 STA® TYHH B cRAD ITG IR 2
Ans & 1. dUHHA

X 2. AU9H T4 g9
X 339w O
X4 HHE

Question ID : 264330131674
Option 11D : 264330515797
Option 2 1D : 264330515795
Option 31D : 264330515796
Option4 1D : 264330515798
Status : Answered
Chosen Option : 1




Q.18 ¥ 3 (TTR(H'(TFI%\[ HoTh 2022 Y =R, T
RG] THOF-FoT U2 Ans X 1.3TH

o 2 9ER

X333 @

X 4T HE old

Question ID : 264330157096
Option 11D : 264330615758
Option2 1D : 264330615756
Option 31D : 264330615757
Option4 1D : 264330615755
Status : Answered
Chosen Option : 2

Q.19 d¥ 1942 H TIX db F I BHSA Heh g (Trophic-Dynamic Aspect of Ecology)' PT3{
I HEb oRT BT UT?

Ans X 1390 H T (Rachel Carson)
X2 O3W ﬁ?:::-q'c"::‘;:-H(Frederic Clements)
o 3. 303 T TSHT (Raymond L Lindemann)
7 4.3 TSTE S T (Alexander Humboldt)

Question 1D : 264330114603
Option 11D : 264330450498
Option2 1D : 264330450500
Option 3 1D : 264330450499
Option4 1D : 264330450497
Status : Not Answered
Chosen Option : --

Q.20 %@W\@(MS PowerPoint) @ T (colours) HTaT 39 eTM 3R qgHcy ER R UG
% ?

Ans o LYTTEH U WG U6T aXd § 3R 7 a0 ORI R IR A g |
X 2 3 e IR H T HA BT SR TS THA T HGE R G
X 3G TTH I IR A 4G JE G
X4 THEGANIR BUIFOYT oo F) FITd TH TH BRao 5

Question ID : 264330168592
Option 11D : 264330661180
Option2 1D : 264330661182
Option 31D : 264330661179
Option4 1D : 264330661181
Status : Not Answered
Chosen Option : --




Q.21

Column-A (Rock)
1. Sedimentary rocks
i1. Igneous rocks
111. Metamorphic rocks
Ans o 1 i-a,ii-h,iii-c
2.i-a, i-c, iii-b
3.i-b, ii-a, ii-c

4.i-c, ii-b, iii-a

Match the column-A with column-B.

Column-B (Structure type)

a. Stratification and lamination
b. crystalline structure

c. Foliation

Question ID : 26433089680
Option 11D : 264330352221
Option2 1D : 264330352223
Option 31D : 264330352222
Option4 1D : 264330352224
Status : Answered
Chosen Option : 1

Ans & 1.996
X 2.993
X 3.931
X 4.901

Q.22 According to Census of India 2011, what was the sex ratio of Tamil Nadu?

Question ID : 264330116477
Option 1 ID : 264330457994
Option 2 ID : 264330457993
Option 3 ID : 264330457996
Option 4 ID : 264330457995
Status : Not Answered
Chosen Option : --

Ans 5 1318
X 2.3%
o 3.91d
X 4.0

Q23 YRAS UM S 3 “Go9d Ud

A YPR & TRe ¢ Ui

Question ID : 264330130448
Option 11D : 264330510906
Option 2 1D : 264330510904
Option 31D : 264330510905
Option4 1D : 264330510903
Status : Answered
Chosen Option : 4




Q.24 Which of the following is a collection of authoritative terminology originally compiled from
IUPAC recommendations published by the scientific divisions of the union?

Ans X 1.Red Book
/< 2. Orange Book
X3 Purple Book

v 4. Gold Book
Question 1D : 264330141680
Option 11D : 264330555039
Option 2 1D : 264330555041
Option 3 1D : 264330555042
Option4 1D : 264330555040
Status : Not Answered
Chosen Option : --
O RN 10, TR D, qoae & Yol Garor ol 9 Y |
%Wﬁﬂms LI §E - M ge |
2.7 §d ol 2 HeeReN -9 et
3 TIOA-F TGS
‘,4 T T Rl a1 - FUMR

Question ID : 264330130517
Option 11D : 264330511181
Option2 1D : 264330511180
Option3 1D : 264330511182
Option4 1D : 264330511179
Status : Not Answered
Chosen Option : --

I.;V\: ul UI'JBI GU;IIB LT
traditional skills of rural youth belonging to families living below the poverty line, withfamily
income below 3,500 per year?

Ans 1. Training to Rural Youth for Self Employment (TRYSEM)
"’2. Rural-Landless Employment Guarantee Programme ( RLEGP)

x 3. National Rural Employment Programme (NREP)

x 4. Jawahar Rozgar Yojana (JRY)

<

Question ID_: 264330119825

Option 11D : 264330469576
Option2 1D : 264330469575
Option3 1D : 264330469578
Option4 1D : 264330469577
Status : Not Answered
Chosen Option : --




Q27 38 W TOIHYT GUIUE, S0 UgAoT 3f HHYH (A) IR WTFoRU(R) & Tt a& Udg T &>
T 3H] ST & T |

&f%gfr A) : T X AT BT o] B A THY, AT Ul oR1E T Ui € Al Bl XA bl
S

DoRUT (R): Tg HoldoT- Tdol ¥
Ans X LAGTE ARRIWAR
X 2AdRRTH GIGAFAR AT TGl o TG §
3 AT, TG GRITE
X 4 AARREH UG ARR AT TG o ATQ

Question ID : 264330108904
Option 11D : 264330427895
Option2 1D : 264330427894
Option 31D : 264330427896
Option4 1D : 264330427893
Status : Not Answered
Chosen Option : --

Q.28 T BH BT SR3{Y b I (subcutaneous fat) AR HIFY oI G (muscle mass) H BHI,
W A HYF G A TP RVALE 2

Ans e 1. JRT HY (Marasmus)
x 2. T SfHT (Eczema)
x 3. PIal @i (Pertussis)

x 4. T3 F oW (Down syndrome)

Question ID : 264330113784
Option 11D : 264330447224
Option2 1D : 264330447222
Option 31D : 264330447223
Option4 1D : 264330447221
Status : Answered
Chosen Option: 2

\

at is the term for the unwanted and unsolicited messages that are sent over the internet? Ans
1. Phishing

2. Hacking
3. Spam

4. Malware

X ¢ X X

LYY

Question—+D——264330168574
Option 11D : 264330661108
Option2 1D : 264330661109
Option 31D : 264330661107
Option4 1D : 264330661110
Status : Answered
Chosen Option : 3




Q30 qeEdIee 3 1 3 1R @l & TAIHIRT  (Mian Kader Baksh) oRT ¥ T
7 deoR UL

Ans X 1T TEIE WA
X 2 & WA
o 3. U9 A
X 4. TGS R

Question ID : 26433066682
Option 11D : 264330261255
Option2 1D : 264330261254
Option 31D : 264330261252
Option4 1D : 264330261253
Status : Answered
Chosen Option : 4

Q3L 1 cTH AT Y el ol G el 82
Ans X L5 AR

X 245

o 390H TR

X 442F TR

Question 1D : 264330109916
Option 11D : 264330431943
Option2 1D : 264330431941
Option 31D : 264330431942
Option4 1D : 264330431944
Status : Answered
Chosen Option: 2

\

Q% YIYAF ATTAWAT VDA A ¢TE AUNAIRA S H I N ol SR TH H1H AH
T ST 91 802

Ans o 1.3 'G51A(a)
X 2.9 'T51A(d)
X 3.9 'T51A (o)
X 4.9 T51A ()

Question ID : 264330112763
Option 11D : 264330443137
Option 2 1D : 264330443140
Option 31D : 264330443139
Option4 1D : 264330443138
Status : Not Answered
Chosen Option : --

Q.33 YR WM P 2020 F IR, YRAD FAGINT T AU 3 $ & §al 4 USR B
Ans Xl.ﬁq?{iraﬁwﬁ%ﬂ

X 2B THIRT T W
X 33 CWIRWER
& |RIRIW oH

Question ID : 264330138072
Option1 1D : 264330540895
Option 2 1D : 264330540896
Option 31D : 264330540898
Option4 1D : 264330540897
Status : Answered
Chosen Option : 2




Q.34 Hy IH W\’rf@ Fol od > TI E{-:::ﬁﬂ-:::::-T 6’3
Ans o 1.150°

X 2.90°

K 3.170°

X 4.50°

Question ID : 264330134851
Option 11D : 264330528340
Option2 1D : 264330528341
Option 31D : 264330528342
Option4 1D : 264330528339
Status : Answered
Chosen Option : 2

Q35 HRAP TUSH T ToHI Bl FTAWIH § Y 1 I o1 Sl
T Ans X 1. 15 3T T AT

X 2578 T
X 3. 18 TS ST
o 4,35 FoloHT

Question ID : 264330112169
Option 11D : 264330440763
Option2 1D : 264330440764
Option 3 1D : 264330440762
Option 4 1D : 264330440761
Status : Answered
Chosen Option: 4

Q36 TR 2022 W , T T T GAH A HY IV 2020 P G161 15 Bl b R BR T A Ad BT TI2Ans
X 1. 35

X 2 T o
o 3. T INE
X 4 3Taye q

Question ID : 264330133013
Option11D: 264330521109
Option2 1D : 264330521107
Option 31D : 264330521110
Option4 1D : 264330521108
Status : Answered
Chosen Option : 2




" Pfifad ¥ A PH-91 HIaH-A B HIaT-B S 1Y T fIaH 22
PIAH-A(TE) DI -B (SFH R

i, TR a. SFRBeD

ii. fmE b. HEEWR & TR gfEEt gre
iii. THaT c. T fee

iv. T d. @ifd

Ans X Li-d, ii-c, iii-b, iv-a
o 2.i-c, ii-d, iii-a, iv-b
< 3.i-c, ii-a, iii-h, iv-d
2 4.i-c, ii-d, iii-b, iv-a

Question 1D : 264330131824
Option 11D : 264330516398
Option2 1D : 264330516396
Option 31D : 264330516395
Option4 1D : 264330516397
Status : Answered
Chosen Option : 2

Q.38 HeTH E!'HQ?I%HTTE@ FoTH T (HE Wangehuk Namgyel) @ 45d T8
T e 7TRaY 203 FIITTHGA T URAP A U7 0E GHI ST F |
Ans X 1.dd

X 27U

o 3. cH
X 4. AR

Question ID : 264330132617
Option 11D : 264330519566
Option2 1D : 264330519563
Option 31D : 264330519565
Option4 1D : 264330519564
Status : Answered
Chosen Option: 1

Q3% Which of the following is the correct match of
the column-A column-B?

Column-A (Type of Rock) Column-B (Example)

I. Sedimentary rocks a. Granite

ii. Igneous rocks b. Limestone

iii. Metamorphic rocks c. Gneiss

Ans X Li-c ii-a iii-b

< 2. i-a, ii-c, iii-b
o 3.ib, ii-a, iii-c
X 4i-c, ii-b, iii-a

Question ID : 264330131819
Option1 1D : 264330516375
Option2 1D : 264330516378
Option 31D : 264330516377
Option4 1D : 264330516376
Status : Answered
Chosen Option : 3




Q.40 I TAANY oCdH g ol s F‘ITI$17I o
G oRYPAns X L. TP T (Simuka)
270099 *{ET (Pushyamitra Sunga)
X 3.9:Ng 5T F g (Vasudev Kanva)
X 4. T D (Kanishka)

Question ID : 264330112133
Option 11D : 264330440620
Option2 1D : 264330440617
Option 31D : 264330440618
Option4 1D : 264330440619
Status : Answered
Chosen Option : 1

Q.41 IddYdH T FGor 5 SEH (credit money)' dgoT SoTdaT '5'77
Ans X 1H oTH g<d JPIH T (Money value < Commodity value)
A 29 T =9 DI T (Money value = Commodity value)
X 3ggu=9qd ga410 awRdIH
&4 I U>T IR Y

Question ID : 264330144406
Option 11D : 264330565880
Option2 1D : 264330565879
Option 31D : 264330565881
Option 4 1D : 264330565882
Status : Not Answered
Chosen Option : --

Q&2 T Udd TadH HIHAAS IS T B $gl il ¢l
Ans & 1. 7Td1 9 HSd (Electoral College)

X 2.9 WI- 19 TG (Elite Election Group)

X 3. > g Fordo o (President College)

< 4. YH HAQIAT TG (First Voters Group)

Question ID : 264330120155
Option 11D : 264330470877
Option2 1D : 264330470876
Option 31D : 264330470875
Option4 1D : 264330470878
Status : Not Answered
Chosen Option : --

Q4 AT Ydgeq IR P oI I Ieh A
T A X 1R

P RIS
o3 dS
X4

Question ID : 26433072660
Option1 1D : 264330284902
Option 2 1D : 264330284901
Option 31D : 264330284900
Option4 1D : 264330284903
Status : Answered
Chosen Option : 3




Q.44 YoRdd R cE e W-::::::E'ﬁr-:::ﬁ T YoRd- ol CTE[:Tt IH 8 U Bl
Fo1Td-1E 8 FTTTAH I ST STH WHATE &7
Ans X 1.9

X 2Wd T |

X 3P T3

Y EX)

Question ID : 26433064803
Option 11D : 264330253804
Option2 1D : 264330253807
Option 31D : 264330253806
Option4 1D : 264330253805
Status : Answered
Chosen Option: 4

Q45 STCAYIET T W AIIR B A, < 309 3R IUER & 2 G, ST YA
T THA CRIFT A & YR TR BT S

Ans X 1.2%
X 2.4%
X 3.5%
o 4.1%

Question 1D : 264330156927
Option 11D : 264330615084
Option2 1D : 264330615083
Option 3 1D : 264330615086
Option4 1D : 264330615085
Status : Not Answered
Chosen Option : --

Q46 TITTAH T FITR P JAHCTUGOR B> oI FoHoT HoTdoT g

Ans X 198G

X 2. TG

o 3.97q

X 4. SEHAIETG
Question ID : 264330113269
Option 11D : 264330445162
Option 2 1D : 264330445163
Option 31D : 264330445164
Option4 1D : 264330445161

Status : Answered
Chosen Option : 3
Q47 T TN Wl TN F T UG oIUAISR UG d CRT® S &l

Ans X LU IUAE RO AV IF I IOA@ S § T TR
X 23 IS WER 9 U4

X33 WO E [ g A e 9 g6
13 T E WY Y FuE

Question ID : 264330130491
Option1 1D : 264330511076
Option2 1D : 264330511077
Option 31D : 264330511078
Option4 1D : 264330511075
Status : Answered
Chosen Option : 1




Q.48 Which of the following is the most common omega-3 fatty acid found in vegetable oils, nuts
(especially walnuts), flaxseed and leafy vegetables that help prevent heart disease and stroke?

Ans X 1.Docosahexaenoic acid (DHA)
#< 2. Arachidonic acid (ARA)
+# 3. Alpha-linolenic acid (ALA)
75 4. Eicosapentaenoic acid (EPA)

Question-P——264330110074
< +

Option 11D : 264330432574
Option2 1D : 264330432575
Option 31D : 264330432576
Option4 1D : 264330432573
Status : Not Answered
Chosen Option : --

Q.49 What is in situ conservation method of biodiversity?
Ans  #5 1.1tconcerns with the protective maintenance of threatened species in zoologicalparks.

#< 2. Itconcerns with the conservation of species in botanic gardens and captive breeding
programmes.

#< 3. It concerns with the cryopreservation of gametes.

«" 4. It concerns with the conservation areas as ‘warehouses’ of biological information.

Question ID ;264330113340

Option 11D : 264330445447
Option2 1D : 264330445445
Option 31D : 264330445446
Option4 1D : 264330445448
Status : Not Answered
Chosen Option : --

Q50 WHWEd_ & U& ¥ o FIadR |
Ans X 13 3I3W

X 23

o 3. 3TH

X a3 o

Question ID : 26433082116
Option 11D : 264330322300
Option2 1D : 264330322298
Option 31D : 264330322299
Option4 1D : 264330322297
Status : Not Answered
Chosen Option : --

Section : General Engineering Civil and Structural




soils.

respectively, then calculate the top width of the channel.
Ans X 1.4m

Ans  «" 1. vane shear test
75 2. direct shear test
/< 3.torsion test

75 4. triaxial test

«" 1. Both compaction and consolidation improve the engineering properties of soil.

75 2. Both compaction and consolidation degrade the engineering properties of soil.

#< 3. Compaction releases pore water, whereas consolidation releases pore air.

Q.1 Which of the following statements is correct with respect to compaction and consolidation? Ans

75 4. Compaction is valid for cohesive soils, whereas consolidation is applicable for alltypes of

Question ID : 264330160842
Option 11D : 264330630702
Option2 1D : 264330630701
Option 31D : 264330630699
Option 4 1D : 264330630700
Status : Answered
Chosen Option : 2

Q.2 If the section factor and the hydraulic depth for a rectangular channel are 40 m and 4 m,

& 25m

X 3.6m

X 43m
Question 1D : 264330158925
Option1 1D : 264330623060
Option2 1D : 264330623059
Option3 1D : 264330623062
Option4 1D : 264330623061

Status : Not Answered
Chosen Option : --
Q.3 is a method of measuring the undrained shear strength of a cohesive soil.

Question ID : 264330160388
Option11D: 264330628891
Option2 1D : 264330628892
Option 31D : 264330628894
Option4 1D : 264330628893
Status : Answered
Chosen Option : 1




Q.4 A manometer is an instrument used for measuring the pressure acting on a column of fluid,which
consists of a U-shaped tube of liquid in which the difference in pressures acting in the two arms

of the tube causes the liquid to reach different heights in the two arms. Whichof the following is
NOT a limitation of the manometer?

Ans & 1. Need for levelling
X 2. Large and bulky size
«" 3. Difficulty in construction

#< 4. No over-range protection

Question 1D : 264330158989
Option 11D : 264330623315
Option2 1D : 264330623318
Option 31D : 264330623317
Option4 1D : 264330623316
Status : Answered
Chosen Option : 4

\

Q.5 The bearing of the magnetic meridian of a line is S 32° 10> W. If the magnetic declination is7°
40’ East, then the true bearing is

Ans X 1.212°10°

& 2.205°30°
X 3.525°30° W
o 4.539°50° W

Question ID : 264330159317
Option1 1D : 264330624629
Option2 1D : 264330624630
Option 3 1D : 264330624628
Option4 1D : 264330624627
Status : Answered
Chosen Option: 4

Q6 A cantilever beam is subjected to two point loads as shown in the given diagram.
Find the shear force and bending moment acting at the support of the beam.

20kN 30kN
Tm Tm
Ans 1. SF =50 kN, BM =50 kN-m

o 2. SF=50000 N, BM = 80 kN-m
3.SF=10kN, BM =80 kN-m

4.SF =50 kN, BM =8000 N-m

Question ID : 26433088027
Option 1 ID : 264330345722
Option 2 ID : 264330345721
Option 3 ID : 264330345724
Option 4 ID : 264330345723
Status : Answered
Chosen Option : 2




Q.7 Superplasticisers are also called
Ans X 1.retardants

«" 2. high-range water reducers
< 3. accelerators

< 4. low-range water reducers

Question ID : 264330157699
Option 11D : 264330618157
Option2 1D : 264330618155
Option 31D : 264330618158
Option4 1D : 264330618156
Status : Answered
Chosen Option : 2

Q.8 Which of the following is NOT the requirement of an ideal permanent way?Ans
& 1. It should always be straight.

#< 2. The drainage system must be perfect.
#< 3. There must be provisions of easy renewals.

2% 4. There must be certain amount of elasticity in the track.

Question ID : 26433086542
Option1 1D : 264330339810
Option2 1D : 264330339812
Option 3 1D : 264330339811
Option4 1D : 264330339809
Status : Answered
Chosen Option: 1

Q.9 is the best suited method of irrigation for arid conditions in hot and windy areas
s0 as to achieve optimum usage of irrigation water.

Ans & 1. Furrow irrigation method
Z< 2. Border strip method

«# 3. Drip irrigation method

X a Sprinkler irrigation method

Question ID : 264330158531
Option 11D : 264330621485
Option 2 1D : 264330621486
Option 31D : 264330621484
Option4 1D : 264330621483
Status : Answered
Chosen Option : 3




Q.10 Select the option that is appropriate regarding the following two statements labelled Assertion
and Reason.

Assertion: Check dams of low height are constructed across the tributaries of rivers at
different stages to arrest the sediments in the catchment area.

Reason: Check dams serve the purpose of detention reservoirs and keep all the sedimentsin
suspension.

Ans X 1.Both Assertion and Reason are true and reason is the correct explanation ofassertion.

& 2. Assertion is true but Reason is false.

7< 3.Both Assertion and Reason are true but Reason is not the correct explanation of
Assertion.

5 4.Both Assertion and Reason are false.

Question ID : 264330160572
Option11D: 264330629619
Option2 1D : 264330629621
Option 31D : 264330629620
Option4 1D : 264330629622
Status : Not Answered
Chosen Option : --

Q.11
Following are the observations made on a closed traverse.

Line | Fore Back
Bearing Bearing

PQ |35°20° 216° 407

QR | 155°30° 336° 30’

RS |293° 113°

SP | 10° 500 191° 10

If the bearing of Line RS is not affected by local attraction, the correction that
needs to be applied to each angle is .
Ans o 1.-0°40°
K 2.-2°40°
X 3.+2°40°
X 4.+0°40°

Question ID : 264330160599
Option 1 ID : 264330629727
Option 2 ID : 264330629729
Option 3 ID : 264330629730
Option 4 ID : 264330629728
Status : Not Answered
Chosen Option : --

Q.12 Select the correct statement related to water distribution pipe systems.Ans
< 1. Sluice valves are provided only once, at the start of pipe system.

#< 2. Drain valves are provided at all the high points.
< 3.Airvalvesare provided at all the low points.

«" 4. Drain valves are provided atall the low points.

Question ID : 26433095956
Option1 1D : 264330376594
Option 2 1D : 264330376596
Option 31D : 264330376595
Option4 1D : 264330376593
Status : Answered
Chosen Option : 4




Q.13 What is the meaning of ‘ISMB 200 in the steel design?
Ans  «# 1. Indian standard medium weight beams of depth 200 mm

< 2. Indian standard mean weight beams of depth 200 mm
/< 3. Indian standard maximum weight beams of depth 200 mm

Z< 4. Indian standard mild weight beams of depth 200 mm

Question ID : 264330159695
Option 11D : 264330626141
Option2 1D : 264330626142
Option 31D : 264330626139
Option4 1D : 264330626140
Status : Answered
Chosen Option : 1

Q.14 Select the option that is appropriate regarding the following two statements labelled Assertion
and Reason.
Assertion: The orographic type of precipitation that is caused by moving masses of moistair
may get lifted up to higher altitudes, due to presence of mountains as barriers.
Reason: Moving masses of moist air are lifted up to higher altitudes due to presence of

mountains as barriers and consequently, they undergo cooling, condensation and
precipitation.

Ans & 1. Both Assertion and Reason are true and Reason is the correct explanation of
Assertion.

Z5 2.Both Assertion and Reason are false.
5 3. Assertion is true, but Reason is false.

7< 4.Both Assertion and Reason are true, but Reason is not the correct explanation of
Assertion.

Question ID : 264330158601
Option11D: 264330621763
Option2 1D : 264330621766
Option 31D : 264330621765
Option4 1D : 264330621764
Status : Answered
Chosen Option: 1

Q.15 Pavements which have low or negligible flexural strength are called
Ans 2 1.semirigid pavements

«" 2. flexible pavements
< 3.cement concrete and gravel roads

2% 4. rigid pavements

Question ID : 264330157162
Option 11D : 264330616014
Option2 1D : 264330616011
Option 31D : 264330616013
Option4 1D : 264330616012
Status : Answered
Chosen Option : 4




Q.16 With increase in the input power of pump, the efficiency of pump
Ans X 1.remainsthe same

" 2. decreases
/< 3.1tis independent of the power

5 4. increases

Question ID : 264330158966
Option 11D : 264330623225
Option2 1D : 264330623223
Option 31D : 264330623226
Option4 1D : 264330623224
Status : Answered
Chosen Option : 4

Q.17 Select the correct option for the given statements related to the field test of cement.

Statement 1: When you insert your hand in a bag of cement, it should give you a hot feeling.
Statement 2: In adulteration test, take a pinch of cement and feel (rub) between the fingers; it
should give a smooth feeling and not a gritty feeling.

Ans X 1.Statement 1 is true and statement 2 is false
#5 2. Both statement 1 and statement 2 are true
" 3. Statement 1 is false and statement 2 is true

75 4.Both statement 1 and statement 2 are false

Question ID : 264330157844
Option 11D : 264330618737
Option2 1D : 264330618735
Option 31D : 264330618738
Option4 1D : 264330618736
Status : Answered
Chosen Option: 3

\

Q.18 A map of a certain area is drawn on a sheet. The distance on the map is 1 dm and that onthe
ground is 5 km. The representative fraction for the given data is
(Note that ‘dm’ means decimetre.)

Ans 1
X1 —
5000

1
2.
50000

1
3 ———
500000

4 —
500

Question ID : 264330159310
Option 11D : 264330624600
Option2 1D : 264330624601
Option 31D : 264330624602
Option4 1D : 264330624599
Status : Answered
Chosen Option : 2




Q.19 What is the standard atmospheric pressure at sea level?Ans
#< 1.15bar

" 2.1.013 bar
X 3.1.3bar
< 4.1013 mmHg

Question 1D
Option1 1D
Option2 1D
Option 31D
Option4 1D

: 264330159000
1 264330623361
1 264330623359
1 264330623362
1 264330623360

Status : Answered
Chosen Option: 2

Q.20 The following is the table containing data recorded during curve setting by using the two-
theodolite method.

Point | Chord Length Ta‘igﬂz:a : DT;;;DH - Theodolte fef‘ding .
Point of Curve Point of Tangency
Pl 12.26 m 0° 21" 257 A 0° 21" 257
P2 20m 1e12° 57 B
P3 20m 12127 57 C
P4 20m 12127 57 | 3257 407
Thevaluesof ABandCare __ ,  and __,respectively.

Ans &% 1. A=0°21"257;B=1°33"30";C=357°14"25"
X 2.A=0°21"25";B=1°33"30";C=177° 14’25
& 3.A=0°21°257;B=1°33"30"; C = 182° 45’ 35>

X 4.A=0°2125";B=1°54"55",C=177° 14’25

Question 1D

. 264330159336

Option 11D : 264330624703
Option2 1D : 264330624704
Option 31D : 264330624705
Option4 1D : 264330624706

Status : Not Answered
Chosen Option : --
Q.21 A 3-degrees curve is situated on a ruling gradient of 1 in 250 on a broad Gauge track. What
should be the actual ruling gradient considering the grade compensation of curvature?
Ans 1 11in 280
2.1 in 300
3.0.12%
4. 0.28%
Question ID : 26433091103
Option1 1D : 264330357824
Option2 1D : 264330357823
Option3 1D : 264330357822
Option4 1D : 264330357821
Status : Not Answered
Chosen Option : --




Q.22 The relative error in a closed traverse survey with perimeter of 500 m is 1 in 2000. If the
closing error lies in the fourth quadrant (Positive - Y and Negative - X), then the errors in
latitude and departure, closer to two decimal point, will be , respectively.

Ans

1 02mand—015m

2 y0-2mand—+0-15m

X3 0.2mand 0.15m

4 4/0-2mand v0-15m

Chosen Option : --

Question 1D : 264330160628
Option 11D : 264330629845
Option2 1D : 264330629846
Option 31D : 264330629843
Option4 1D : 264330629844
Status : Not Answered

Q.23 In ashrinkage limit experiment, mercury is used for:
Ans  #5 1.prevent shrinkage of soil

< 2.1ill the voids of soil sample
#< 3. determine volume at plastic limit

" 4. determine dry volume of soil

Chosen Option: 1

Question ID : 264330160370
Option1 1D : 264330628822
Option2 1D : 264330628821
Option 3 1D : 264330628820
Option4 1D : 264330628819
Status : Answered

Q.24 According to 1S 800:2007, steel purlins are primarily designed as
Ans K 1. tension members

" 2. flexural members
< 3. torsional members

7< 4. compression members

Question ID : 264330100834
Option 11D : 264330395884
Option2 1D : 264330395881
Option 31D : 264330395882
Option4 1D : 264330395883

Chosen Option : 4

Status : Answered




Q.25 According to IS 456:2000, The value of design bond stress in limit state method for plainbars in
tension depends on the:

Ans X 1.none of the given option
< 2. grade of the steel
« 3.grade of the concrete
75 4.length of the bar

Question 1D : 264330100799
Option11D: 264330395743
Option2 1D : 264330395741
Option 31D : 264330395742
Option4 1D : 264330395744
Status : Answered
Chosen Option : 3

\

Q.26 Which of the given options is the best suited condition for energy recovery from municipalsolid
waste?

Ans X 1.Presence of more non-renewable resources like glass
#< 2. Presence of inorganic matter such as metal
+# 3. High calorific value of solid waste

Z5 4. More moisture content

Question ID : 26433095929
Option1 1D : 264330376488
Option2 1D : 264330376485
Option 3 1D : 264330376487
Option4 1D : 264330376486
Status : Answered
Chosen Option: 2

Q.27 The specific energy of flow is the energy per unit weight of water with respect to the
channel bottom as datum. As level of the channel bottom goes down,

Ans X 1. specific energy constant
~< 2. specific energy is not depended on depth
W 3. specific energy increases

X 4. specific energy decreases

Question ID : 26433091054
Option 11D : 264330357627
Option 2 1D : 264330357628
Option 31D : 264330357625
Option4 1D : 264330357626
Status : Answered
Chosen Option : 4

e ___________________________________———
Q.28 In the centesimal system of angular measurement, 1 Circumference =

Ans  #5 1.180 grads
#< 2.100 grads
< 3.360 grads
" 4.400 grads

Question ID : 264330159315
Option1 1D : 264330624620
Option2 1D : 264330624619
Option 31D : 264330624621
Option4 1D : 264330624622
Status : Answered
Chosen Option : 4




Q.29 The standard consistency test of cement is conducted by using
Ans X 1. Le Chatelier’s apparatus

#% 2. Blaine’s permeability apparatus
## 3. Vicat’s apparatus

#< 4. Casagrande’s apparatus

Question ID : 264330157681
Option1 1D : 264330618084
Option2 1D : 264330618085
Option3 1D : 264330618083
Option4 1D : 264330618086
Status : Answered
Chosen Option: 3

Q.30 Which of the following is obtained by rotating a log of wood against a sharp knife of rotary
cutter?

Ans 25 1.Laminboard
& 2. \eneers
75 3. Plywood

5 4. Batten board

Question 1D : 264330157856
Option1 1D : 264330618783
Option2 1D : 264330618785
Option3 1D : 264330618786
Option4 1D : 264330618784
Status : Answered
Chosen Option: 2

Q.31 Read the given statements about crop water requirement and select the correct option.Statement
1: Duty will be less for a crop requiring more water.

Statement 2: The water lost due to percolation will be more and hence the duty will be more.
Ans K 1.Both statement 1 and statement 2 are true

#< 2. Statement 1 is false and statement 2 is true
< 3.Both statement 1 and statement 2 are false

" 4. Statement 1 is true and statement 2 is false

Question ID : 26433099449
Option 11D : 264330390409
Option 2 1D : 264330390412
Option 31D : 264330390410
Option4 1D : 264330390411
Status : Answered
Chosen Option : 4




Q.32 Which method involves driving piles along both sides of an existing wall and inserting aneedle
in the form of pile caps through the existing one?

Ans & 1.Pit method
" 2.Pile method
5 3. Vibro-flotation

75 4. Miscellaneous method

Question ID : 264330167517
Option 11D : 264330657039
Option 2 1D : 264330657040
Option 31D : 264330657041
Option4 1D : 264330657042
Status : Answered
Chosen Option : 2

Q33 Thermal expansion gives temperature stresses that are resisted by the weight of the
rails. If the resistance provided per km of rail length is 700 kg, then find the

maximum length of the continuous welded track that can be provided, neglecting
all other factors.

Given for the rail:
Area of cross-section = 50 cm?.
Modulus of elasticity = 2 x 106 kg/cm?.
Coefficient of thermal expansion = 1.2 x 10-3/°C
Rise in temperature = 35°C
Ans X 1.60m
&< 2.30km
o 3.60km
X 4.30m

Question ID : 264330100770
Option 1 ID : 264330395625
Option 2 ID : 264330395627
Option 3 ID : 264330395626
Option 4 ID : 264330395628
Status : Answered
Chosen Option: 1

\

Q.34 As per 1S 11624-1986, what will be the water quality rating of irrigation water when
electrical conductivity (EC) is in the range of 1500 to 3000 (micromhos/cm)?

Ans & 1. Medium
X 2. High
#< 3. Very high
X 4.Low

Question ID : 264330157863
Option1 1D : 264330618812
Option2 1D : 264330618813
Option 31D : 264330618814
Option4 1D : 264330618811
Status : Answered
Chosen Option : 2




Q.35 The A-line in the unified classification system table is used to determine the plasticity index(lp) of
soil sample on its liquid limit (W ). The equation for the A-line is given as

Ans X 1.lp=W_ -40
X 2.1p=05(20-W)
X 3.1p=0.73 (40 - W)
o 4.1p=0.73 (W|_-20)

Question ID : 26433096820
Option 11D : 264330380017
Option2 1D : 264330380020
Option 31D : 264330380019
Option4 1D : 264330380018
Status : Answered
Chosen Option : 4

Q.36 As per the Dicken’s formula Qp = C.M%* for the calculation of peak drainage discharge, theterm
‘M’ represents:

Ans «" 1. catchment area in sq. km.
/< 2. rainfall intensity over the entire area
#< 3.slope of the ground surface

#< 4. time of concentration

Question ID : 26433095953
Option 11D : 264330376583
Option2 1D : 264330376582
Option 31D : 264330376584
Option4 1D : 264330376581
Status : Answered
Chosen Option: 3

Q.37 The precipitation is collected and measured in a rain gauge. The non-recording type rain
gauge extensively used in India is

Ans 25 1. tipping-bucket type rain gauge

X 2. float type rain gauge
75 3. weighing-bucket type rain gauge

& 4. Symon’s rain gauge

Question ID : 264330160582
Option 11D : 264330629659
Option2 1D : 264330629662
Option 31D : 264330629660
Option4 1D : 264330629661
Status : Answered
Chosen Option : 4




Q.38
Following are the observations made on a closed traverse.

Line Fore Bearing | Back Bearing
AB 10° 20° 190° 207

BC 155% 307 336° 30°

CA 290° 1z

The total error is .

Ans 1.-1°0
2.+1°0°
3.-3°0

o 4. +3°0

Question ID : 264330160600
Option 1 ID : 264330629733
Option 2 ID : 264330629734
Option 3 ID : 264330629731
Option 4 ID : 264330629732
Status : Not Answered
Chosen Option : --

Q.39 Calculate the most economic area of a rectangular channel section with width ‘B> and depth‘y’.
Ans o F 1.2y

X 2.3y
X 3.y
X 4.By

Question 1D 264330158927
Option 11D : 264330623070
Option2 1D : 264330623069
Option 31D : 264330623067
Option4 1D : 264330623068
Status : Answered
Chosen Option: 4

Q.40 The type of timber recommended for constructional purpose, whose modulus of elasticity in
bending is above 12.5 kN/mm?, is classified as timber.

Ans  # 1.GroupC
X 2.GroupD
/< 3.GroupB

& 4.Group A

Question ID : 264330160396
Option 11D : 264330628925
Option 2 1D : 264330628926
Option 31D : 264330628924
Option4 1D : 264330628923
Status : Answered
Chosen Option : 4




Q.41 Calculate the hook length of the bar in one side with a diameter of 16 mm.Ans
#< 1.100 mm

X 2.120mm
5 3.166 mm

o 4.144 mm

Question ID : 264330159822
Option 11D : 264330626635
Option2 1D : 264330626638
Option3 1D : 264330626637
Option4 1D : 264330626636
Status : Answered
Chosen Option: 4

Q.42 A cantilever beam is loaded as per the given diagram. Find the bending moment acting atthe
mid span of beam.

20 kM 30 kN

l |

im im

N

Ans & 1.30 kN-m
< 2.50 kN-m
< 3.3000 N-m
& 4.5000 N-m

Question ID : 264330159410
Option 11D : 264330625001
Option2 1D : 264330624999
Option 3 1D : 264330625000
Option4 1D : 264330625002
Status : Answered
Chosen Option: 1

Q.43 Select the correct option for the given statements.

Statement 1: In level crossing, the canal water and drain water are allowed to intermingle
with each other.

Statement 2: A level crossing is generally provided when a large canal and huge drainage
approaches each other practically at the same level.

Ans 25 1.Statement 1 is false and statement 2 is true

" 2. Both statement 1 and statement 2 are true, and statement 2 is the correct
explanation of statement 1

#< 3.Both statement 1 and statement 2 are true, but statement 2 is not the correct
explanation of statement 1

/< 4. Statement 1 is true and statement 2 is false

Question ID : 26433099452
Option 11D : 264330390424
Option 2 1D : 264330390421
Option 31D : 264330390422
Option4 1D : 264330390423
Status : Answered
Chosen Option : 2




Q.44 In acompaction test, the dry unit weight stops increasing after optimum moisture content
because:

Ans X 1.of capillary action
#< 2. of bulking of soil
75 3. the electrical double layer stops expanding

" 4. water particles start occupying space of soil grains

Question 1D : 264330160347
Option 11D : 264330628728
Option2 1D : 264330628727
Option 31D : 264330628730
Option4 1D : 264330628729
Status : Answered
Chosen Option : 2

Q.45 The moment of inertia of a body is a measurement of:
Ans X 1. its resistance against linear deformation

#< 2. its resistance against translation
/< 3. its resistance against shear

«" 4. its resistance against rotation

Question ID : 26433099374
Option1 1D : 264330390109
Option2 1D : 264330390110
Option 3 1D : 264330390112
Option4 1D : 264330390111
Status : Answered
Chosen Option: 4

Q.46 Consider the following conditions:

1. Concentrated loads are placed near beam supports.

2. The depth of beam section is small, and the beam is loaded uniformly.

The design of a beam is governed by shear under which of the following conditions?

Ans K 1. Neither 1 nor 2
X 2.20nly

« 3.Both Land 2
& 4.1only

Question ID : 264330100835
Option 11D : 264330395888
Option2 1D : 264330395886
Option 31D : 264330395887
Option4 1D : 264330395885
Status : Not Answered
Chosen Option : --




Q.47 As per IRC, when designing pedestrian and traffic signals using approximate method for atwo-
phase system, the minimum initial period with pedestrian signal should NOT be less than:

Ans  «# 1.7 seconds
/5 2.6 seconds
X 3.4 seconds
5 4.9 seconds

Question-P——264330157183
< +

Option 11D : 264330616095
Option2 1D : 264330616098
Option 31D : 264330616096
Option4 1D : 264330616097
Status : Answered
Chosen Option: 1

Q.48 Which of the following is NOT a structural stability criterion of a gravity dam?
Ans  # 1. Overturning

< 2. Sliding
¥ 3. Overspill
#< 4. Crushing
Question ID : 26433099379
Option 11D : 264330390129
Option2 1D : 264330390130
Option 31D : 264330390131
Option4 1D : 264330390132
Status : Answered
Chosen Option: 3
Q.49 The coefficient of passive pressure Kp is if the coefficient of active pressure K is
1/4.
Ans & 1.4
X 2.05
K 3.025
X 4.033

Question ID : 26433099674
Option 11D : 264330391296
Option 2 1D : 264330391295
Option 31D : 264330391293
Option4 1D : 264330391294
Status : Answered
Chosen Option : 1




Q.50 If a cantilever retaining wall is to retain soil to its full height H, for the analysis of bending
moment at its base, the distance from the base where the total force due to backfill acts, is

Ans X 1.H
X 2.05H

" 3.033H
X 4.025H

Question 1D : 264330100812
Option 11D : 264330395793
Option2 1D : 264330395794
Option 31D : 264330395796
Option4 1D : 264330395795
Status : Answered
Chosen Option : 2

Q.51 For zenith angles greater than 90°, the telescope of the total station will be
Ans  #X 1.pointing to the right of the observer

/< 2. pointing upwards
& 3. pointing downwards

#< 4. pointing to the left of the observer

Question 1D : 264330159303
Option 11D : 264330624573
Option2 1D : 264330624571
Option 3 1D : 264330624572
Option4 1D : 264330624574
Status : Not Answered
Chosen Option : --

Q.52 A capillary tube of diameter 4 mm is dipped into a liquid of specific gravity 0.6. The liquid
rises in the tube by 20 mm, making an angle of contact of 0° with the tube. Determine the
surface tension of the liquid in contact with air and the glass tube.

Ans X 1.1N/m
& 2.0.12N/m
< 3.0.08N/m
& 4.05N/m

Question ID : 264330162562
Option 11D : 264330637578
Option 2 1D : 264330637575
Option 31D : 264330637576
Option4 1D : 264330637577
Status : Answered
Chosen Option : 2




Ans

Ans

department.

1: 10% profit should be added on the cost of cement and steel. I1:
Cost of carriage from godown to site work should be added.

Which of the following options is true?
5 1. Both statements | and 11 are true

" 2.0nly statement Il is true
#< 3.0nly statement I is true

< 4.Both statements | and I1 are false

any steel structure?
#< 1. Modulus of elasticity

" 2. Moment of inertia
X 3. Weight of material

5 4. Section modulus

Q.55 Which of the following is NOT an advantage of the manometer?Ans

X1 Suitability for use in low-pressure applications
75 2. Better sensitivity
/< 3. simple construction

«" 4. Small operating range

Q.53 Consider the following statements in a situation where cement and steel are supplied by the

Question ID : 26433099359
Option 11D : 264330390050
Option2 1D : 264330390051
Option 31D : 264330390049
Option4 1D : 264330390052
Status : Not Answered
Chosen Option : --

Q.54 Which of the following is the most important property of the section in acompressionmember of

Question 1D : 264330159688
Option11D: 264330626111
Option2 1D : 264330626114
Option 31D : 264330626113
Option4 1D : 264330626112
Status : Answered
Chosen Option: 4

Question ID : 264330158988
Option 11D : 264330623311
Option 2 1D : 264330623314
Option 31D : 264330623312
Option4 1D : 264330623313
Status : Answered
Chosen Option : 2




Q.56 In traffic control, the conflict points are reduced to bare minimum and the delays areminimised
by designing:

Ans X 1. super-passage
& 2. road intersection
/< 3. bridges

#5 4. horizontal curve

Question ID : 26433086551
Option 11D : 264330339848
Option2 1D : 264330339845
Option 31D : 264330339847
Option4 1D : 264330339846
Status : Answered
Chosen Option: 2

Q.57 During the particle board construction by pressing in the parallel plates process, what is the
orientation of wood particles with respect to the plane of the board?

Ans 1. 30°
X 2. 90°

3. 450
&4 0P

Question ID : 26433099396
Option11D: 264330390199
Option2 1D : 264330390198
Option 3 1D : 264330390197
Option4 1D : 264330390200
Status : Answered
Chosen Option: 2

Q.58 The total area enclosed by an irrigation canal that can be included in an irrigation project for
supplying water to agricultural land by a network of canals is known as

Ans X 1.culturable cultivable area
" 2. gross command area
/< 3. culturable command area

75 4. unculturable area

Question ID : 264330158537
Option 11D : 264330621508
Option 2 1D : 264330621509
Option 31D : 264330621507
Option4 1D : 264330621510
Status : Answered
Chosen Option : 3




Q.59 The shear strength of an RCC beam depends on which of the following factors?Ans
#< 1. The type of cement

" 2. The grade of the concrete
< 3.The zone of fine aggregate
75 4.The grade of the steel

Question 1D : 264330100806
Option 11D : 264330395771
Option2 1D : 264330395769
Option 31D : 264330395772
Option4 1D : 264330395770
Status : Answered
Chosen Option : 2

Q.60 Which of the following is an acoustical property of the construction material? Ans
#< 1.Creep

" 2. Transmission
#< 3. Hygroscopicity

< 4. Thermal resistivity

Question ID : 264330157862
Option 11D : 264330618807
Option2 1D : 264330618810
Option 31D : 264330618809
Option4 1D : 264330618808
Status : Answered
Chosen Option: 2

Q.61 Under which of the following conditions will a steel column fail in buckling? Ans
#< 1. The column is short.

«" 2. greater than 180
X 3. Asteel column cannot fail in buckling.

< 4. less than 180

Question ID : 264330159696
Option11D: 264330626143
Option2 1D : 264330626144
Option3 1D : 264330626146
Option4 1D : 264330626145
Status : Answered
Chosen Option : 2

Q.62 The number of vibrations of a sound wave per unit time is measured in
Ans X 1. bel

< 2. decibel
o 3. hertz

#< 4. pressure second

Question ID : 264330162705
Option1 1D : 264330638141
Option2 1D : 264330638140
Option 31D : 264330638139
Option4 1D : 264330638142
Status : Not Answered
Chosen Option : --




Q.63 Which of the following is NOT employed in the secondary treatment of sewage?Ans
#< 1. Trickling filters

& 2. Sand filters
«" 3. Skimming tanks
< 4. Contact beds

Question ID : 264330160703
Option 11D : 264330630145
Option2 1D : 264330630146
Option 31D : 264330630143
Option4 1D : 264330630144
Status : Answered
Chosen Option : 4

Q.64 As per 1S 3495 part-3 (1992), soluble salts, if present in bricks, will cause efflorescence onthe

surface of bricks. If the white deposits cover about 10% of the surface, the efflorescence is said
to be

Ans X L.nil
#5 2. moderate
" 3. slight
X 4. heavy

Question ID : 264330157860
Option11D: 264330618799
Option2 1D : 264330618801
Option 3 1D : 264330618800
Option4 1D : 264330618802
Status : Answered
Chosen Option: 3

Q.65 The distance between two points measured during a hot summer by using a 30 m long chain

was 2.4 km. At the end of the day’s work, it was found that the chain was 2 decimetrelonger.
Which of the following is the correct option?

Ans X 1.The measured distance is 16 m more than the actual distance.
#< 2. The measured distance is 1.6 cm more than the actual distance.
#< 3. The measured distance is 16 cm less than the actual distance.

" 4. The measured distance is 1600 cm less than the actual distance.

Question ID : 264330167218
Option 11D : 264330655869
Option 2 1D : 264330655867
Option 31D : 264330655870
Option4 1D : 264330655868
Status : Answered
Chosen Option : 4




Q.66 The Froude number is the ratio of two forces, which are:
Ans X 1.buoyancy force and inertia force

#< 2. viscous force and buoyancy force
X 3.inertia force and pressure force

«" 4. inertia force and gravity force

compression is defined as the

Ans X 1.ratio of the length ofthe member to the appropriate radius of gyration

/< 3.ratio of the effective length to the actual length of the member

< 4. ratio of the effective length to the area of section of the member

septic tank to the water treatment system?
Ans £ 1.Vertical sump pump

< 2. Screw pump
" 3. Submersible pump

#< 4. Progressive cavity pump

Question ID : 264330158928
Option 11D : 264330623072
Option2 1D : 264330623074
Option 31D : 264330623071
Option4 1D : 264330623073
Status : Answered
Chosen Option : 4

Q.67 With reference to compression members of steel structures, the slenderness ratio of

« 2. ratio of the effective length of the member to the appropriate radius of gyration

Question 1D : 264330162708
Option 11D : 264330638152
Option2 1D : 264330638154
Option3 1D : 264330638151
Option4 1D : 264330638153
Status : Answered
Chosen Option: 2

Q.68 Which of the following types of pumps should be selected in order to pump the sewagefrom a

Question ID : 264330158972
Option 11D : 264330623247
Option 2 1D : 264330623250
Option 31D : 264330623249
Option4 1D : 264330623248
Status : Not Answered
Chosen Option : --




Q.69 A proper compaction of freshly prepared concrete results in:
(i) Achieving maximum strength of concrete
(i) Expelling entrapped air in concrete
(iii) Change in fineness modulus of aggregate

Ans < 1. Only (i)
o« 2. Both (i) and (i)
% 3.(i), (i), and (iii)
< 4.0nly (ii)

Question ID :
Option11D:
Option2 1D :
Option3 1D
Option4 1D :

264330100168
264330393245
264330393246
264330393247
264330393248

Status : Answered

Chosen Option: 2

Q.70 Which of the following types of trees belong to the endogenous trees?
Ans X 1.Deodar

X 2.Pine
X 3.0ak

«" 4. Bamboo

Question 1D : 264330157876
Option1 1D : 264330618865
Option2 1D : 264330618866
Option3 1D : 264330618864
Option4 1D : 264330618863
Status : Answered

Chosen Option: 4

Q.71 A fine grained soil has liquid limit of 55 and plastic limit of 20 as per plasticity chart.

According to IS classification, the soil is represented by which of the following letter
symbols?

Ans ¥ 1.CH
& 2.CL-ML
X 3.Cl-ML
& 4.cL-oL

Question ID : 26433096821
Option 1 ID : 264330380022
Option 2 ID : 264330380023
Option 3 ID : 264330380024
Option 4 ID : 264330380021

Status : Answered

Chosen Option : 3




Q.72 Match the following.

Air Pollutant Effect
L Carbon monoxide A. Asphyxia
II.  Halogenated solvents B. Attack(s) the liver
III. Hydrocarbons C. Cause(s) cancer

Ans X L1I-C, II-A, 11I-B
& 2.1-A 11-C, 1I-B
< 3.1-C, 1I-B, llI-A

o 4.1-A, 11-B, 11I-C

Question ID : 264330160689
Option 1 ID : 264330630089
Option 2 ID : 264330630088
Option 3 ID : 264330630090
Option 4 ID : 264330630087
Status : Answered
Chosen Option: 3

Q.73 To study the wind pressure effect on a hollow circular chimney, the projected area
calculation is given as:

e X ' (Height of chimney) * (Internal diameter of chimney shaft)

X2 (Height of chimney) = (Mean diameter of chimney shaft)
X3

G) x (Height of chimney) * (Internal diameter of chimney shaft)
4

(Height of chimney) = (External diameter of chimney shaft)

QUestion 1D 264330159397
Option 11D : 264330624947
Option2 1D : 264330624949
Option 3 1D : 264330624950
Option4 1D : 264330624948
Status : Answered
Chosen Option: 4

Q.74 To get the corresponding lengths, we must one breadth to the long wall and
breadth from the short wall from the centre line.

Ans & 1. subtract; subtract

one

#< 2. subtract; add
< 3. add; add

" 4. add; subtract

Question ID : 264330159830
Option 11D : 264330626669
Option 2 1D : 264330626670
Option 31D : 264330626668
Option4 1D : 264330626667
Status : Answered
Chosen Option : 4




Q.75 Warning signs are also known as
Ans X 1.mandatory signs

#< 2. regulatory signs
< 3. prohibitory signs

" 4. cautionary signs

called
Ans £ 1.erosion

o 2. backfill
< 3. plasticity

#< 4. lateral pressure

Question 1D : 264330157182
Option1 1D : 264330616092
Option2 1D : 264330616093
Option3 1D : 264330616091
Option4 1D : 264330616094

Status : Answered
Chosen Option: 3
Q.76 Which of the following is a type of contouring method that can be effectively used in a hilly
terrain by setting radial lines?
Ans X 1. Vertical control method
Z5 2. Horizontal control method
4" 3. Tacheometric method
#< 4. Method of cross-section
Question ID : 264330159326
Option 11D : 264330624663
Option2 1D : 264330624664
Option 3 1D : 264330624665
Option4 1D : 264330624666
Status : Answered

Chosen Option: 3

Q.77 A reinforced concrete retaining structure that provides skeletal support to earthen materialsis

Question ID
Option1 1D
Option 2 ID
Option 31D
Option4 1D

. 26433099381

: 264330390137
: 264330390140
: 264330390139
: 264330390138

Status : Answered

Chosen Option : 2




Q.78 Which of the following methods explains the process of underwater concreting?
(i) Pumping technique
(i) Hydro valve method
(iii) Toggle bags method
(iv) Bagged concrete method

Ans #< 1.0nly (i)
X 2.0nly (i), (ii), (iii)
o 3. (i), (i), (iii), and (iv)
< 4.Both (i) and (ii)

Question ID : 264330100169
Option 1 ID : 264330393249
Option 2 ID : 264330393251
Option 3 ID : 264330393252
Option 4 ID : 264330393250
Status : Answered
Chosen Option : 3

Q.79 The constant head permeability test is used for
Ans X 1.organic soil

X 2. fine grained soil
+# 3. coarse grained soil

X 4. clayey soil

Question ID : 26433096818
Option1 1D : 264330380012
Option2 1D : 264330380009
Option3 1D : 264330380010
Option4 1D : 264330380011
Status : Answered
Chosen Option: 3

Q.80 Municipal solid waste is also known as:
Ans X 1.street sweepings

#< 2. municipal rubbish
" 3.refuse
#< 4. leachate

Question ID : 26433099413
Option 11D : 264330390267
Option2 1D : 264330390265
Option 31D : 264330390266
Option4 1D : 264330390268
Status : Not Answered
Chosen Option : --




Q.81 The total amount of dissolved salts allowable concentrations in mixing water in order to obtain
agood strength concrete in terms of parts per million (ppm) as per 1S 456 is

Ans X 1.2000 ppm )
#< 2.10000 ppm
Z< 3.1000 ppm
" 4.15000 ppm

Question ID : 264330100164
Option 11D : 264330393230
Option2 1D : 264330393231
Option 31D : 264330393229
Option4 1D : 264330393232
Status : Answered
Chosen Option : 1

Q.82 During rainy season, if the rainfall is sufficient during the crop period, less quantity ofirrigation
water shall be required and therefore, the duty of the irrigation canal will be

Ans 5 1.thesame
& 2. more
X 3.less

#< 4.No relation between the duty and the rainfall

Question 1D : 264330158542
Option 11D : 264330621529
Option2 1D : 264330621528
Option 31D : 264330621527
Option4 1D : 264330621530
Status : Answered
Chosen Option: 2

Q.83 The scrap value of a building is considered
Ans X 1.15%

X 2.2%
o 3.10%
X 4.5%

of the cost of construction.

Question ID : 264330159854
Option 11D : 264330626766
Option 2 1D : 264330626765
Option 31D : 264330626763
Option4 1D : 264330626764
Status : Answered
Chosen Option : 3

Q.84 Which of the following is NOT a field of application of sulphate-resisting cement?Ans
<1 Sewage treatment works

< 2. Foundation and basement
#5 3. Marine structures

" 4. Dams

Question ID : 264330157686
Option1 1D : 264330618105
Option2 1D : 264330618104
Option 31D : 264330618103
Option4 1D : 264330618106
Status : Answered
Chosen Option : 1




Q.85 Which of the following keeps a record of receipts, issues and running balance of certainitems of
stock, especially of fitting items?

Ans & 1.Stock items
25 2. Value account
#< 3. Quantity account
" 4.Bin card

Question ID : 26433099341
Option 11D : 264330389978
Option2 1D : 264330389979
Option 31D : 264330389980
Option4 1D : 264330389977
Status : Not Answered
Chosen Option : --

Q.86 To increase the seepage flow length,
barrage or weir.

Ans X 1.toewalls

are provided on the cut-off walls of the

" 2. sheet piles
#< 3. impervious floors

& 4. inverted filters

Question ID : 264330160573
Option 11D : 264330629626
Option2 1D : 264330629623
Option 3 1D : 264330629625
Option4 1D : 264330629624
Status : Answered
Chosen Option: 2

\

Q.87 According to 1S 456:2000, for limit state method of collapse in flexure, which of thefollowing
assumptions is correct?

Ans X 1.Thetensile strength of the concrete is taken into account.

«" 2. The maximum strain in concrete at the outermost compression fibre is taken as0.0035 in
bending.

X 3.The relationship between the stress strain distribution in concrete is assumed to bestraight.
#< 4. Plane section normal to axis does not remain plane after bending.

Question 1D _: 264330100803

Option 11D : 264330395759
Option 2 1D : 264330395760
Option 31D : 264330395758
Option4 1D : 264330395757
Status : Answered
Chosen Option : 2




Q.88 Find the moment of resistance of a balanced singly reinforced beam using the followingdata.
Grade of concrete : M20
Grade of steel : Fe415
b = width of the beam
d = effective depth of the beam
Use limit state method of design:

Ans o 1 2.76bd?
< 2. 2.66bd?
X 3. 2.07bd?
X 4. 2.96bd?

Question ID : 264330100804
Option 11D : 264330395762
Option2 1D : 264330395763
Option 31D : 264330395764
Option4 1D : 264330395761
Status : Not Answered
Chosen Option : --

Q.89 The length of the first sub chord is 10 m and the radius of the curve is 200 m. Find the first
tangential angle for setting out a circular curve.

Ans % 1.8595°

< 2.100°

< 3.85.95’

X 4.100°
Question ID : 264330122661
Option 11D : 264330480755
Option2 1D : 264330480757
Option 31D : 264330480756
Option4 1D : 264330480758

Status : Not Answered
Chosen Option : --
Q.90 Surfaces painted by shine like radium dials after the source of light has been
cut off.

Ans £ 1.plastic paint
X 2. emulsion paint
2 3. oil paint

" 4. enamel paint

Question ID : 264330160754
Option 11D : 264330630347
Option2 1D : 264330630348
Option 31D : 264330630349
Option4 1D : 264330630350
Status : Answered
Chosen Option : 2




Q.91 Select the correct option for the given statements.

Statement 1: Bamboo can be utilised as a building material for scaffolding, bridges, housesand
buildings.

Statement 2: Bamboo, like wood, is a natural composite material with a low strength-to-
weight ratio and cannot be useful for structures.

Ans X 1.Statement 1 is false and statement 2 is true
25 2. Both statement 1 and statement 2 are true
" 3. Statement 1 is true and statement 2 is false

#< 4.Both statement 1 and statement 2 are false

Question ID : 264330157878
Option 11D : 264330618874
Option2 1D : 264330618871
Option 31D : 264330618873
Option4 1D : 264330618872
Status : Answered
Chosen Option : 2

Q.92 If the magnetic bearing of the Sun at a certain place in the Southern Hemisphere during
noon is 336° 29°, then the magnetic declination at that place is

Ans X 1.66°29°W
< 2.66°29°E
o 3.23°31'E
X 4.23°31°W

Question ID : 264330160193
Option11D: 264330628114
Option2 1D : 264330628113
Option3 1D : 264330628111
Option4 1D : 264330628112
Status : Answered
Chosen Option: 3

Q.93 What is the minimum value of effective depth of a cantilever RCC beam of span 7 m tosatisfy the
vertical deflection limit as per 1S 456-2000?

Ans 25 1.500 mm
& 2.1000 mm
& 3.269.2mm
X 4.350mm

Question ID : 264330159654
Option 11D : 264330625977
Option 2 1D : 264330625978
Option 31D : 264330625975
Option4 1D : 264330625976
Status : Answered
Chosen Option : 2




Q.94 A pump has to pump water through a pipeline of height of 10 m above the ground at a rateof
0.2 m%/sec. The water in a sump tank is 5 m below the ground level. Neglect head lossdue to
friction, the pumping power required would be (Consider g =10 m/sz).

Ans & 1.30 KW
X 2.22KW
& 3.25 KW
X 4.33KW

Question ID : 26433091153
Option 11D : 264330358021
Option2 1D : 264330358023
Option 31D : 264330358022
Option4 1D : 264330358024
Status : Not Answered
Chosen Option : --

Q.95 Which of the following includes the cost of hire charges for the vehicle for an 8-hour
working period in a day with the cost of the driver?

Ans & 1.Loading of the vehicle
Z5 2. Labour cost
& 3. Cost of owing

5 4. Miscellaneous

Question 1D : 264330167539
Option 11D : 264330657129
Option2 1D : 264330657127
Option 31D : 264330657128
Option4 1D : 264330657130
Status : Answered
Chosen Option: 4

Q.96 In measurement of masonry activity, no deduction is made for

Ans o 1. the end of purlin up to 0.05 m?
75 2.bed plates exceeding 10 cm thickness
& 3.wall plates exceeding 10 cm thickness

5 4. the end of a beam with cross sectional area > 0.05 m?

Question ID : 26433091119
Option 1 ID : 264330357887
Option 2 ID : 264330357888
Option 3 ID : 264330357886
Option 4 ID : 264330357885

Status : Answered
Chosen Option : 1




Q.97 Which of the following statements with respect to characteristics of solid waste is correct?

Ans & 1. The refuse of a typical Indian city has more garbage percentage (by weight) than thatof a city
in the USA.

#5 2. The refuse of a typical Indian city has less garbage percentage (by weight) than thatof a city
in the USA.

#< 3. The refuse of a typical Indian city has less density than that of a city in the USA.

#< 4. The refuse of a typical Indian city has more rubbish percentage (by weight) than thatof a city
in the USA.

Question ID : 26433099485
Option 11D : 264330390554
Option2 1D : 264330390553
Option 31D : 264330390556
Option4 1D : 264330390555
Status : Not Answered

Chosen Option : --
Q.98
Consider the following methods used to establish a point in the field. (Refer to the
figure below.)
0
M N

Method 1: Point O is plotted by measuring only the distances MO and NO.
Method 2: Point O is plotted by measuring only the angles NMO and MNO.

Which of these methods also represents the principle of trigonometrical levelling?

Ans X 1. Neither Method 1 nor Method 2
" 2. Method 2 only
< 3.Both Method 1 and Method 2
X 4.Method 1 only

Question ID : 264330160590
Option 11D : 264330629694
Option2 1D : 264330629692
Option 31D : 264330629693
Option4 1D : 264330629691
Status : Answered
Chosen Option : 3

Q.99 The repair works that are usually carried out every fourth year are known as
Ans " 1. quadrennial repair works

< 2. regular repair works
#< 3. biennial repair works

#< 4. annual repair works

Question ID : 26433091125
Option1 1D : 264330357911
Option2 1D : 264330357912
Option 31D : 264330357910
Option4 1D : 264330357909
Status : Answered
Chosen Option : 1




Q.100 If a pitot tube is placed with its nose facing downstream, the liquid:
Ans

2
-

rises in the tube to a height of 28

# 2. does not rise in the tube

+ 3. falls in the tube to a height of ‘27;
g
X 4. does not fall in the tube

Question ID : 264330158931
Option 11D : 264330623085
Option2 1D : 264330623083
Option 31D : 264330623086
Option4 1D : 264330623084
Status : Not Answered
Chosen Option : --
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Select the option that represents the letters that, when sequentially placed from left to rightin the blanks
below, will complete the letter series.
S _JK_HF_KSH_J_SH__

KAns X1 HFSFJFKJ
5 2. HFSKJFFJ
«" 3. HFSIFKFJ
& 4. HFSFIKFJ

QuestionlD:26433068916
Option11D:264330270177
Option21D:264330270179
Option31D:264330270178
Option41D:264330270176

Status:Answered

ChosenOption:3

|In a certain code language, ‘"NEWLY" is coded as MFZKZ and 'PAINT" is coded as OBLMU.How will

"TWICE' be coded in that language?
Ans  X1.SXLBG

& 2. RXLBF
/X 3.SYLBG

¥ 4. SXLBF

QuestionlD:264330133213
Option11D:264330521902
Option21D:264330521901
Option31D:264330521900
Option41D:264330521899

Status:Answered
ChosenOption:4




Length:Height::Breadth:?
Ans K1 Weight

ﬂg(Sheep) :ﬁ'qTﬂ(Lamb) .8 Ul(Deer):?
Ans A 1.d(Child)
o 2. T8 Fa)
X 3. DIC(Coly)
X 4 W(Cygnet)

Uh IR Y8 IraIgy)
gL d:dla: Ans
19
25 2.YIgIHS
o 3.URa
X 4R

Select the option that is related to the third word in the same way as the second word isrelated to the
first word. (The words must be considered as meaningful English words andmust not be related to each
other based on the number of letters/number ofconsonants/vowels in the word)

2 2. Volume
& 3. Width
#X 4. Dimension
QuestionlD:264330144590
Option11D:264330566616
Option21D:264330566617
Option31D:264330566618
Option41D:264330566615
Status:Answered
ChosenOption:3
.. EN
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QuestionlD:264330144511
Option1ID:264330566300
Option21D:264330566299
Option3ID:264330566302
Option41D:264330566301

Status:NotAnswered
ChosenOption:--

\
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QuestionlD:26433078836
Option11D:264330309357
Option21D:264330309358
Option31D:264330309356
Option41D:264330309359

Status:Answered

ChosenOption:3




2 wua%maﬁemqpmqnmmﬂm%% SRRICHIRGIT 5/

ﬁ_ic(N eedle): T (Sew): - SR HI(Auger):?
Ans fl.aﬂqT(Bore)
X 2 @W(Scoop)
X 3. MRMI(Carve)
X 4. GNHI(Grind)

first term and the sixth term is related to the fifth term.
102:9::80:7::146:13

Ans w17
2.9
K311
X410
Q.8Uq
“M=N"TBT3IG "M NPTITR" M
# N WGM% M, N
mm% MxN T M NBT
"M&N’ Wx’r{ﬂ% M, N

"M$N™ 3% N
"M@N"DI3Yg"M,NhT
AWCWH%?A# L=K

&P@C=B

Ans K1 'J-I'Ig
o MR
< 3.93
X 4. 95

QuestionlD:264330144532
Option1ID:264330566384
Option21D:264330566385
Option31D:264330566386
Option41D:264330566383

Status:Answered

ChosenOption:1

Q.7Select the option that is related to the third term in the same way as the second term isrelated to the

QuestionlD:264330126047
Option1ID:264330493863
Option21D:264330493860
Option31D:264330493861
Option41D:264330493862

Status:Answered

ChosenOption:1

QuestionlD:264330144537
Option11D:264330566404
Option21D:264330566405
Option31D:264330566403
Option41D:264330566406

Status:Answered

ChosenOption:2




S Gl S U X R e LA
Ans  X1.0dl

X 2.Mfel

R

o 4. R

Q10 How many triangles are there in the given figure?

Ans 471,10
X2
X 39
X 412

Questionl D:26433086260
Option1ID:264330338733
Option21D:264330338736
Option31D:264330338734
Option41D:264330338735

Status:Answered

ChosenOption:4

QuestionlD:26433068138
Option11D:264330267064
Option21D:264330267065
Option31D:264330267067
Option41D:264330267066

Status:Answered

ChosenOption:1




Ans

Ans

Q.11Selecttheoptioninwhichthegivenfigureisembedded(rotationisNOT allowed).

“ 1 [

QuestionlD:264330129543
Option11D:264330507538
Option21D:264330507541
Option31D:264330507539
Option41D:264330507540

Status:Answered
ChosenOption:2

Q.12In a code language, '‘CHEAT" is written as AFGCR and 'BROKE" is written as ZPQIG. How

WIl'TREAT" be written in the same language?
#<1. OPGCR

/< 2. OPHDR
#< 3. RPHDR
& 4. RPGCR

QuestionlD:264330132945
Option11D:264330520842
Option21D:264330520841
Option31D:264330520840
Option41D:264330520839

Status:Answered
ChosenOption:4




Ans

Ans

Q.13Select the option that is related to the fourth term in the same way as the first term isrelated to

the second term and the fifth term is related to the sixth term?

36:2::7:5::81:3
1. 100
#K2.125
«#3.225
#<4.400

WW@WI)
3{SIcHT :a@f(Argentina:Peso)Ans
1.9 d1¥Y(Russia:Baht)
X 2 W:W(Nepal:Kyat)
X 3. ST e (Bangladesh:Schilling)
o 4. \_Fl'fqﬂ:a:l(Yen)

\

QuestionlD:264330144456
Option11D:264330566080
Option21D:264330566081
Option31D:264330566082
Option41D:264330566079

Status:Answered
ChosenOption:3

Q. 14IIUCTHPHTATAH T, WQTNW TP UIREITSHTE STHREGY
3TRANIG NCHIR) SR BTN HTURIRTH

QuestionlD:264330117401
Option11D:264330461648
Option21D:264330461647
Option31D:264330461645
Option41D:264330461646

Status:Answered
ChosenOption:4
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(qGHH(‘qu’HHIH|5¢QQ1906|C||Q'1H|56 )

&#1.20m
K2.15m
#53.40m
X4.30m

40mtIQ'1CII6 [thxdealldedle, 3’ﬁ?10mﬂ(’1dl6 |

2

QuestionlD:264330129767
Option11D:264330508302
Option21D:264330508301
Option31D:264330508299
Option41D:264330508300

Status:Answered
ChosenOption:1




UhDIAoThdIe.-daIGaaNTd SEST- SRITH!
. en(Ash“\fB)namrml% m%@%m
&W l wmehwiﬂu@a% 3Rag
|
IWAWH’JZIH?” TS aHUd- TSR [cHEHead AT

Ansa#1 HadT TR
X 2 TSR
X 3 T TSR
X 4 Had] AR

Questionl D:26433085702
Option1ID:264330336509
Option21D:264330336512
Option3ID:264330336511
Option41D:264330336510

Status:Answered

ChosenOption:1

Q.171In a certain code language, 'SEASON" is coded as ‘73", and ‘'SUMMER" is coded as '89". Howwill
'SPRING' be coded in that language?

Ans  X1.86
«2.83
#53.99
<4.105

QuestionlD:264330144596
Option11D:264330566642
Option2ID:264330566639
Option31D:264330566641
Option41D:264330566640

Status:Answered
ChosenOption:2

Q.18If A denotes ‘“+’, B denotes ‘x¢, C denotes ‘—’, and D denotes ‘+’, then what will come in placeof ¢?’
in the following equation?
(189A7)?(12A2)=14

Ans X1 A
X 2B
& 3D
X 4cC

QuestionlD:26433067675
Option11D:264330265212
Option21D:264330265213
Option31D:264330265215
Option41D:264330265214

Status:Answered

ChosenOption:3




0 19%@1@%@ uummmmé

$::n_ﬁg:q
q .98 |
H‘J-W:IBFITQ;::@E |

IPY: )

Ans X1 PITHYUIGTHRATR
X 2HITTDY BT
3TN RSB TR
X 4 THYSIRIGHUEHRAE

IRRRR RN B YHYBTAHHTY UTd Hd 82

Questionl D:264330144658
Option1ID:264330566887
Option21D:264330566888
Option31D:264330566890
Option41D:264330566889

Status:Answered
ChosenOption:3

Q.20Which of the following numbers will replace the question marks (?) in the given series?243,
162,108, ?, 48, 32

Ans  X1.84
52.98
X3.76
.72

QuestionlD:26433097281
Option1ID:264330381822
Option21D:264330381821
Option31D:264330381824
Option41D:264330381823

Status:NotAnswered
ChosenOption:--




Q2 wep g gt Hr AT Rufaar & 7€ & A 38T T Fow & fauda arer

Foleh 9T hieT-TT H&R em?

B F D
&
c|®)| B c|E

Ans X 1D
o 2.C
X 3E
X 4F

\

Questionl D:26433069250
Option11D:264330271513
Option21D:264330271512
Option31D:264330271514
Option41D:264330271515

Status:Answered

ChosenOption:2

Q273 TR TP UBTIITDRR ST TeRIA G T ARG HAIUB ST PHRle
1HERITR
2. 9q
3. TS
4.5
5. 3
Ans  X1.1,2,3,5,4
X2.1,4,2,3,5
#3.1,4,2,5,3

54.1,2,54,3

QuestionlD:264330131975
Option11D:264330516997
Option21D:264330516996
Option31D:264330516995
Option41D:264330516998

Status:Answered

ChosenOption:3




Q23T+ BIHY -, + BTN xG, ~PIHY G, X BT+, A AT TG THIBRT
CAEREEEY!
Ans  X1.12+20x12-7+2=34
o#2.12+20x12+7-2=34
K3.12x20+12+7-2=34
K4.12x20+12+7-2=34

Questionl D:264330130219
Option1ID:264330509990
Option21D:264330509987
Option31D:264330509989
Option41D:264330509988

Status:Answered
ChosenOption:2

Q39 fadped &1 9T ST, § &1 715 AP H AR © (0 B AR T 9) |

)

Ans

XL

X2

x 4

QuestionlD:26433058109
Optionl1D:264330227423
Option21D:264330227422
Option31D:264330227421
Option41D:264330227420

Status:Answered

ChosenOption:3




complete the given pattern.

=2
B
xa&
x&

blanks below, will complete the letter series.
Q _UO_ET_OQE_U_QE__

OAns XLETQUTTOU
X 2. ETQTUOTU
/< 3. ETQUTQTU
o 4. ETQUTOTU

Q25 Select the figure from the options that can replace the question mark (?) and

QuestionlD:26433074807
Option1ID:264330293316
Option21D:264330293318
Option3ID:264330293317
Option41D:264330293319

Status:Answered

ChosenOption:2

Q.26Select the option that represents the letters that, when sequentially placed from left to rightin the

QuestionlD:26433068918
Option11D:264330270186
Option21D:264330270185
Option31D:264330270184
Option41D:264330270187

Status:Answered

ChosenOption:4




Q27 Which of the following option figures will complete the pattern in the figure given

below?

<3,

Questionl D:26433080582
Option11D:264330316264
Option21D:264330316262
Option31D:264330316263
Option41D:264330316261

Status:Answered

ChosenOption:2




Q269TdA B.C.D,E FIRGIRP SRGGARBUHUTHISE DT
BIBG IESIRAD ST AS
IR EHETATDEBTE

Ans X1 A

X 26
X 3c
o 4E

B T
::}.Hﬁws}mﬁaﬁﬂum@
Ans  XLT®Y 3R FUCHERAE
p S E L AT REERGI
o 3.%‘3{”3%”3[7111@:!@@’5'
X 4 PITTPYUTIDIAG

SO 1A D IFWDWHWZ@%E’IC@TGWW@%

QuestionlD:264330144642
Option1ID:264330566823
Option21D:264330566824
Option31D:264330566826
Option41D:264330566825

Status:NotAnswered
ChosenOption:--

QZQWW&ﬁmﬁﬁ?ﬁﬂml 1 |||§$f EEWWWQW

PAB?

QuestionlD:264330144583
Option11D:264330566590
Option21D:264330566587
Option3ID:264330566588
Option41D:264330566589

Status:Answered
ChosenOption:2




03039 HHTIGTRR, SNEUIUCIRIGJ HhaHFUCABIICHERATS [GFg HTGHMTCH BT UTeH B
]

JIG:
TSQPOM:zZY
w

Ans  X1.LIJH:0PQ

X 2. DEB: FED
X 3. ABD UG
& 4. CBZ:MLJ
QuestionlD:264330130718
Option11D:264330511984
Option21D:264330511985
Option31D:264330511983
Option41D:264330511986
Status:Answered
ChosenOption:4
Q3ITTTBIR S T,UVWTRX 3{CT- W&ngﬁw@r
3o, DUTBHIABITDU X I5Y 3D BIRYHHIIBIADBY | TP,
G CAR G EE R R G E R E R G R A L)
Ans  X1.U
X2t
o 3W
p AV,

QuestionlD:264330144624
Option11D:264330566752
Option21D:264330566751
Option31D:264330566754
Option41D:264330566753

Status:Answered

ChosenOption:2




Q.32Select the option figure that will replace the question mark (?) in the figure given below tocomplete
the pattern.

Ans

NN

QuestionlD:264330129660
Option11D:264330508006
Option21D:264330508007
Option31D:264330508008
Option41D:264330508009

Status:Answered

ChosenOption:4




Q333 TTH U [ATTPH 1Y, TG UITURIG o 3G T ATIe IGRTdTg S Hd 3foffer

1. Immature

2. Immune

3. Immeasurable
4. Immerse

5. Immediate

Ans  X1.1,3,4,5,2
X2.1,5,3,4,2
#3.1,3,5,4,2

K4.1,3,5,2,4

Questionl D:264330129550
Option1ID:264330507569
Option21D:264330507568
Option31D:264330507567
Option41D:264330507566

Status:Answered
ChosenOption:3

> : = : X
Q3 3Wﬂa§i%%qa5 aq?: GRS CISB_ d a?f‘aw e RN gl

149:68::179:?::187:106
Ans «"1.98

252.99
7<3.88
754.89

QuestionlD:26433078941
Option11D:264330309777
Option21D:264330309779
Option31D:264330309778
Option41D:264330309776

Status:Answered

ChosenOption:1




Q.35 Select the option figure which is embedded in the given figure as its part (rotation is NOT allowed).

/ NN

Ans

B
=
# -

QuestionlD:264330144807
Option1ID:264330567486
Option21D:264330567483
Option3ID:264330567484
Option41D:264330567485

Status:Answered
ChosenOption:3

Q.36Whichofthefollowingnumberswillreplacethequestionmark(?)inthegivenseries?

43,2,34,61,25,70
Ans  X1.51
K2.49
«”3.52
<a4.47

QuestionlD:26433091017
Option11D:264330357478
Option21D:264330357480
Option31D:264330357479
Option41D:264330357477

Status:Answered

ChosenOption:3




Q3 A paper is folded ax}d cut as shown below. How will it appear when unfolded?

/I\ /I\
N 7 N ’ N

AN z ! N ’ !
N / l 1 N / 1
> > >
’ v ’ » ’
s ’ * ’
’ ’ ’
’ ’ ’

Ans

X2

4.

L%

QuestionlD:264330103017
Option11D:264330404457
Option21D:264330404459
Option31D:264330404460
Option41D:264330404458

Status:Answered
ChosenOption:4

Q.38Arrangethefollowingwordsinalogicalandmeaningfulorder.
1. Dessert
2. Salad
3. Maincourse
4. Soup
5. Appetizer

Ans  X1.1,5,3,2,4
K2.1,3,5,2,4
X3.4,2,3,51
&4.4,523,1

QuestionlD:26433081459
Option11D:264330319669
Option21D:264330319671
Option31D:264330319672
Option41D:264330319670
Status:Answered
ChosenOption:4




Q.30UHTAGE HTHH INDIA" 1103 TEISIATG, 3R~ ARAB" T 190" TGTSITATS [STIHTAT
I RAATSITET

H"AFRICA" ?
Ans  K1.124

<2112
«#3.130
54.104

QuestionlD:264330144549
Option1ID:264330566451
Option21D:264330566453
Option31D:264330566452
Option41D:264330566454

Status:NotAnswered
ChosenOption:--

\

Q.40Select the option that is related to the fourth term in the same way as the first term isrelated to
the second term and the fifth term is related to the sixth term.

91:42::?:54::65:30
Ans  X1.104
K2.107
K3.127
4. 117

QuestionlD:264330144441
Option1ID:264330566022
Option21D:264330566020
Option3ID:264330566019
Option41D:264330566021

Status:NotAnswered
ChosenOption:--

_________________________________________________________________________________________|
Q.41Select the option that represents the correct order of the given words as they would appearin an

English dictionary.

1. Justice

2. Journal

3. Jurisdiction

4. Judgement

5. Journey

Ans  K1.1,2,3,4,5
#52.2,4,5,3,1
#3.2,5,4,3,1

#54.1,3,2,4,5

QuestionlD:264330132460
Option11D:264330518938
Option21D:264330518937
Option31D:264330518935
Option41D:264330518936

Status:Answered
ChosenOption:3




Ans

_GFFG_FFFG_GFFFF_G
GGAns X1.FFGG

X 2. FGGF
X 3. FGFG
o 4. FGGG

X_VUT_W_UT_WV_TX_VU_ Ans

KLWVXWTVU
o 2. WXVXUWT
53 XWUXWTV

4 VWXUXTX

M
Yhr46d

X1pevipA
X2b6BM1hyY
Xsdapady
v bapidyY

Q.42Select the option that represents the letters that, when placed from left to right in the blanksbelow,
will complete the letter series.

QuestionlD:264330144619
Option1ID:264330566733
Option21D:264330566732
Option3ID:264330566734
Option41D:264330566731

Status:NotAnswered
ChosenOption:--

Q.43Select the option that represents the letters that, when placed from left to right in the blanksbelow,
will complete the letter series.

QuestionlD:264330144495
Option1ID:264330566238
Option21D:264330566235
Option31D:264330566236
Option41D:264330566237

Status:Answered
ChosenOption:2

Q.44 Select the correct mirror image of the given figure when the mirror is placed at MN as shown below.

QuestionlD:26433056962
Option11D:264330222834
Option21D:264330222833
Option31D:264330222832
Option41D:264330222835

Status:Answered

ChosenOption:4




Q.45If A denotes ‘x’°, B denotes ‘+’, C denotes ‘—’ and D denotes ‘+’, then what will be the value ofthe
following equation?
10A660D11B50C50

Ans  4#1.600
52.602
#53.606
4.598

Questionl D:264330133251
Option11D:264330522054
Option21D:264330522052
Option31D:264330522051
Option41D:264330522053

Status:Answered
ChosenOption:1

\

Q.46Select the option that is related to the fifth term in the same way as the second term isrelated to the
first term and the fourth term is related to the third term.
22:369::31:522::17:?

Ans  X1.277
K2.274
<3.281
4. 284

QuestionlD:26433078884
Option11D:264330309549
Option21D:264330309548
Option31D:264330309550
Option41D:264330309551

Status:NotAnswered
ChosenOption:--

\

Q.47Which of the following numbers will replace the question mark (?) in the given series?485, 528,
577,?,677

Ans  X1.598
X2.621
3.624
X4.645

QuestionlD:26433082424
Option11D:264330323529
Option21D:264330323531
Option31D:264330323530
Option41D:264330323532

Status:NotAnswered
ChosenOption:--




A 20mIAAE - %10mﬁ%lm§aﬁ%$20m$

Ans  X1.62m

X2.68m
53.65m

«#4.60m

\

Questionl D:264330130193
Option1ID:264330509884
Option21D:264330509886
Option31D:264330509885
Option41D:264330509883

Status:Answered
ChosenOption:4

Q.49If*+’means‘+’,“’means‘+’,*x’means’,and*‘+’means‘x’,thenwhatwillbethevalueofthe following
expression?
[{(22x15)-(1+9)}+(2-2)]+2

Ans  471.8
2.6
X3.12
#K4.10

\

QuestionlD:264330131556
Option11D:264330515327
Option21D:264330515330
Option31D:264330515329
Option41D:264330515328

Status:Answered
ChosenOption:1

Q.50Which of the following terms will replace the question mark (?) in the given series?VURS,
POLM, JIFG, DCZA, ?

Ans  X1.XYTU
K 2. wyuTt
& 3. XWTU
X 4. WXTU

QuestionlD:26433089475
Option11D:264330351402
Option21D:264330351401
Option31D:264330351404
Option41D:264330351403

Status:Answered

ChosenOption:3

Section:General Awareness




Q.1 TRNAB ATITTHEG A1 [IBTIR IKT82Ans

1. 3Rd
p AL

K 3%CIR
X 435S

Ans oL CTYHOIUTTII
X 23U
X ISRTRDE TG
X 4B ARATHSUTIITeA

Q2UTHAIRIZS, e JAB TR FUTSTHTSTATS |

0319483 TH U ABTHTASTTUA
Ans ?ﬁﬁa@q

2,196

X 3.3

K4 TYg

QuestionlD:264330111557
Option11D:264330438316
Option21D:264330438315
Option31D:264330438314
Option41D:264330438313

Status:Answered
ChosenOption:4

QuestionlD:264330111558
Option1ID:264330438317
Option21D:264330438318
Option31D:264330438320
Option41D:264330438319

Status:Answered
ChosenOption:1

Ell

QuestionlD:264330110335
Option11D:264330433619
Option21D:264330433617
Option31D:264330433618
Option41D:264330433620

Status:Answered
ChosenOption:4




Q4315 AR 2023 MR G el TR NGB AT TN TUHTE ARG S AR R MR AR TI UG
FAGAHAB b DB UGl ddh?

Ans L IRFARIGIYRT
X 2 ORI GRIHRA
X 3. TRIEC IHRA
X 4 TRSTHH RHRA

Questionl D:264330132576
Option1ID:264330519399
Option21D:264330519402
Option31D:264330519400
Option41D:264330519401

Status:Answered
ChosenOption:1

Q.57 TG BN, FAIATDIHYDRIAYTIH BISYTIHADINI2Ans K 1.

1994
2. 2005
#53.1957
<4.2016
QuestionlD:26433086816
Option11D:264330340906
Option21D:264330340907
Option31D:264330340905
Option41D:264330340908
Status:Answered
ChosenOption:2
Q. eur{aﬁuwmm@&rﬂwwwmmw

RYNIGISEARS |
Ar x1 ¥5,00,000

2. %2,00,000
- 23,00,000

x4 34,00,000

QuestionlD:26433064491
Option11D:264330252559
Option21D:264330252556
Option31D:264330252557
Option41D:264330252558

Status:NotAnswered
ChosenOption:--




Q.7a1C D IRAG YU TUTAD Cal ST THY B STHE 2Ans x
1. dIdqarg

X 27dRan

o 3.0TSRTRRT

X 4geE

Questionl D:264330109910
Option11D:264330431919
Option21D:264330431917
Option31D:264330431918
Option41D:264330431920

Status:Answered
ChosenOption:3

Q-8WWWWETEW(PTGSMGHOW?AHS X
LXADPRIgTHT

p QP R:CAREE

< 3. T (L Murugan)

o 4 ﬁlhm(SubhoRay)

QuestionlD:264330156959
Optionl1ID:264330615214
Option21D:264330615211
Option3ID:264330615213
Option41D:264330615212

Status:NotAnswered
ChosenOption:--

Q. STTIRAB RIS YPRTSTD SUTR B ARSI ONTD B IHTIUT2Ans 21
Hft

X 2 YR
o 3,309
< 4P

QuestionlD:264330112128
Option11D:264330440597
Option21D:264330440600
Option31D:264330440599
Option41D:264330440598

Status:Answered
ChosenOption:3




Q LT TETHYD - FaTe SR TeTeTge .
Ans XK1 T

 298H

X 3lel

x PR= it

Q LIS TTAD APTAES H AT B TR TR - TR G tragedy
inunpreparedness)P g N TUT TG h AdTSATIT?

Ans  X1.1868
#52.1860
3.1943
<4.1876

Ans X LUTHACTHAIIN
X 2 UTggeId
o 3 TTTEATG AR
X 4 TAITE WR

Questionl D:264330131682
Option11D:264330515827
Option21D:264330515829
Option31D:264330515828
Option41D:264330515830

Status:Answered
ChosenOption:2

QuestionlD:264330112164
Option1ID:264330440742
Option21D:264330440741
Option31D:264330440744
Option41D:264330440743

Status:Answered
ChosenOption:1

Q.1231gTR 20227 TR BRI R BT TG R UTH) S LTIH(UAP A) TR HR UGS
%&rwﬂ%ﬂuﬁw?

\

QuestionlD:264330137297
Option11D:264330537817
Option21D:264330537816
Option31D:264330537815
Option41D:264330537818

Status:NotAnswered
ChosenOption:--




Q. 13HRAGHIYHBFCRITHID -1 & TR BRIYB AP TGaTRARIH
FUTIDRUGHIRAG?

Ans P13 G2
X 2. 3 %S
X 3. 3G
X 4.3 %%

Questionl D:264330130449
Option1ID:264330510908
Option21D:264330510909
Option31D:264330510907
Option41D:264330510910

Status:NotAnswered
ChosenOption:--

Q.14TRAR 120230 SATIRTh RTINS TGRIBRRATAR T
TIHATTARIT?
Ans  X1ITHd BIdAT
" 2.&T&TEI§HE&W
X 3RS
PRGNSR

QuestionlD:264330137293
Option1ID:264330537801
Option21D:264330537800
Option31D:264330537802
Option41D:264330537799

Status:Answered
ChosenOption:2

0.151875HS SUTANTR TR T 2 Ans
X1 ETGTHIE ARSI
X 2.3fFHETaN
25 3.THUAEA
 (SRRGARGY

QuestionlD:264330109046
Option11D:264330428464
Option21D:264330428461
Option31D:264330428462
Option41D:264330428463

Status:Answered
ChosenOption:1




Ans

Ans

Q 165 TYFH TAGATID IS

& LIRT
P WLNICS

X 3TORT
P RIICI]

FITREIHRSTHRIRAT
Xl,&[a?:::-_c{ﬂA(d)
o 2. TE1A)
X 3. 3TE51A()
X 4. 3TTB1AR)

Q. 6T TRIS T 1 2021 % SR 7 TAGTHI PRGN H RIS Tae HH 52

Questionl D:264330157100
Option11D:264330615772
Option21D:264330615773
Option31D:264330615774
Option41D:264330615771

Status:Answered
ChosenOption:4

\

QuestionlD:264330113361
Option1ID:264330445529
Option21D:264330445532
Option31D:264330445531
Option41D:264330445530

Status:NotAnswered
ChosenOption:--

~

QuestionlD:264330112765
Option11D:264330443146
Option21D:264330443145
Option31D:264330443148
Option41D:264330443147

Status:Answered
ChosenOption:3




Q.191In email, what does the acronym ‘CC’ stand for? Ans
#<1. Content copy

«# 2. Carboncopy
#5 3. Communicationchannel

#X 4. Checkcopy

Ans  #K1.9lc-oed
o 2
X sgmt
X 4 TR

Ans  AK1.1-10m
&#2.200 — 3000 m
£53.100 - 200 m

754.10-100m

Q.21'1:|—E>'Tl:'l)f{r(‘ATf'f(continentalslope)$\3'ﬁg?|""f§5?|—$aF

QuestionlD:264330168571
Option1ID:264330661097
Option21D:264330661095
Option31D:264330661096
Option41D:264330661098

Status:Answered
ChosenOption:2

Q.2098RH, 3T

QuestionlD:26433090719
Option1ID:264330356300
Option21D:264330356299
Option3ID:264330356298
Option41D:264330356297

Status:Answered

ChosenOption:1

CLIERKIE]

QuestionlD:264330131748
Option11D:264330516091
Option21D:264330516094
Option31D:264330516093
Option41D:264330516092

Status:NotAnswered
ChosenOption:--




23RS HINTAYR TS IdST TS TSRO
A FAYFHI YT TIARTB TS 20|

Ans  #1.89d
7 2.86d
X 3.929
X 4.83d
Questionl D:264330130464
Option11D:264330510969
Option21D:264330510968
Option31D:264330510970
Option41D:264330510967
Status:Answered
ChosenOption:1
Q.3 URARITITTE aH THITSITATR 2Ans
1,203 d
X 2. 263{7d
25 3. 273{7d
25 4. 283(7d

QuestionlD:264330119263
Option1ID:264330467339
Option21D:264330467342
Option31D:264330467341
Option41D:264330467340

Status:Answered
ChosenOption:1

Q24T BTASTHIA HERHR AT R USRI e e 2Ans X1
HTeed

o 2TTHAH

X 3.3

X 4dH

QuestionlD:264330113307
Option11D:264330445315
Option21D:264330445316
Option31D:264330445314
Option41D:264330445313

Status:Answered
ChosenOption:1
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Ans  XKli-aii-bjiii-civ-d
7< 2. i-aji-c,iii-b,iv-d
X 3. i-djii-c,jii-b,iv-a
o 4. ibjii-ciii-div-a

QuestionlD:264330112834
Option11D:264330443421
Option21D:264330443422
Option31D:264330443424
Option41D:264330443423

Status:Answered
ChosenOption:4
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Ans  X1Hd (SAMBHAV)
&K 2. qH(SAKSHAM)
5 3. W(SAMVEDNA)
o 4. GHY(SAMARTH)

QuestionlD:264330156921
Option11D:264330615060
Option21D:264330615061
Option31D:264330615062
Option41D:264330615059

Status:Answered
ChosenOption:2
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Questionl D:264330134854
Option1ID:264330528353
Option21D:264330528354
Option31D:264330528352
Option41D:264330528351

Status:Answered
ChosenOption:1
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Q.28 Mg T HTd AT R A S TG a IR A B RUSTAl-SaId(Watermovement)
G2l RIS

Ans K 1.dTCC(waterfront)
o 2. 1:I_Eﬁ'»t[(surges)
K 3. \?hmf?f(oceanfront)
< 4 W(mvefront)

QuestionlD:264330131738
Option1ID:264330516054
Option2ID:264330516052
Option31D:264330516053
Option41D:264330516051

Status:Answered
ChosenOption:4
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Ans  K1.330-3500HTG
o 2. 215-20dd HIg
X 3. 220-250d HIG
& 4. 710-15dd Hig

QuestionlD:264330111355
Option11D:264330437508
Option21D:264330437506
Option31D:264330437507
Option41D:264330437505

Status:Answered
ChosenOption:2




Ans XLW(EIectrodynamometer)

X2 TIPSR (Point-contacttransistor)
o 3. aﬂ:ﬁﬂa (Oscillationvalve)
X 4. W (Voltaicpile)
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QuestionlD:264330141672
Option1ID:264330555010
Option21D:264330555007
Option31D:264330555008
Option41D:264330555009

Status:Answered
ChosenOption:2

QuestionlD:264330120049
Option11D:264330470454
Option21D:264330470453
Option31D:264330470452
Option41D:264330470451

Status:Answered
ChosenOption:3

QuestionlD:264330109055
Option11D:264330428498
Option21D:264330428499
Option31D:264330428497
Option41D:264330428500

Status:Answered
ChosenOption:3
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Ans 1. Public-key encryption
#< 2. Hashing
X 3. Asymmetricencryption

" 4. Symmetric encryption

Ans leﬂﬁ%ﬂm
p I [ ontam [
X 3o
x 4 AiqaTeg
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QuestionlD:264330144414
Option1ID:264330565912
Option21D:264330565911
Option31D:264330565914
Option41D:264330565913

Status:Answered

ChosenOption:3

Q.34Which cryptographic technique uses a single key for both encryption and decryption ofdata?

QuestionlD:264330168586
Option1ID:264330661158
Option21D:264330661156
Option31D:264330661155
Option41D:264330661157

Status:Answered

ChosenOption:2

Q35T AETHY B H-IRITICTHA-ABTHRBH (v AD) P PRUSTG AR TS
W IHABRAT

QuestionlD:264330110072
Option11D:264330432566
Option21D:264330432565
Option31D:264330432568
Option41D:264330432567

Status:Answered

ChosenOption:1
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a amam
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< 3.3 HATe PRI
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#51.988 C.E.
«#2.985 C.E.
#53.983 C.E.
#X4.980 C.E.
QuestionI D:26433089870
Option11D:264330352960
Option21D:264330352957
Option31D:264330352959
Option41D:264330352958
Status:NotAnswered
ChosenOption:--
Q3RTIPACAAC1959H HISUNTIIAGANTITYT|
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o 4. ST

QuestionlD:264330113274
Option11D:264330445181
Option21D:264330445182
Option31D:264330445184
Option41D:264330445183

Status:Answered
ChosenOption:3
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QuestionlD:264330119821
Option11D:264330469559
Option21D:264330469561
Option31D:264330469562
Option41D:264330469560

Status:Answered
ChosenOption:1
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Questionl D:264330119235
Option11D:264330467230
Option21D:264330467229
Option31D:264330467227
Option41D:264330467228

Status:Answered
ChosenOption:1

QuestionlD:26433064802
Option1ID:264330253800
Option21D:264330253803
Option31D:264330253802
Option41D:264330253801

Status:Answered

ChosenOption:1

QuestionlD:26433086623
Option11D:264330340134
Option21D:264330340135
Option3ID:264330340136
Option41D:264330340133

Status:Answered

ChosenOption:3




Q42 ABTCTBHCHATTRITHID M-I YTHEE STPUGTHR |

.ﬁwnﬁﬂﬂmmaﬁasﬁﬂa%
3 BRABUN (Pamba) TEISTS SRS |
Ans  X1P 3R

X 2Ha3R3

X 3Paa13R3
#41231R 3

17 3=
X 2RI
X 3TTIRERE
g 4._\{6313?@1?[

1 PRAPUSITGEHRATH Bharathapuzha) - THTS URTS U UG el g |

Questionl D:264330121489
OptionlID:264330476141
Option21D:264330476139
Option31D:264330476140
Option41D:264330476142

Status:Answered
ChosenOption:4
QURAIIAH IS TAGUGYT TGP - AGHTATHAdgAns X LT
o 2 TGRS IR HEI Gl
X 3 TYHRU] FIHUH YD RRITTGHI
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QuestionlD:264330120158
Option11D:264330470887
Option21D:264330470889
Option31D:264330470888
Option41D:264330470890
Status:Answered
ChosenOption:3
QUGS STTIEHUGTAIR SHHTHRAHTSUAHIRS UIeTeidlg?Ans X

QuestionlD:264330138060
Option11D:264330540847
Option21D:264330540849
Option31D:264330540848
Option41D:264330540850

Status:Answered

ChosenOption:4
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QuestionlD:26433071512
Option11D:264330280472
Option21D:264330280475
Option31D:264330280474
Option41D:264330280473

Status:Answered

ChosenOption:2
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X 3T Qe
< 4 3R et

QuestionlD:26433072653
Option1ID:264330284873
Option21D:264330284872
Option31D:264330284875
Option41D:264330284874

Status:Answered

ChosenOption:3

QATHIADHRIHATDH U YT URATHR B SITH A6 g 2Ans
e T

X 2.3THTS
X 3R
X 4.0TRAST

QuestionlD:264330131107
Option11D:264330513540
Option21D:264330513539
Option31D:264330513542
Option41D:264330513541

Status:Answered
ChosenOption:1
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Questionl D:264330132580
Option11D:264330519415
Option21D:264330519416
Option31D:264330519418
Option41D:264330519417
Status:Answered
ChosenOption:4
Q.491990WWW W,mﬁlﬁml
Ans  X1.50%
K2.57%
X3.45%
4. 65%
QuestionlD:264330144391
Option1ID:264330565820
Option21D:264330565821
Option31D:264330565819
Option41D:264330565822
Status:Answered
ChosenOption:4
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QuestionlD:26433074868
Option11D:264330293561
Option21D:264330293562
Option31D:264330293563
Option41D:264330293560

Status:Answered

nOption:1

Section:GeneralEngineeringCivilandStructural




The total head that must be produced by the pump to satisfy the specific externalrequirements
lis called the

Ans &1 manometric head
#5 2. static head
25 3. suction head
< 4. dynamic head

QuestionlD:26433091151
Option1ID:264330358015
Option21D:264330358013
Option31D:264330358016
Option41D:264330358014

Status:Answered

ChosenOption:1

A centrifugal pump with the impeller diameter of 125 mm delivers a power of 10 hp. If theimpeller
diameter is changed to 250 mm, what will be the power delivered by the pump ifother parameters are

kept constant?
Ans  #51.100 hp
& 2.80hp
" 3.40hp
#54.120 hp

QuestionlD:264330158965
Option1ID:264330623219
Option21D:264330623222
Option31D:264330623220
Option41D:264330623221

Status:Answered
ChosenOption:3

Q.3Thecoefficientofthevolumechangem,jisgivenby

Ans . _Ae
f e
o
. 1
e Hp= Ao’
. —Ae 1
My = —
Ko =g e, Ao
. —Ae 1
4. - —
M g e, Ao’

QuestionlD:26433099821
Option11D:264330391882
Option21D:264330391881
Option31D:264330391883
Option41D:264330391884

Status:Answered

ChosenOption:4




Q.41n case of a remote sensing system, which of the following factors does NOT affect theproperty of a
reflected incident radiation?

Ans K1 Angle of incident radiation
X 2. Roughnessofthesurface
& 3. Wavelengthofradiation

4" 4. Typeofelectromagneticradiation

Questionl D:264330159301
Option1ID:264330624565
Option21D:264330624566
Option31D:264330624564
Option41D:264330624563

Status:Answered
ChosenOption:2

Q.5Select the anthropogenic source of air pollution from the given options.Ans
" 1. Burning of fossil fuels

#< 2. Duststorms
25 3. Volcanoes

75 4. Forestfires

Questionl D:26433095911
Option1ID:264330376415
Option21D:264330376414
Option31D:264330376413
Option41D:264330376416

Status:Answered

ChosenOption:1

Q.6 Theoptimumwatercontent(OWC)isthemoisturecontentatwhichthesoilattains
Ans &1 maximum dry density

5 2. maximumwatercontent
& 3. minimumdrydensity
X 4. fullysaturateddensity

QuestionlD:26433099823
Option1ID:264330391890
Option21D:264330391891
Option3ID:264330391839
Option41D:264330391892

Status:Answered

ChosenOption:1




Q.7Pycnometer, wire mesh bucket and water are used to calculate which characteristicproperty of
the coarse aggregate?

Ans X1 Crushing strength
5 2. Attrition
& 3. Impactvalue
" 4. Specificgravity

Questionl D:264330100156
Option1ID:264330393199
Option21D:264330393200
Option31D:264330393197
Option41D:264330393198

Status:Answered
ChosenOption:4

Q.8A trapezoidal section is of depth ‘y’, base ‘B’ and side slope ‘Z’. Find the wetted perimeter ofthe
trapezoidal section.

ANs o1 B+ 2y(1+ 29)M?
K2, 2y(1 + ZHY?
X3.B+y(+2z)Y2

X4y + 212

Questionl D:264330162660
Option1ID:264330637961
Option2ID:264330637962
Option31D:264330637960
Option41D:264330637959

Status:Answered
ChosenOption:1

Q.9Iftensilestressdevelopsatthebaseofafulldam,itwillbefirstobservedatthe:

Ans <1 mid-point of the base width
" 2. heel
< 3. gallery

K 4. toe

QuestionlD:26433099378
Option11D:264330390127
Option21D:264330390126
Option3ID:264330390128
Option41D:264330390125

Status:Answered

ChosenOption:2




Q.10Asper1S800:2007,incaseofdesignofsteelbeams,thepermissiblebendingstressin
tensionandthepermissiblebendingstressincompressionshouldNOTexceed times
of the yield stress (fy) of steel in a plastic and compact section while the beam is

laterallysupported.

Ans  X1.045
«#2.0.66
#53.0.75
#<4.0.60
QuestionlD:264330159689
Option11D:264330626116
Option21D:264330626117
Option31D:264330626118
Option41D:264330626115
Status:Answered
ChosenOption:4
Q.11Side face reinforcement is PROVIDED in a beam when the depth of the web exceeds mm
Ans  XK1.250
#52.150
«#3.750
2<4.300

QuestionlD:26433099428
Option1ID:264330390326
Option21D:264330390325
Option31D:264330390328
Option41D:264330390327

Status:Answered

ChosenOption:3

Q.12The captain in a vessel 0.016 km above the sea level observes a 0.144 km tall lighthouse ona port
just above the horizon. The distance of the vessel from the port, considering bothcurvature of the
Earth and refraction, is

Ans  #51.161.68 km

#52.116.68 km
«#3.61.68 km

#54.16.68 km

QuestionlD:264330160608
Option11D:264330629763
Option21D:264330629766
Option31D:264330629765
Option41D:264330629764

Status:Answered
ChosenOption:3




Ans

Ans

Ans

solid waste management?
¥ 1. Recover

#5 2. Reuse
25 3. Reduce
< 4. Recycle

Q.14AsperlS:2386(PartlV)-1963,theaggregatecrushingvalueshalINOTexceed
concreteforwearingsurfaces,suchasrunways,roadsandpavements.

K1.10%
#252.20%
3. 30%
54, 40%

has been achieved is/are:
751, direct shear test

#5 2. compaction testandtriaxial sheartest
#5 3. consolidation test

" 4. moisturecontentandfielddensitydeterminationtest

Q.13Which of the following options is NOT considered as a component of the 3R principles ofmunicipal

Questionl D:26433095925
Option11D:264330376470
Option21D:264330376469
Option31D:264330376472
Option41D:264330376471

Status:Answered

ChosenOption:1

for
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QuestionlD:264330157866
Option1ID:264330618823
Option21D:264330618824
Option31D:264330618825
Option41D:264330618826

Status:Answered
ChosenOption:3

Q.15After compacting the subgrade, by suitable methods, the tests to ensure that the desiredcompaction

QuestionlD:26433086533
Option11D:264330339775
Option21D:264330339774
Option3ID:264330339773
Option41D:264330339776

Status:Answered

ChosenOption:3




Ans

Ans

Ans

OPC with the same water content?
«#1. Rapid hardening Portland cement

X 2. Portlandpozzolana cement
/5 3. OrdinaryPortlandcement

25 4. Portlandslagcement

Q.17Duringconstruction,lightweightaeratedconcreteblocksaremostlyusedfor:

Z<1. foundation
X 2. shear walls
/5 3. loadbearingwalls

" 4. partitionwalls

to be 998 kg/m3.
«71.0.816

£52.0.846
#53.0.786
754.0.856

Q.16Which of the following types of cement gives 1-day strength that is equal to the 3-daystrength of

Questionl D:264330160746
Option11D:264330630316
Option21D:264330630315
Option31D:264330630318
Option41D:264330630317

Status:Answered
ChosenOption:1

QuestionlD:26433099478
Option1ID:264330390527
Option21D:264330390528
Option31D:264330390525
Option41D:264330390526

Status:Answered

ChosenOption:4

Q.182 litres of an oil weigh 16 N. Calculate the specific gravity of the oil. Consider the density ofwater

QuestionlD:264330158994
Option11D:264330623335
Option21D:264330623338
Option31D:264330623336
Option41D:264330623337

Status:NotAnswered
ChosenOption:--




Q.19 isaparameterthatatotalstationusuallydoesNOT measure.
Ans 1. Horizontal angle

«# 2. Horizontaldistance
X 3. Slopedistance
/X 4. Verticalangle

Questionl D:264330159305
Option11D:264330624579
Option21D:264330624582
Option31D:264330624581
Option41D:264330624580

Status:Answered
ChosenOption:3

Q.20Under properly controlled combustion and temperature, what is the percentage of silicacontent
that can be obtained from rice husk ash?

Ans X1 57% — 68%
w2 85% — 95%
X3 40% — 50%
4. 60% — 70%

QuestionlD:26433099402
Option1ID:264330390223
Option21D:264330390221
Option31D:264330390224
Option41D:264330390222

Status:Answered

ChosenOption:1

\ J

-
Q.21Which of the following types of signs are used for place identification and route marking? Ans

1. Informatory signs
< 2. Warningsigns
25 3. Regulatorysigns
25 4. Prohibitorysigns

QuestionlD:264330157180
Option11D:264330616084
Option21D:264330616085
Option31D:264330616083
Option41D:264330616086

Status:Answered
ChosenOption:1




Q.22There are numerous benefits of irrigation like increase in food production, development ofthe
area and social upliftment of the people. One of the harmful effects of irrigation is
Ans 1. control of floods
" 2. mosquitobreedingandincidenceofmalaria
X 3. protectionfromfamine

25 4. ruralisation

QuestionlD:264330158547
Option11D:264330621549
Option21D:264330621548
Option31D:264330621550
Option41D:264330621547

Status:Answered
ChosenOption:2

Q.23Ifapersonstudiesaboutafluidwhichisatrest,thestudyiscalled:
Ans X1 fluid kinematics

# 2. fluidmechanics
25 3. fluiddynamics

o 4. fluidstatics

QuestionlD:264330158985
Option11D:264330623302
Option21D:264330623300
Option31D:264330623299
Option41D:264330623301

Status:Answered
ChosenOption:4

Q.241f a liquid enters a pipe of diameter ‘d’ with velocity ‘v’, then what will be its velocity at theexit if
the diameter of the pipe reduces to 0.5d?

Ans  X1.v
K2.05v
K 3. 2v
o 4 A

QuestionlD:264330158951
Option11D:264330623163
Option21D:264330623164
Option31D:264330623165
Option41D:264330623166

Status:NotAnswered
ChosenOption:--




Q.25

Ans

Find the support reactions acting on the given simply supported beam of length 6
m, which is subjected to a uniformly distributed load of intensity 20 kN/m on the
left half span as shown in the diagram.

25 2. Scaleofchords
4" 3. Diagonal scale

#5 4. Vernier scale

CNY NV YN
lé |
I 6m "l
Ans  2K1.30kN(left), 30kN(right)
X 2. —20kN(left),80kN(right)
o 3. 45kN(left),15kN(right)
25 4. 15kN(left), 45kN(right)
Questionl D:26433099371
Option1ID:264330390099
Option21D:264330390100
Option31D:264330390098
Option41D:264330390097
Status:Answered
ChosenOption:3
Q.26 isatypeofscaleonwhichthreesuccessivedimensionscanbemeasured.
Ans XI. Engineer’s scale

QuestionlD:264330159307
Option11D:264330624587
Option21D:264330624590
Option31D:264330624588
Option41D:264330624589

Status:Answered

ChosenOption:3

Q.27Which of the following is an adsorption unit used for controlling gaseous pollutants inindustries?

251, Venturi scrubber
5 2. Spraytower
«” 3. Activatedcarbonunit

/5 4. Platetower

QuestionlD:264330160682
Option11D:264330630061
Option21D:264330630060
Option31D:264330630059
Option41D:264330630062

Status:Answered

ChosenOption:3




Ans

Ans

Ans

reinforcing bars do NOT exceed 12 mm, the nominal cover used is
2<1.20mm

&K 2. 50mm
& 3. 25mm
25 4. 40mm

accountable for the problem of water hammer is

w# 1. density
X 2. fluidity
#5 3. surfacetension

25 4. viscosity

Q.30Thevalueofaveragebondstresstpgdependson

#51. Steel strength and Area of bar
X 2. Concretestrengthand Areaofbar
/5 3. ConcretestrengthandSteelstrength

«# 4. Concretestrengthandtypeofbar

Q.28As per IS 456:2000, in the case of columns of minimum dimension of 200 mm or under,whose

Questionl D:264330100810
Option11D:264330395787
Option21D:264330395788
Option31D:264330395786
Option41D:264330395785

Status:Answered
ChosenOption:3

Q.29Highwaterhammerpressurecancausebreakageanddamagetoapipeline. Thepropertyofa fluid which is

QuestionlD:26433088716
Option1ID:264330348423
Option21D:264330348424
Option31D:264330348421
Option41D:264330348422

Status:Answered

ChosenOption:3

QuestionlD:26433099427
Option1ID:264330390323
Option21D:264330390322
Option3ID:264330390324
Option41D:264330390321

Status:Answered

ChosenOption:1




Ans

Ans

Ans

Q.31If detailed drawings are not available, the steel reinforcement may be

calculatedapproximately on the percentage basis of __ _.
¥ 1. concrete

X 2. brickwork
25 3. sizeofbending
#5 4. heightofbuilding

Q.32According to 1S 456:2000, for a cantilever beam the effective length of the cantilever shallbe taken

as:
¥ 1 clearspanofthebeam-+halftheeffectivedepth

25 2. clearspanofthebeam-+halfthewidthofthesupport
25 3. clearspanofthebeam-+widthofthesupport

#< 4. clearspanofthebeam+effectivedepth

Q.33Whichofthefollowingmethodsisusedformeasuringearthwork?

qfl.AreaandvqumeshalIbenearestworkedoutto0.0lmzand0.0lm?’
X 2. Volumeshallbeworkedouttonearestto0.02m®

#5 3. Areaandvolumeshallbeworkedouttonearestto0.03mand0.03m

< 4 Theareashallbeworkedouttonearestto0.02m?

Questionl D:26433099329
Option1ID:264330389929
Option21D:264330389931
Option31D:264330389930
Option41D:264330389932

Status:Answered

ChosenOption:1

QuestionlD:264330100801
Option1ID:264330395749
Option2ID:264330395751
Option31D:264330395752
Option41D:264330395750

Status:Answered
ChosenOption:1

QuestionlD:264330159813
Option11D:264330626599
Option2ID:264330626601
Option31D:264330626600
Option41D:264330626602

Status:Answered
ChosenOption:1




Q.34The length of a long wall in the long and short wall method of estimation is centre to centredistance
between the walls and

Ans #51. one-fourth width of wall on each side
" 2. halfofitswidthoneachside
& 3. widthofthewall
25 4. one-thirdwidthofwalloneachside

Questionl D:264330159809
OptionlID:264330626584
Option21D:264330626585
Option31D:264330626586
Option41D:264330626583

Status:Answered

ChosenOption:2

Q.35Which of the following is a rain gauge adopted as the standard recording type rain gauge inlndia?
Its details are described in 1S: 5253-1969.

Ans  #51. Tipping-bucket type rain gauge
«" 2. NaturalsyphonorFloattyperaingauge
#< 3. Tipping&weighingrain gauge
< 4. Weighing-buckettyperaingauge

QuestionlD:264330160581
Option1ID:264330629655
Option21D:264330629657
Option31D:264330629658
Option41D:264330629656

Status:Answered

ChosenOption:2




Q.36

inertia about the diametrical axis as shown below?

Ans . TI:D4

Q.37Toavoidgasbounding,thepumpis:
Ans X1 elevated

25 2.charged
«# 3.primed
& 4.heated

A semicircular lamina has radius R and diameter D. Determine the moment of

Questionl D:26433088031
Option1ID:264330345738
Option21D:264330345740
Option31D:264330345737
Option41D:264330345739

Status:Answered

ChosenOption:1

QuestionlD:264330158968
Option11D:264330623232
Option21D:264330623234
Option31D:264330623233
Option41D:264330623231
Status:Answered
ChosenOption:3




Q.38The vertical distance between the centre line of a pump and the point of delivery is knownas

Ans 1. delivery hea
X 2. Totalhead
25 3. suction head
< 4. dynamic head

Questionl D:264330160569
Option11D:264330629608
Option21D:264330629607
Option31D:264330629609
Option41D:264330629610

Status:Answered
ChosenOption:1

Q.39Selectthecorrectoptionforthegivenstatements.

Statement 1: The placing of veneers normal to each other increases the longitudinal
andtransverse strength of plywood.
Statement2:Plywoodpossessesuniformtensilestrengthinalldirections.

Ans 1 Bothstatementlandstatement2aretrue

< 2. Bothstatementlandstatement2arefalse
< 3. Statement listrueandstatement 2isfalse
< 4. Statementlisfalseandstatement2istrue

QuestionlD:264330157855
Option11D:264330618779
Option21D:264330618780
Option31D:264330618781
Option41D:264330618782

Status:Answered
ChosenOption:1

Q.40Which of the given options is NOT recommended as a desirable property of the transportingtruck
used for collection of municipal solid waste?

Ans £ 1.Strength and durability
5 2. Water-tightness
4 3. Sharpcornersand edges

#5 4. Madeofstainlesssteel

QuestionlD:26433099408
Option11D:264330390248
Option21D:264330390247
Option31D:264330390246
Option41D:264330390245

Status:Answered

ChosenOption:3




had conducted a survey of the prevailing air quality in 9 major cities of India. Whichof the
following cities had SO, concentration exceeding the maximum tolerable value of 80pg/m3 ?

Ans  #51. Hyderabad
& 2. NewDelhi
4" 3. Kolkata
< 4. Ahmedabad

Q.41Soon before the passing of the Air Pollution Control Act, 1981 in India, an institute calledNEERI

Questionl D:26433099486
Option1ID:264330390558
Option21D:264330390559
Option31D:264330390560
Option41D:264330390557

Status:NotAnswered
ChosenOption:--

Q.42Experimentalwaterabsorptiontestsaredoneonfineaggregatestofindthe:
(i) Waterholdingcapacity
(ii) Strengthofmaterial
(iii) Qualityofmaterial
(iv) Shape of aggregatesAns

& 1.0nly(i), ii)and(iii)
X 2. Both(i)and(ii)

25 3. Only(i)

X 4. (i), (i), (iii),and(iv)

QuestionlD:264330100161
Option1ID:264330393220
Option21D:264330393218
Option31D:264330393217
Option41D:264330393219

Status:Answered
ChosenOption:4

Q.43For a closed traverse, the sum of latitudes is 4 m and the sum of departures is 3 m. Theclosing
error for the traverse would be:

Ans  X1.3m
K2.7m
& 3.5m
K 4am

QuestionlD:264330122655
Option11D:264330480734
Option21D:264330480732
Option31D:264330480733
Option41D:264330480731

Status:Answered
ChosenOption:3




Q.44Calculate the capital value of a building whose rent is ¥10,000 per annum, inclusive of alltaxes.
QOutgoings are 18% of the gross rent, and the expected rate of return is 9% with a 60-year life of
the building.

Ans  #51.%81,000
&2.391,111
#53.275,000

#54.%1,01,000

Questionl D:264330159851
Option11D:264330626751
Option21D:264330626754
Option3ID:264330626753
Option41D:264330626752

Status:NotAnswered
ChosenOption:--

Q.45The rainfall observed for five successive days in a catchment is 2, 3, 4, 5 and 6 cm.Compute the
direct runoff from the catchment due to this rainfall. The ¢ index for therainfall is assumed to
be 2 cm/day.

Ans  X1.16cm
" 2. 10cm
&0 3. 12em
& 4.8cm

QuestionlD:26433096923
Option1ID:264330380432
Option21D:264330380430
Option31D:264330380431
Option41D:264330380429

Status:Answered

ChosenOption:2

Q.46During a levelling survey, the backsight of A was found greater than the foresight reading atpoint
B. Which of the following is correct?

Ans X1 Height of instrument is required to know which point is higher.
«” 2. Elevation ofBismorethanthatofA.
/X 3. ElevationofAismorethanthatofB.

#5 4. Either A orB canhave higherelevation.

QuestionlD:264330100666
Option11D:264330395211
Option21D:264330395210
Option31D:264330395209
Option41D:264330395212

Status:Answered
ChosenOption:2




Q.47The dry density decreases in cohesion less soil with an increase in water content due towhich of the
following reasons?

Ans X1 Capillary rise
" 2. Bulking of sand
/5 3. Seepage
25 4. Specificgravity

Questionl D:26433099822
Option1ID:264330391885
Option21D:264330391886
Option31D:264330391888
Option41D:264330391887

Status:Answered

ChosenOption:2

Q.48Rubbishinsolidwastemanagementisa
Ans X1 putrescible solid waste

25 2. Nuclearsolidwaste
/5 3. biodegradablesolidwaste

«# 4. non-putresciblesolidwaste

QuestionlD:264330160708
Option1ID:264330630164
Option21D:264330630166
Option31D:264330630165
Option41D:264330630163

Status:Answered

ChosenOption:1

Q.49As per 1S 800: 2007, which of the following statements is correct regarding the
maximumslendernessratio?
Ans #51.The maximum slenderness ratio of a member carrying compressive loads resultingfrom dead
load and imposed loads should not exceed 350.
#5 2. The maximum slenderness ratio of a member carrying compressive loads resultingfrom dead
load and imposed loads should not exceed 250.
4" 3. The maximum slenderness ratio of a member carrying compressive loads resultingfrom dead
load and imposed loads should not exceed 180.
#5 4. The maximum slenderness ratio of a member carrying compressive loads resultingfrom dead
load and imposed loads should not exceed 200.

QuestionlD:264330159685
Option11D:264330626102
Option21D:264330626101
Option31D:264330626099
Option41D:264330626100

Status:Answered

ChosenOption:3




Ans

Ans

Ans

Consider initial walk time as 7 s.

K<1.14s
<2.26

K 36s
«#4.135

Q.51Shearresistanceofsoilcanbeattributedto:

#51. only friction
#5 2. cohesionandplasticity
4" 3. cohesionandfriction

#5 4. cohesionandporepressure

Q.52Allowancesforcontingenciescanbeexpressedasapercentageof

" 1. total cost
X 2. supervisioncharges
#5 3. establishment charges

25 4. rateofeachitem

Q.50Consider width of road 7.2 m and pedestrian speed of 1.2 m/s, find the green time forpedestrian.

Questionl D:26433086554
Option1ID:264330339860
Option21D:264330339858
Option31D:264330339859
Option41D:264330339857

Status:NotAnswered
ChosenOption:--

Questionl D:264330159627
Option1ID:264330625870
Option21D:264330625867
Option31D:264330625868
Option41D:264330625869

Status:Answered
ChosenOption:3

QuestionlD:26433091124
Option11D:264330357905
Option21D:264330357907
Option3ID:264330357906
Option41D:264330357908

Status:Answered

ChosenOption:3




Q.53Which of the following problems are observed during the pouring of freshly preparedconcrete
in hot weather?
(i) Rapidrateofhydrationofcement
(i) Quicksettingandearlystiffening
(iii) Greaterplasticshrinkage
(iv) MorefinishingtimesA
ns #<1.0Only (i)
X 2. Both(i)and(iii)
25 3. (i), (i), (jiii),and (iv)

& 4. Only(i),(i))and(iii)

QuestionlD:264330100172
Option1ID:264330393261
Option21D:264330393262
Option31D:264330393264
Option41D:264330393263

Status:Answered
ChosenOption:4

Q.54Insoilmechanics,thenumberanddispositionofboreholesarevaried,dependinguponthe

Ans  X1.earth surface
#< 2. atmosphere
«* 3. subsoil condition

#< 4. undergroundwater

QuestionlD:26433096815
Option1ID:264330379998
Option21D:264330379997
Option3ID:264330379999
Option41D:264330380000

Status:Answered

ChosenOption:3

Q.55Ingeneralshearfailure,continuousfailureisdevelopedbetween

Ans <1 ground surface and the footing
& 2. soil and failure surface
«* 3. edgeofthefootingandgroundsurface

#5 4. foundationandground surface

QuestionlD:26433096832
Option11D:264330380067
Option21D:264330380068
Option31D:264330380066
Option41D:264330380065

Status:NotAnswered
ChosenOption:--




Q56 The formula for specific gravity of fine aggregates as per IS 2386 (part 3) 1963.using the
w2-wi

pycnometer is by the following: Specific gravity = W2 WD = (W3- W3)

Where.

W1 = Empty weight of pycnometer

W2 = Weight of pycnometer + sample

W3 = Weight of pycnometer + sample water
W4 = Weight of pycnometer + water

Ans 41 Correct
75 2. Partiallyincorrect
& 3. Partiallycorrect

25 4. Incorrect

Questionl D:264330100160
Option11D:264330393214
Option21D:264330393215
Option31D:264330393213
Option41D:264330393216

Status:Answered
ChosenOption:1

Q.57Thelengthofthehorizontaltransitioncurvebasedontheallowableratechangeof
centrifugal acceleration is 48 m, and based on the rate of introduction of super-elevation is40 m,
and based on the empirical formula, recommended by IRC is 45 m. What will be the
shiftinthetransitioncurve? Taketheradiusofthecurveas200m.

Ans X1. 042m
#2.048m
#<3.0.33m
4.368m

QuestionlD:26433086524
Option11D:264330339740
Option21D:264330339738
Option3ID:264330339737
Option41D:264330339739

Status:NotAnswered
ChosenOption:--

Q.581In the relation A = 8.64 B/D, if D is the duty in hectare/cumec and B is the number of days ofbase
period, then A is the .

Ans &1 depth of water inm
2 2. dutyinm
#< 3. rotationperiod
< 4. depth ofwaterincm

QuestionlD:26433099451
Option11D:264330390419
Option21D:264330390418
Option31D:264330390420
Option41D:264330390417

Status:Answered

ChosenOption:1




Ans

Ans

Ans

M40 grade of concrete is
251, 1.2 N/mm?

752. 1.7 NImm?
3. 1.5 N/mm?
&4, 1.9 N/mm?

Q%" Find the discharge of water flowing over a rectangular notch
of length | m when the constant head over the notch is 100

mm. Take Cp = 0.60. Given ./2g = 4.43.

w#1.56.8 litres/sec
#< 2. 52.8litres/sec
25 3. 48.5litres/sec
25 4. 62litres/sec

is essential?

#51. One coat of primer
" 2. Two coats ofpaint over primer
25 3. Onecoatofpaint

#5 4. Noprimingandnopainting

Q.59As per 1S 456: 2000, the design bond stress € bd in limit state method for plain bars intension for

Questionl D:26433099435
Option1ID:264330390353
Option21D:264330390355
Option31D:264330390354
Option41D:264330390356

Status:Answered

ChosenOption:4

QuestionlD:264330162659
Option11D:264330637955
Option21D:264330637958
Option31D:264330637957
Option41D:264330637956

Status:NotAnswered
ChosenOption:--

Q.61During the construction of sloped timber roof truss, for protection of timber, which of thefollowing

QuestionlD:26433099386
Option11D:264330390158
Option21D:264330390160
Option31D:264330390159
Option41D:264330390157

Status:Answered

ChosenOption:2




Q.62Aroadhasadesignspeedof20m/sandtheradiusofthehorizontalcurveisequalto250
m. Design the super-elevation that is needed on this road, with lateral friction coefficientvalue of

0.15. (Take g =10 m/sz.)
Ans  #£1.0.09

52.0.22
X3.0.16
&#4.0.07

Questionl D:26433091097
Option1ID:264330357798
Option21D:264330357800
Option31D:264330357797
Option41D:264330357799

Status:NotAnswered
ChosenOption:--

Q.63Allowablebearingcapacityisdefinedas:
Ans 51 net ultimate bearing capacity / FOS

#5 2. netsafebearingcapacity+yDf
#5 3. netloadingintensityatwhichsoiljustfailsin shear

«" 4. net loading intensity at whichneither shear failure nor settlementfailure occurs in
soil

QuestionlD:264330160332
Option1ID:264330628667
Option21D:264330628668
Option31D:264330628670
Option41D:264330628669

Status:Answered
ChosenOption:4

Q.64The design criterion for laterally supported steel beams with respect to cripplingrecommends that
the maximum permissible bearing stress should NOT exceed times
oftheyieldstressofsteel(fy).

Ans  #51.0.66

#52.0.80
#53.0.40
«#4.0.75

QuestionlD:264330159690
Option11D:264330626120
Option21D:264330626122
Option31D:264330626119
Option41D:264330626121

Status:Answered
ChosenOption:1




Q.65Calculate the total charges given to three labourers for their earthwork excavation, withthem
working from 9 a.m. to 6 p.m. with an hourly working charge of I50.

Ans  &#1.31350
X2.3450
£53.3350

54.3500

Questionl D:264330159846
Option11D:264330626731
Option21D:264330626732
Option31D:264330626734
Option41D:264330626733

Status:Answered

ChosenOption:2

Q.66Which of the following assumptions is NOT valid in case of design of axially loadedcompression
members in the steel design?

Ans  #X1.The modulus of elasticity is assumed to be constant in a built-up column.
#5 2. The ideal column is assumed to beabsolutely straight with no crookedness.
«# 3. Themodulusofelasticityisassumedtovaryinabuilt-upcolumn.

#5 4. Secondarystressesareneglected.

QuestionlD:264330159680
Option1ID:264330626079
Option21D:264330626080
Option31D:264330626082
Option41D:264330626081

Status:Answered

ChosenOption:3

Q.67 isthecorrectformulatodeterminetheelevationdifference(dz)betweentwo

pointsonthegroundusingatotalstation.
(Vp = Vertical difference, H; = Instrument height and Hg = Reflector

height)Ans X1dz-Vp— (H; +Hg)
X2dz=Vp (Hr + Hz)
X3.dz-Vp (Hi—Hg)
w2dz=Vp+ (Hr —Hg)

QuestionlD:264330159302
Option11D:264330624567
Option21D:264330624569
Option31D:264330624568
Option41D:264330624570

Status:Answered

ChosenOption:1




Q.68Arevisedestimateisprepared:
Ans ¥ 1. when the sanctioned estimate is likely to exceed more than 5%, without structuralalteration
#5 2. whenthere ismaterial deviation ofstructured nature
#5 3. when the sanctioned estimate is likely to exceed more than 5%, with
importantstructuralalterations
#5 4. whentheexpenditureoftheworkexceeds20%oftheadministrativeapproval

QuestionlD:26433091128
Option11D:264330357921
Option21D:264330357924
Option31D:264330357922
Option41D:264330357923

Status:Answered

ChosenOption:1

Q.69Amongthefollowing,thecorrectsequenceof WWBM constructionwillbe:
i. Preparationofsubgrade
ii. SpreadingofCoarseaggregates
iii. Applicationofbindingmaterial
iv. Applicationofscreenings
v. Provision of lateral

confinementAns X 1.1, iv, i, iii, v
p SR RIRVATTRY
x 3. i, iv,v i
& 4.0V iiiviiii

QuestionlD:26433086535
Option1ID:264330339783
Option21D:264330339782
Option3ID:264330339784
Option41D:264330339781

Status:Answered

ChosenOption:4

Q.70An isolated footing of RCC is supporting a pedestal. The critical section for the bendingmoment
should be chosen at:

Ans 4 1. at the face of the column
& 2. halfway betweenthecentreline andtheedge
/5 3. adistanceequaltohalfthedepthofthecolumnfromthefaceofthecolumn

25 4. adistanceequaltothedepthofthecolumnfromthefaceofthecolumn

QuestionlD:264330159664
Option11D:264330626016
Option21D:264330626017
Option31D:264330626018
Option41D:264330626015

Status:Answered
ChosenOption:1




Ans

Ans

Ans

Q.71Which of the following is an INCORRECT statement related to the height of the instrument(HI)

used in levelling?

#51.The value of HI never changes while recording fore sights.
X 2. ThevalueofHIgenerallychangesbeforerecordingbacksights.
/5 3. ThevalueofHIneverchangeswhilerecordingintermediatesights.

4" 4. The valueofHIneverchangesafterrecordingbacksights.

QuestionlD:264330160612
Option11D:264330629780
Option21D:264330629781
Option31D:264330629779
Option41D:264330629782

Status:Answered

ChosenOption:2

Q.72The lining like cement concrete, pre-cast cement concrete, etc. gives a smooth surface tothe canal.

Smoothness of the canal bed and the sides the discharge of
thecanalandthedutyofwater.

1. reduces

#< 2. neither reducesnorenhances
X 3. doesn’taffect

«# 4. enhances

QuestionlD:264330158558
Option1ID:264330621591
Option21D:264330621594
Option31D:264330621593
Option41D:264330621592

Status:Answered

ChosenOption:4

Q.731f a curve setup on a highway has a deflection angle of 120° between its tangents and aversine

distance of 225 m, then the sharpness of the curve subtended by an arc of length 30m will be

K15
K2.3°
o3.4°
<a.6°

QuestionlD:264330160619
Option11D:264330629809
Option21D:264330629807
Option31D:264330629808
Option41D:264330629810

Status:NotAnswered

ChosenOption:--




Ans

Ans

Ans

XL Assertion is true, but Reason is false.
/5 2. BothAssertionandReasonarefalse.

4" 3. Both Assertion and Reason are true and Reason is the correct explanation of Assertion.
#5 4. Both Assertion and Reason are true, but Reason is not the correct explanation ofAssertion.

«” 1. lack of fusion
75 2. overlap
#5 3. incompletepenetration

& 4. slag inclusion

Q.761fthepipesareconnectedinseries,thenthe:

<1 discharge will be high and the pressure will be low
25 2. discharge willbe lowand thepressure willbe constant
#< 3. discharge will be constant andthe pressure will below

«" 4. discharge will be constant andthe pressure will behigh

Q.74Select the option that is appropriate regarding the following two statements labelledAssertion and
Reason.
Assertion: Social upliftment of the people in rural areas can be achieved by implementingproper
irrigation practices.
Reason:Irrigationwillcreatealotofemploymentopportunitiesforruralpeople.

Questionl D:264330158548
Option1ID:264330621553
Option21D:264330621554
Option3ID:264330621551
Option41D:264330621552

Status:NotAnswered
ChosenOption:--

Q.75In case of welded connection in steel structures, during welding, a defect is caused bycoating of the
parent metal with a foreign matter and because the groove is not kept clean.This defect is known
as:

QuestionlD:264330159699
Option11D:264330626156
Option21D:264330626155
Option31D:264330626158
Option41D:264330626157

Status:Answered
ChosenOption:3

QuestionlD:264330158939
Option11D:264330623117
Option21D:264330623116
Option31D:264330623118
Option41D:264330623115

Status:Answered
ChosenOption:4




Q.77Which of the following methods of quarrying is suitable for quarrying small, thin and
regularblocks of stones from rocks such as granite and gneiss?

Ans X1 Blasting
& 2. Wedging
/5 3. Excavating

# 4. Heating

QuestionlD:264330157871
Option11D:264330618844
Option21D:264330618846
Option31D:264330618843
Option41D:264330618845

Status:Answered
ChosenOption:2

Q.78The Department of Environment (DOE) method is basically used for which of the
followingpurposes?
(i) Concretemixdesign
(if) Roadmixdesign
(i) MixDesignwithpulverizedfuelash
(iv) MixDesignwithGGBFSA
ns #<1. Both (iii) and (iv)
25 2. Both(i)and(ii)
o 3. (i),(ii),(iii),and(iv)

25 4. Only(i),(ii), (iv)

QuestionlD:264330100167
Option1ID:264330393243
Option21D:264330393244
Option3ID:264330393241
Option41D:264330393242

Status:NotAnswered
ChosenOption:--

Q.79Bamboo is commonly used in the construction of scaffoldings, bridges and structures duetoits:
i) Strongfibrecontent
i) Elasticity
iii) Tensilestrength
Ans " L. Allof(i),(ii)and(iii)arecorrect.
75 2. Only(i) is correct.
#5 3. Only(ii) is correct.

25 4. (i)and(iii)arecorrect.

QuestionlD:26433099481
Option11D:264330390540
Option21D:264330390537
Option31D:264330390538
Option41D:264330390539

Status:Answered

ChosenOption:1




Q.80While using grading limits of the Zone-1V sand for mortars, what is the percentage of sandthat
should pass through a 600 p IS sieve?

AnS X1 40% — 100%

K2. 70% — 100%

3 80% — 100%
X40% — 15%

Questionl D:26433099480
Option1ID:264330390535
Option21D:264330390533
Option31D:264330390534
Option41D:264330390536

Status:Answered

ChosenOption:3

Q.81The angle of intersection of two straights is 120 . Find the ratio of the length of long chordto the
tangent length.

Ans Jlﬁ
~21
X314/3
X40.866
QuestionlD:264330122662
Option11D:264330480760
Option21D:264330480761
Option31D:264330480762
Option41D:264330480759
Status:Answered
ChosenOption:2
Q.82Inplanesurveying,levellinesareconsideredas andplumblinesareconsideredas

Ans <1 parallel; straight
25 2. straight;straight
75 3. parallel;parallel
" 4. straight;parallel

QuestionlD:264330160616
Option1ID:264330629797
Option21D:264330629796
Option31D:264330629798
Option41D:264330629795

Status:Answered
ChosenOption:1




Q.83For an RCC beam of width 230 mm and effective depth 300 mm subjected to a shear forceof 69
KN due to design loads, what will be the nominal shear stress in the beam?

Ans X110 N/mm?
o 2. 1 N/mm?
7< 3. 0.01N/mm?
X 4. 0.IN/mm?

Questionl D:264330100807
Optionl1ID:264330395774
Option2ID:264330395773
Option3ID:264330395775
Option41D:264330395776

Status:NotAnswered

ChosenOption:--

Q.84Polar moment of inertia about central axis of a semi-circular lamina with radius R is givenas

Ans 4
X1 E
2

QuestionlD:264330159407
Option1ID:264330624990
Option21D:264330624988
Option31D:264330624987
Option41D:264330624989

Status:Answered

ChosenOption:1




Ans

Ans

Ans

Q.85Selectthecorrectoptionforthegivenstatements.

Statement 1: Laminates are the products made by bonding together two or more layers

ofmaterials.

Statement 2: High-pressure decorative laminates are pasted on plywood sheets, which areused

for large areas like cabinets, wide door shutters, tables, etc.

75 1. Both statement 1 and statement 2 are false

o 2. Bothstatementlandstatement2aretrue
< 3. Statementlisfalseandstatement2istrue
< 4. Statement listrueandstatement 2isfalse

Q.86 Whichofthefollowingis/areNOTthecharacteristicoftrafficactuatedsignals?

i. Itiscostly.
ii. Thecycletimechangesaspertrafficdemand.
iii. The cycle time changes as per the time of the

day.iv.Computers and detectors are used to operate this signal.

1. Both ii and iv
#< 2. Bothiiiandiv
" 3. Onlyiii
& 4. Onlyii

Q.87Calculate the charges for a truck (diesel) to transport material for 8 hours in a day with arate

0ofZ200/hour.
#51.21,000

#<2.31,500
«##3.21,600

#54.32,000

Questionl D:264330157852
Option1ID:264330618768
Option21D:264330618767
Option31D:264330618770
Option41D:264330618769

Status:Answered
ChosenOption:2

QuestionlD:26433091108
Option11D:264330357842
Option21D:264330357841
Option31D:264330357844
Option41D:264330357843

Status:NotAnswered
ChosenOption:--

QuestionlD:264330167537
Option11D:264330657121
Option21D:264330657119
Option31D:264330657122
Option41D:264330657120

Status:Answered
ChosenOption:3




Q.88A rectangular shape of stress distribution diagram at the base of a circular chimney isshown in
figure. By referring to it, it may be concluded that:

Ans X1 the chimney is subjected to bending stress only
25 2. the chimney is subjected to both bending aswell as direct compressive stress
«# 3. thechimney is subjectedto direct compressivestress only

#5 4. thechimneyis subjectedto windpressureonly

Questionl D:264330159673
Option11D:264330626052
Option21D:264330626054
Option31D:264330626053
Option41D:264330626051

Status:Answered
ChosenOption:3

Q.89WhichofthefollowingstatementsisINCORRECT?
Ans 1. Collection efficiency of the cyclone collector is high for smaller particles.

#X 2. Electrostatic precipitators arewidely usedin thermalpower plants.
/X 3. Electrostatic precipitators cancollect dry orwet particulates.

< 4. Bagfiltersworkontheprincipleofinterceptionandelectrostaticattraction.

QuestionlD:264330160685
Option1ID:264330630072
Option21D:264330630071
Option3ID:264330630074
Option41D:264330630073

Status:NotAnswered
ChosenOption:--

Q.90Somestepsrelatedtocollectionofmunicipalsolidwastehavebeenmentionedbelow.
A. Collectionbysweepersinsmallhanddrivencarts.
B. Dumpingintomasonrychambersconstructedalongroadsides.
C. Collectioninsmallcontainersinindividualhouses.
D. Collectionintomunicipaltrucks.
What is the correct sequence of the conventional system of collection of municipal solidwaste, as
per Indian scenario from start to end?

Ans "1 C-A-B-D
X 2.CB-AD
< 3. A-CD-B
&K 4. AD-B-C

QuestionlD:26433095927
Option11D:264330376479
Option21D:264330376478
Option31D:264330376477
Option41D:264330376480

Status:NotAnswered
ChosenOption:--




Ans  #51.Rankine
#5 2. Boussinesq

«# 3. Darcy
25 4. Francis

Bernoulli equation, which is

Q.91Thelawofflowofwaterthroughthesoilwasfirststudied by

Questionl D:26433096819
Option1ID:264330380016
Option21D:264330380015
Option31D:264330380014
Option41D:264330380013

Status:Answered

ChosenOption:3

Q.92Venturi meter is an application of Bernoulli’s equation. Its basic principle also depends onthe

Ans 1. both velocity of moving fluid and pressure within fluid constant

«# 2. velocityofamovingfluidincreasesandthepressurewithinthefluiddecreases

#5 3. bothvelocityofmovingfluidandpressurewithinfluidincreases

X 4. pressurewithinthefluidincreasesandvelocityofmovingfluidincrease

QuestionlD:26433091057
Option1ID:264330357639
Option21D:264330357638
Option31D:264330357640
Option41D:264330357637

Status:Answered

ChosenOption:2

Q.93Matchthefollowingtypesofcanalswiththeirtypesofalignment.

Type of Canal

Type of Alignment

A. Ridge canal

L. Aligne roughly at right angles to the contours

B. Contour canal

2. Aligned along the watershed

C. Side slope canal

3. Aligned nearly parallel to the contours

Ans  X1.A-1,B3,C2
X2.A3,B2,C1
X3.A1,B2,C3
4. A2,B3,C1

QuestionlD:264330158567
Optionl1D:264330621627
Option21D:264330621628
Option31D:264330621630
Option41D:264330621629

Status:Answered
ChosenOption:4




Q.94Duetothepresenceof ,thecementderivesthecharacteristicgreycolour.
Ans X1 gypsum

25 2. magnesia

25 3. silica

«# 4. ironoxide

QuestionlD:264330157842
Option1ID:264330618730
Option21D:264330618729
Option31D:264330618727
Option41D:264330618728

Status:Answered
ChosenOption:3

Q.95Which of the following is defined as the area of a building measured at floor level? Ans
#<1. Floor area

4" 2. Plintharea
/X 3. Circulationarea

75 4. Carpetarea

Questionl D:264330159807
Option1ID:264330626577
Option21D:264330626576
Option31D:264330626575
Option41D:264330626578

Status:Answered
ChosenOption:2

Q.961nanaqueduct,naturaldrainageis thecanal.
Ans 1. atthe level of

" 2. below
& 3. above
X 4. parallelto

QuestionlD:26433096927
Option11D:264330380447
Option21D:264330380445
Option3ID:264330380446
Option41D:264330380448

Status:Answered

ChosenOption:3




Q.97Which of the following types of pumps can give discharge even at a high pressure? Ans
#51. Mono-block pumps

«" 2. Rotarypumps
3. Multistage pumps
X 4. Single-stage pumps

QuestionlD:264330158971
Option11D:264330623244
Option21D:264330623245
Option31D:264330623243
Option41D:264330623246

Status:Answered

ChosenOption:3

Q.98Which of the following statements regarding characteristics of contour lines isSINCORRECT?
Ans 1. Contour lines of different elevations cannot cross each other.

#5 2. Contourlinesclosetooneanotherindicateasteepslope.
«# 3. Contourlinesofdifferentelevationscannotintersect.

#< 4. Contour lines of different elevations can unite to form one line only in the case
ofverticalcliff.

QuestionlD:264330159321
Option1ID:264330624643
Option21D:264330624646
Option31D:264330624644
Option41D:264330624645

Status:Answered

ChosenOption:3

Q.99WhichofthefollowingstatementsisINCORRECTregardingthefinenessofcement?
Ans #51.The fineness of cement can be tested by determination of the specific surface ofcement.
o 2. Theunitofthefinenessofcementiscm®/kg.

/5 3. Increaseinthefinenessofcementincreasesthedryingshrinkageofconcrete.

25 4. The specific surface of cement can be determined by using an air permeabilityapparatus.

QuestionlD:264330157680
Option11D:264330618079
Option21D:264330618081
Option31D:264330618082
Option41D:264330618080

Status:Answered

ChosenOption:2




Q.100TheroofofaroomwasconsideredastheBM.InvertedstaffreadingonthisBMwas3.500

m.The staff reading of point P on the ground was 1.200 m. Find the RL of point P, if the RLof

the bench mark is 100 m.
Ans  #£1.102.3m

«#2.953m
X3.97.7m

X4.1047m

Questionl D:264330100673
Option1ID:264330395237
Option21D:264330395239
Option31D:264330395238
Option41D:264330395240

Status:NotAnswered
ChosenOption:--




SSC JE 2023 Oct 11 Shift 1 Civil Question Paper with Answers

Roll Number \ o
Candidate Name

Venue Name iON Digital Zone iDZ cucpun
Exam Date 11/10/2023

Exam Time 9:00 AM - 11:00 AM

Subject Junior Engineer 2023 Civil Paper |

Section : General Intelligence and Reasoning

Q.1 Ram departs from his home at 5:00 a.m. and starts running towards the north for 50 km,
then turns right and runs again for 50 km. He takes a right turn again and runs for 30 km.
Lastly, he turns right and runs for 50 km. How far is he from his home?

Ans X 1.50km
X 2.30km
X 3.40km
o 4. 20 km

( Question 1D 26433097220
Option 11D : 264330381577
Option 2 ID : 264330381579
Option 31D : 264330381578
Option 41D : 264330381580
Status : Answered
Chosen Option : 4

Q.2 Seven friends M, N, O, P, Q, R and S, each has scored different marks in the first semester
examination. Only two people scored more than Q. P scored more than Q but less than O. M
scored more than R but less than S. Only 3 students scored more than S. N scored the least
among all. The scores of how many students are between the scores of P and R?

Ans X 1.2
K24
X301
4.3

( Question 1D 264330144647
Option 11D : 264330566844
Option 2 ID : 264330566846
Option 3 ID : 264330566843
Option 4 ID : 264330566845

Status : Answered

Chosen Option : 4




Q.3 Select the pair that follows the same pattern as that followed by the given two sets of pairs.
Both pairs follow the same pattern.
GIK: TRP
NPR : MKI

Ans & 1.DFH :WUS
7 2. VTR : PNL

< 3.NPQ:CEG
& 4. EGl : UWY

Question ID : 264330130717
Option 11D : 264330511979
Option 2 ID : 264330511982
Option 31D : 264330511981
Option 41D : 264330511980
Status : Answered

Chosen Option : 1

\ J/

Q.4 In a certain code language, 'WALK' is written as '77' and 'DRIVE' is written as '102". How will
'SWIM' be written in that language?

Ans X 1.69
X 2.25
X 3.54
o 4.60
Question ID : 264330144585
Option 11D : 264330566596
Option 2 ID : 264330566595
Option 31D : 264330566598
Option 4 ID : 264330566597
Status : Not Answered
Chosen Option : --
Q.5 If ‘+’ means ‘-, ‘-’ means ‘x’, ‘x’ means ‘+’, ‘+’ means ‘+’, then what will come in place of the

question mark (?) in the following equation?
114 +85x5-4+33="7
Ans X 1. 161
o 2.149
< 3.136

&< 4.158

Question ID : 264330126062
Option 11D : 264330493923
Option 2 ID : 264330493920
Option 3 ID : 264330493921
Option 4 ID : 264330493922
Status : Answered
Chosen Option : 2




in an English dictionary.

Q.6 Select the option that represents the correct order of the given words as they would appear

1. Forty
2. Fortify
3. Forum
4. Forte
5. Fortitude
Ans & 1. 42513
& 2. 45231
< 3. 35421
< 4. 34521
Question ID : 264330132079
Option 11D : 264330517414
Option 2 ID : 264330517412
Option 3 ID : 264330517413
Option 4 ID : 264330517411
Status : Answered
Chosen Option : 1
Q.7 Which letter-cluster will replace the question mark (?) to complete the given series?
JPWL, MGAF, PXEZ, ?, VFMN
Ans X 1.RPIT
X 2.ROIT
" 3. 50IT
X 4.SPIT
Question ID : 264330144631
Option 11D : 264330566779
Option 2 ID : 264330566781
Option 3 ID : 264330566782
Option 4 ID : 264330566780
Status : Answered
Chosen Option : 3
Q.8 Ina certain code language, '"ALMOND' is coded as 4-48-52-60-56-16 and 'SHEEP' is coded
as 76-32-20-20-64. How will 'CASHEW' be coded in the same language?
Ans X 1.30-12-74-24-12-92
& 2. 14-4-76-32-20-84
o 3. 12-4-76-32-20-92
X 4. 12-4-76-32-12-92
Question ID : 264330136377
Option 11D : 264330534275
Option 2 ID : 264330534278
Option 3 ID : 264330534276
Option 4 ID : 264330534277
Status : Answered
Chosen Option : 3




Q.9 Which of the following numbers will replace the question mark(?) in the given series?
73, 68, 70, 65, ?, 62, 64

Chosen Option :

Ans & 1.67
X 2.69
X 3.63
X 4.7
Question ID : 26433080443
Option 11D : 264330315723
Option 2 ID : 264330315721
Option 3 ID : 264330315720
Option 4 ID : 264330315722
Status : Answered
Chosen Option : 1
Q.10 If'+'means'-','-'means 'x', 'x' means '+', '+ 'means '+', what will come in place of the
question mark?
50-6+8+24x6="7
Ans X 1. 604
o 2. 304
X 3.104
X 4.404
Question ID : 264330130211
Option 11D : 264330509956
Option 2 ID : 264330509958
Option 3 ID : 264330509957
Option 4 ID : 264330509955
Status : Answered
Chosen Option : 2
Q.11 Select the option that is related to the third word in the same way as the second word is
related to the first word. (The words must be considered as meaningful English words and
must not be related to each other based on the number of letters/number of
consonants/vowels in the word)
Clay : Pottery :: Sand : ?
Ans & 1. Glass
X 2. Crystals
/< 3. Paper
X 4. Shore
Question ID : 264330144593
Option 11D : 264330566627
Option 2 ID : 264330566629
Option 3 ID : 264330566628
Option 4 ID : 264330566630
Status : Answered

1




Q.12 Select the word-pair in which the two words are related in the same way as are the two
words in the given pair.

(The words must be considered as meaningful English words and must not be related to
each other based on the number of letters/number of consonants/vowels in the word.)

Sweet Potato : Root

Ans X 1. Wheat : Pulse

«” 2. Pepper : Spice
25 3. Milk : Protein
& 4. Butter : Milk

Question ID : 264330117397
Option 1 ID : 264330461630
Option 2 ID : 264330461629
Option 3 ID : 264330461631
Option 4 ID : 264330461632
Status : Answered
Chosen Option : 2
Q.13 Two statements are given followed by two conclusions numbered I and II. Assuming the
statements to be true, even if they seem to be at variance with commonly known facts,
decide which of the conclusions logically follow(s) from the statements.
Statements:
All birds are cows.
Some cows are dogs.
Conclusions:
L. Some dogs are birds.
II. Some cows are birds.
Ans X 1. Neither conclusion | nor Il follows
«" 2. Only conclusion Il follows
< 3. Only conclusion | follows
#5 4. Both conclusions | and Il follow
Question ID : 264330144636
Option 1 ID : 264330566802
Option 2 ID : 264330566800
Option 3 ID : 264330566799
Option 4 ID : 264330566801
Status : Answered
Chosen Option : 2
Q.14 Select the option that indicates the correct arrangement of the given words in a logical and
meaningful order.
1. Grasshopper
2. Whale
3. Beetle
4. Crocodile
5. Frog
Ans X 1.3,54,2,1
o 2.3,1,542
/03.2,3,5, 4,1
X 4.4,2,51,3
Question ID : 26433074676
Option 11D : 264330292793
Option 2 ID : 264330292792
Option 3 ID : 264330292795
Option 4 ID : 264330292794
Status : Answered
Chosen Option : 2




Q.15 In the following statements A, B, C, D and E denotes +-, x, + and =, respectively. Which of
the statement is correct?

Ans " 1. 8A6C5D15E14B4
/< 2.8A6C3D15E14B4

X 3. 8A6C5D15E24B4
X 4. 8A6C5D15B14E4

Question ID : 264330129582
Option 11D : 264330507697
Option 2 ID : 264330507696
Option 3 ID : 264330507695
Option 4 ID : 264330507694
Status : Answered
Chosen Option : 1

\

Q.16 select the correct mirror image of the given combination when the mirror is placed at line MN as shown.
M

AJK34v9
N
Ans X' 1. GYPENIV
7 2. CAMONIA
3. eVADNIA
X 4. BAPENIY

Question ID : 26433058087
Option 11D : 264330227334
Option 2 ID : 264330227333
Option 3 ID : 264330227335
Option 4 ID : 264330227332
Status : Answered
Chosen Option : 3

77 How many triangles are there in the given figure?

Ans X 1.7
X 2.9
X 3.8
o 4.10

Question ID : 26433068137
Option 11D : 264330267063
Option 2 ID : 264330267061
Option 3 ID : 264330267060
Option 4 ID : 264330267062
Status : Answered
Chosen Option : 4




Ans

(o2 BN G2~ O I\ )

Ans

complete the given pattern.

Q18 Select the figure from the options that can replace the question mark (?) and

\

Question ID :
Option 11D :
Option 21D :

Option 3 ID

Option 41D :

26433074809

264330293324
264330293327
1 264330293325
264330293326

Status : Answered

Chosen Option : 3

Q.19 Select the option that represents the correct order of the given words as they would appearin an
English dictionary.

1
. Character
. Crevice

. Crunchy

. Cushion

. Charlatan

Crumble

XK 1.6,2,3,4,1,5
X 2.2,61,3,4,5
¥3.2,631,4,5
X 4.6,3,2,1,4,5

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

264330129471
264330507252
264330507251
264330507250
264330507253

Status : Answered

Chosen Option : 3




shown below.

GF@ ?4KS

N

e 2 PNT ® TAD

Pe2AYs ®9 o
2 2APRT ®ED

“+2AP § ®3 O

Q.20 Select the correct mirror image of the given combination when the mirror is placed at MN as

Chosen Option :

Question ID : 264330144786
Option 11D : 264330567400
Option 2 ID : 264330567402
Option 3 ID : 264330567399
Option 4 ID : 264330567401
Status : Answered
Chosen Option : 1
Q.21 In a certain code language, ‘MADRAS' is written as ‘112’ and *JAMMU'’ is written as ‘82'.
How will ‘PUNJAB’ be written in that language?
Ans & 1.104
X 2.115
& 3.109
< 4112
Question ID : 264330144550
Option 11D : 264330566458
Option 2 ID : 264330566455
Option 3 ID : 264330566456
Option 4 ID : 264330566457
Status : Not Answered




Q.22 select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.
p

et6ryQpup |
Q

“rhbugOyYyLATS

Ans

v quqOyi19is
s qugqgPOyLots
~~qQuqOyi10£s

Question ID : 264330144803
Option 11D : 264330567469
Option 2 ID : 264330567468
Option 3 ID : 264330567467
Option 4 ID : 264330567470
Status : Answered
Chosen Option : 2
Q.23 ‘R + S’ means ‘R is the mother of S’,
‘R * S’ means ‘R is the father of S,
‘R - S’ means ‘R is the husband of S’, and
‘R $ S’ means ‘R is the daughter of S'.
IfE$F -G +H, how is E related to H?
Ans X 1.Son
& 2. Sister
5 3. Daughter
& 4. Sister's daughter
Question ID : 264330131400
Option 11D : 264330514713
Option 2 ID : 264330514711
Option 3 ID : 264330514712
Option 4 ID : 264330514714
Status : Answered
Chosen Option : 2




Q.24 Select the figure from the options that can replace the question mark (?) and complete the
pattern.

Ans

x 2.

Question ID : 26433092787
Option 11D : 264330364438
Option 2 ID : 264330364439
Option 3 ID : 264330364440
Option 4 ID : 264330364437
Status : Answered
Chosen Option : 1




Q.25 Eight people are sitting in two parallel rows containing four people each in such a way that
there is equal distance between adjacent persons.
In the first row, A, B, C and D are seated and all of them are facing the south.
In the second row, W, X, Y and Z are seated and all of them are facing the north.
Thus, each person faces another person from the other row.
The person facing Z is sitting third to the left of A. W is sitting second to the left of Z. B is
the only neighbour of C and sits at extreme end. D is facing the one who is the immediate
neighbour of Y and X.
Who amongst the following faces Z?

Ans & 1.B
X 2C
X 3.A
X 4.D

Question ID : 26433080716

Option 11D : 264330316800
Option 2 ID : 264330316799
Option 3 ID : 264330316797
Option 4 ID : 264330316798

Not Attempted and
Marked For Review

Chosen Option : --

Status :

\

Q.26 Select the letter-cluster from among the given options that can replace the question mark
(?) in the following series.

WARD, WERD, ? , WORD, WURD
Ans X 1. WLRD

X 2. WKRD
«" 3. WIRD
& 4. WJRD

Question ID : 264330144520
Option 1 ID : 264330566338
Option 2 ID : 264330566337
Option 3 ID : 264330566336
Option 4 ID : 264330566335
Status : Answered
Chosen Option : 3




Ans

Ans

complete the pattern.

X 1.uvwz
& 2. VWXY

o 3. UVXY
X 4. VWYX

Q.27 Select the option figure that will replace the question mark (?) in the figure given below to

\

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :
Status :

Chosen Option :

264330129659
264330508002
264330508004
264330508005
264330508003
Answered

4

Q.28 Which of the following terms will replace the question mark (?) in the given series?
ABDE, FGIJ, KLNO, PQST, ?

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :

Chosen Option :

26433089477
264330351409
264330351410
264330351412
264330351411
Answered

3




Ans

Q.29 A girl starts from her house and drives 10 km south. Then turns left and drives 20 km. She

then takes a left and drives 20 km. Then, turning to her left and she drives 5 km. She takes a
final left turn, drives 10 km and stops at her final destination. How far and towards which

direction should she drive in order to reach her home?

" 1. 15 km, west
& 2. 15km, north

X 3. 15 km, east
X 4. 15 km, south

Question ID : 264330130194
Option 1 ID : 264330509887
Option 2 ID : 264330509889
Option 3 ID : 264330509888
Option 4 ID : 264330509890
Status : Answered
Chosen Option : 1
Q.30 Select the option that is related to the fifth term in the same way as the second term is
related to the first term and the fourth term is related to the third term.
26:375::41:600::53:7?
Ans X 1.790
X 2.785
« 3.780
X 4.765
Question ID : 26433078882
Option 1 ID : 264330309543
Option 2 ID : 264330309542
Option 3 ID : 264330309541
Option 4 ID : 264330309540
Status : Answered
Chosen Option : 3
Q.31 Select the set in which the numbers are related in the same way as are the numbers of the
following set.
(NOTE : Operations should be performed on the whole numbers, without breaking down the
numbers into its constituent digits. E.g. 13 - Operations on 13 such as adding
/subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and
then performing mathematical operations on 1 and 3 is not allowed.)
(6,5, 25)
(8, 3,37)
Ans X 1.(2, 6, 45)
2.6, 4,75)
o 3.9 1,44
X< 4.8,7,32)
Question ID : 264330144445
Option 1 ID : 264330566038
Option 2 ID : 264330566037
Option 3 ID : 264330566036
Option 4 ID : 264330566035
Status : Not Answered
Chosen Option : --




the following series.
2,3,6,18,7?,1944

Q.32 Select the number from among the given options that can replace the question mark (?) in

Ans X 1.118
« 2.108
& 3.126
X 4112
Question ID : 26433092703
Option 11D : 264330364101
Option 2 ID : 264330364103
Option 3 ID : 264330364102
Option 4 ID : 264330364104
Status : Answered
Chosen Option : 2
Q.33 In acertain code language, “KTG” is written as “38” and “MAY” is written as “39”. How will
“DBC” be written in that language?
Ans X 1.11
X212
3.9
X 4.8
Question ID : 264330130327
Option 11D : 264330510419
Option 2 ID : 264330510421
Option 31D : 264330510420
Option 4 ID : 264330510422
Status : Answered
Chosen Option : 3




Ans

complete the pattern.

?

L/

=
\&

AN

.

)

,S\
xl\\
x\\\

]

xa \

Q34 gelect the figure from the options that can replace the question mark (?) and

Question ID : 26433068400
Option 11D : 264330268114
Option 2 ID : 264330268115
Option 3 ID : 264330268113
Option 4 ID : 264330268112
Status : Answered
Chosen Option : 1
Q.35 If Adenotes ‘+’, B denotes ‘x*, C denotes ‘~’, and D denotes ‘+’, then what will come in place
of “?” in the following equation?
(81D9)B3A3=3B?
Ans X 1.20
o 2.10
X 3.30
X 4.15
Question ID : 26433067677
Option 11D : 264330265221
Option 2 ID : 264330265223
Option 3 ID : 264330265222
Option 4 ID : 264330265220
Status : Answered
Chosen Option : 2




Q.36 The sequence of folding a piece of paper and the manner in which the folded paper has
been cut is shown below. Choose a figure which would most closely resemble the unfolded
form of the paper.

-

ot
T

Ans

@ 4o
S &0

@ &0
S 4f

T T
o o

o 4.

@ &
S W

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :

Chosen Option :

264330103211
264330405149
264330405152
264330405150
264330405151
Answered

4




Ans

in an English dictionary.
1. Frighten

. Filigree

. Festive

. Familiar

. Filibuster

. Freight

K 1.4,53,2,1,6

oOUhAWN

0 2.43,5726,1
X 3.4,3,2,5, 6,1
X 4.43,521,6

Q.37 Select the option that represents the correct order of the given words as they would appear

Question ID : 264330129468
Option 11D : 264330507241
Option 2 ID : 264330507240
Option 3 ID : 264330507239
Option 4 ID : 264330507238
Status : Answered
Chosen Option : 2
Q.38 Select the letter-cluster from among the given options that can replace the question mark
(?) in the following series.
BOMP, DPOQ, ?, HRSS,
Ans " 1.FQQR
& 2.FQRR
< 3. FQQs
& 4. FPQR
Question ID : 264330144522
Option 11D : 264330566346
Option 2 ID : 264330566344
Option 3 ID : 264330566345
Option 4 ID : 264330566343
Status : Answered
Chosen Option : 1
Q.39 Select the option that is related to the sixth letter-cluster in the same way as the first letter-
cluster is related to the second letter-cluster and the third letter-cluster is related to the
fourth letter-cluster.
JOS:GMR::YHL:VFK:?:PMD
Ans X 1.TPE
X 2. SOF
& 3. SOE
X 4. TSE
Question ID : 264330144563
Option 11D : 264330566508
Option 2 ID : 264330566509
Option 3 ID : 264330566510
Option 4 ID : 264330566507
Status : Answered
Chosen Option : 3




Ans X 1.99d1 3R W1

Chosen Option :

X 2T T
X3 WART
o 4. TWIRT T
Question ID : 26433085701
Option 11D : 264330336505
Option 2 ID : 264330336507
Option 3 ID : 264330336508
Option 4 ID : 264330336506
Status : Not Answered
\ Chosen Option : --
Q.41 Three statements are followed by three conclusions numbered I, Il and Ill. You have to
consider these statements to be true, even if they seem to be at variance with commonly
known facts. Decide which of the given conclusions logically follow/s from the given
statements.
Statements:
No pumpkin is a guava.
No guava is a pea.
Some peas are potatoes.
Conclusions:
(I) Some pumpkins are potatoes.
(Il) Some peas are pumpkins.
(Il1) Some pumpkins are not potatoes.
Ans & 1. Either conclusion | or conclusion Ill follows
#5 2. Only conclusion I follows
25 3. Only conclusion Il follows
25 4. None of the conclusions follow
Question ID : 264330144542
Option 11D : 264330566425
Option 2 ID : 264330566423
Option 3 ID : 264330566424
Option 4 ID : 264330566426
Status : Answered

1




Q.42 Select the option that is related to the third term in the same way as the second term is

related to the first term and the sixth term is related to the fifth term.
12:137::8:?::5:18

Ans & 1.57
X 2.49
X 3.43
X 461
Question ID : 264330126046
Option 1 ID : 264330493858
Option 2 ID : 264330493857
Option 3 ID : 264330493856
Option 4 ID : 264330493859
Status : Answered
Chosen Option : 1
Q.43 Which of the following numbers will replace the question mark (?) in the given series?
573, 562, 549, 532, 513, 490, ?, 430
Ans X 1. 441
o 2. 461
< 3.431
X 4. 451
Question ID : 26433096014
Option 1 ID : 264330376827
Option 2 ID : 264330376825
Option 3 ID : 264330376828
Option 4 ID : 264330376826
Status : Answered
Chosen Option : 2
Q.44 Select the option that is related to the third word in the same way as the second word is
related to the first word. (The words must be considered as meaningful English words and
must not be related to each other based on the number of letters/number of
consonants/vowels in the word)
Robbers : Gang :: Players : ?
Ans X 1. Group
< 2. Field
& 3. Team
X 4. Game
Question ID : 264330144535
Option 1 ID : 264330566397
Option 2 ID : 264330566398
Option 3 ID : 264330566396
Option 4 ID : 264330566395
Status : Answered
Chosen Option : 3




Q.45 A # B means ‘A is the sister of B’

A @ B means ‘Ais the brother of B’
A & B means ‘A is the wife of B’
A %B means ‘Ais the daughter of B’

IfR#P @ Q% Z & X, then how is P related to X?
Ans " 1.5on

#< 2. Brother
X 3. Sister
< 4. Father

Question ID : 26433065962
Option 11D : 264330258392
Option 2 ID : 264330258395
Option 3 ID : 264330258393
Option 4 ID : 264330258394
Status : Answered
Chosen Option : 1

Q.46 Select the option figure that will replace the question mark (?) in the given figure to complete the pattern.

?

Sl

Ans

2l

Question ID : 26433068858
Option 11D : 264330269946
Option 2 ID : 264330269945
Option 3 ID : 264330269947
Option 4 ID : 264330269944
Status : Answered
Chosen Option : 2




Q.47 Select the option that is related to the third word in the same way as the second word is
related to the first word.
(The words must be considered as meaningful English words and must not be related to
each other based on the number of letters/number of consonants/vowels in the word)
Attraction : Repulsion :: Vertical : ?

Ans X 1.Line
" 2. Horizontal
/< 3. Diagonal
X 4. Circle
Question ID : 26433076681
Option 11D : 264330300788
Option 2 ID : 264330300791
Option 3 ID : 264330300790
Option 4 ID : 264330300789
Status : Answered
Chosen Option : 2
Q.48 Select the set in which the numbers are related in the same way as are the numbers of the
following set.
(NOTE: Operations should be performed on the whole numbers, without breaking down the
numbers into its constituent digits. E.g., 13 -Operations on 13 such as
adding/subtraction/multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3
and then performing mathematical operations on 1 and 3 is not allowed)
(9, 162, 6)
(12,72, 2)
Ans & 1.(21,189,3)
& 2.(13, 126, 14)
< 3.(4,94,5)
X 4.(19,562, 8)
Question ID : 264330144453
Option 11D : 264330566070
Option 2 ID : 264330566068
Option 3 ID : 264330566067
Option 4 ID : 264330566069
Status : Not Answered
Chosen Option : --
Q.49 Select the option that represents the letters that, when placed from left to right in the blanks
below, will complete the letter series.
_JHH_HH_HHJ_
Ans X 1.HJHJ
& 2.HJHH
3. HJJH
X 4. HHJJ
Question ID : 264330144615
Option 11D : 264330566715
Option 2 ID : 264330566718
Option 3 ID : 264330566717
Option 4 ID : 264330566716
Status : Answered
Chosen Option : 3




21:152::19:?::11:82
Ans X 1.182

X 2.128
< 3.183
o 4.138

Q.50 Select the option that is related to the third term in the same way as the second term is
related to the first term and the sixth term is related to the fifth term.

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 41D :
Status :

Chosen Option :

26433078940
264330309775
264330309774
264330309772
264330309773
Answered
4

Section : General Awareness

years?
Ans X 1. 765

X 2. 420

o 3. 615
X 4.72M

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 41D :

Status :

26433074867
264330293556
264330293557
264330293559
264330293558
Marked For Review

Q.2 Under which Amendment Act has the electorate been widened by lowering the age to 18

Chosen Option :

4

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 1D :
Status :

Chosen Option :

26433054890
264330214544
264330214547
264330214546
264330214545
Answered
3




Ans

Ans

Ans

Q.3 Where was the 44th Chess Olympiad held?

%" 1. Chennai
&5 2. Moscow

X 3. London
< 4. Bengaluru

Q.4 What does air drainage do in cold climate?

75 1. It keeps dust particles elevated.
" 2. It protects plants from frost damages.
X 3. It keeps the soil warm.

X 4. It filters out better quality air.

& 1. DTotal = P1 + P2 + P3+ (at constant T, P)

& 2. protal = P1+p2+P3+____(at constant T, n)
& 3. protal =P1 + P2+ P3+ ___(at constant V, P)

o 4. pTotal = P1+ P2+ P3+ (at constant T, V)

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 41D :
Status :

Chosen Option :

264330119252
264330467297
264330467296
264330467295
264330467298
Marked For Review
1

\

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :

Chosen Option :

264330137312
264330537877
264330537876
264330537875
264330537878
Marked For Review
2

Q.5 Which of the following is a mathematical expression of Dalton's partial pressure law?
(Where P = Pressure, T = Temperature, V = Volume, n = number of moles)

Chosen Option :

Question ID : 264330131693
Option 11D : 264330515872
Option 2 ID : 264330515873
Option 3 ID : 264330515871
Option 4 ID : 264330515874
Status : Answered
Chosen Option : 4
Q.6 Who decided to go ahead with his plans of invasion of Afghanistan resulting in the first
Anglo-Afghan War?
Ans X 1. Lord Ellenborough
#< 2. Lord Dalhousie
+ 3. Lord Auckland
& 4. Lord Lytton
Question ID : 264330109042
Option 11D : 264330428446
Option 2 ID : 264330428448
Option 3 ID : 264330428445
Option 4 ID : 264330428447
Status : Not Answered




Q.7 Which of the following is a non-benzenoid compound?
Ans X 1.Naphthalene

Chosen Option :

" 2. Tropone
X 3. Benzene
X 4. Aniline
Question ID : 264330131669
Option 11D : 264330515778
Option 2 ID : 264330515776
Option 3 ID : 264330515777
Option 4 ID : 264330515775
Status : Answered
Chosen Option : 2
Q.8 Who accidentally discovered the synthesis of ether in 1850, by reacting alcohols with alkyl
iodides in the presence of sulphuric acid?
Ans X 1. Leopold Gmelin
< 2. Carl Wilhelm Scheele
#5 3. Jabir Ibn Hayyan
& 4. Alexander William Williamson
Question ID : 264330141683
Option 1 ID : 264330555052
Option 2 ID : 264330555054
Option 3 ID : 264330555051
Option 4 ID : 264330555053
Status : Not Answered
Chosen Option : --
Q.9 How many shrines exist in the Panchayatana style of architecture?
Ans o 1.5
< 2.3
X 3.9
X 4.7
Question ID : 26433072654
Option 11D : 264330284877
Option 2 ID : 264330284876
Option 3 ID : 264330284879
Option 4 ID : 264330284878
Status : Not Answered
Chosen Option : --
Q.10 In 1910, who applied the newly developed method of radioactive dating to minerals in the
first attempt to quantitatively estimate the age of the Earth?
Ans X 1. Friedrich Mohs
< 2. Clair C Patterson
" 3. Arthur Holmes
< 4. Alfred Wegener
Question ID : 264330141742
Option 11D : 264330555287
Option 2 ID : 264330555289
Option 3 ID : 264330555288
Option 4 ID : 264330555290
Status : Not Answered




Q.11 According to the 2011 census, Daman and Diu has the lowest sex ratio among all union

Chosen Option :

territories of India with only females per 1000 males.
Ans X 1.818
o 2.618
X 3.777
X 4.534
Question ID : 264330111349
Option 11D : 264330437481
Option 2 ID : 264330437484
Option 3 ID : 264330437482
Option 4 ID : 264330437483
Status : Answered
Chosen Option : 1
Q.12 As per Amendment of article 51A clause (k) said, “who is a parent or guardian to provide
opportunities for education to his child or, as the case may be, ward between the age of
years.”
Ans  «" 1.6to 14 years
& 2.1to15years
& 3.5to 15 years
& 4.7to 18 years
Question ID : 264330118532
Option 11D : 264330465531
Option 2 ID : 264330465529
Option 3 ID : 264330465530
Option 4 ID : 264330465532
Status : Answered
Chosen Option : 1
Q.13 Which of the following measures of money supply is considered least liquid?
Ans X 1. M1
o 2. M4
& 3.M3
X 4.M2
Question ID : 26433092380
Option 11D : 264330362809
Option 2 ID : 264330362812
Option 31D : 264330362811
Option 41D : 264330362810
Status : Not Answered




Q.14 Which of the following is the riverine port in India that has also been a witness to India's
struggle for independence, World Wars | and Il and socio-cultural changes taking place in
the country?

Ans X 1. Jawaharlal Nehru Port
#5 2. Paradip Port
< 3. Mundra Port

«# 4. Syama Prasad Mookerjee Trust

Question ID : 264330130580
Option 11D : 264330511434
Option 2 ID : 264330511433
Option 3 ID : 264330511431
Option 4 ID : 264330511432
Status : Not Answered
Chosen Option : --
Q.15 The weather in India, during winter months, is impacted by the distribution of surface
pressure from
Ans " 1. central and western Asia
/5 2. central and southern Asia
5 3. western and eastern Asia
X 4. central and northern Asia
Question ID : 264330145259
Option 11D : 264330569291
Option 2 ID : 264330569294
Option 3 ID : 264330569293
Option 4 ID : 264330569292
Status : Answered
Chosen Option : 4
Q.16 What is the rate of the heating and cooling of the oceanic water compared to land?
Ans  «" 1. Slower
< 2. Similar
X 3. Faster
X 4. Moderate
Question ID : 264330113362
Option 11D : 264330445534
Option 2 ID : 264330445536
Option 3 ID : 264330445533
Option 4 ID : 264330445535
Status : Answered
Chosen Option : 1

Q.17
Ans

built the town of Thanjavur and a temple for goddess Nishumbhasudini there.
/< 1.Rajendral

/< 2. Virarajendra Chola
/< 3. Athirajendra Chola

" 4. Vijayalaya

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :

Chosen Option :

26433089137
264330350066
264330350067
264330350068
264330350065
Marked For Review
1




Ans

+" 1. Dr BR Ambedkar
/< 2. C Rajagopalachari
X 3. Lal Bahadur Shastri

X 4. Jawaharlal Nehru

Q.18 Who among the following mentioned that ‘Collective Responsibility can be achieved only
through the instrumentality of the Prime Minister’?

Question ID : 264330120162
Option 11D : 264330470903
Option 2 ID : 264330470905
Option 3 ID : 264330470906
Option 4 ID : 264330470904
Status : Not Answered
Chosen Option : --
Q.19 Who among the following was conferred a Lifetime Achievement Honour in the year 2023 by
the India-UK Achievers Honours in London for his contribution to economic and political
life?
Ans X 1. Urjit Patel
X 2. Raghuram Rajan
" 3. Manmohan Singh
X 4. Narendra Modi
Question ID : 264330137294
Option 11D : 264330537806
Option 2 ID : 264330537805
Option 3 ID : 264330537804
Option 4 ID : 264330537803
Status : Answered
Chosen Option : 3
Q.20 Osmosis is a diffusion movement of
Ans X 1. sugar
X 2. air
& 3. alloys
o 4. water
Question ID : 264330113335
Option 11D : 264330445425
Option 2 ID : 264330445427
Option 3 ID : 264330445428
Option 4 ID : 264330445426
Status : Answered
Chosen Option : 2




Ans

Ans

Ans

5 1. Anantha Nageswaran
«" 2. Ajay Seth

Z< 3. Chintan Vaishnav

/< 4. Chetan Vaidya

to their children between the age of 6 and 14 years?
2 1. 85" Amendment Act, 2002

X 2.83™9 Amendment Act, 2000
« 3. 86" Amendment Act, 2002
X 4. 84" Amendment Act, 2001

Q.21 Who among the following was appointed as the new Economic Affairs Secretary in April2021?

\

Question-1D——26433092443
Option 1 ID : 264330363064
Option 2 ID : 264330363062
Option 3 ID : 264330363061
Option 4 ID : 264330363063
Status : Answered
Chosen Option : 1

Q.22 Which of the following amendments made the Fundamental Duty of parents to provideeducation

\

Question ID : 264330112764
Option 1 ID : 264330443143
Option 2 ID : 264330443141
Option 3 ID : 264330443144
Option 4 ID : 264330443142
Status : Answered
Chosen Option : 3

Q.23 Which of the following programmes was launched on 15 August 1983 with an objective to

provide guarantee of employment to at least one member of the landless households for about

100 days in a year?
Z5 1. Training to Rural Youth for Self Employment (TRYSEM)

" 2. Rural-Landless Employment Guarantee Programme (RLEGP)

/5 3. Mahatma Gandhi National Rural Employment Guarantee Act (M\GNREGA)

< 4. Jawahar Rozgar Yojana (JRY)

Question ID : 264330119826
Option 11D : 264330469582
Option 2 ID : 264330469580
Option 3 ID : 264330469579
Option 4 ID : 264330469581
Status : Answered
Chosen Option : 2




Q.24 How many children in total were conferred the Pradhan Mantri Rashtriya Bal Puraskar, 2023
by the President of India, Droupadi Murmu on 23 January 20237

Ans X 1.13
X 2.12
% 3.10
o 4. 11

Question ID : 264330132577
Option 11D : 264330519406
Option 2 ID : 264330519405
Option 3 ID : 264330519403
Option 4 ID : 264330519404
Status : Answered
Chosen Option : 2

\ /

Q.25 Which is the most common type of budding yeast, capable of fermenting sugar into carbon
dioxide and alcohol and commonly used in baking and brewing?

Ans & 1. Saccharomyces boulardii
" 2. Saccharomyces cerevisiae
75 3. Schizosaccharomyces pombe

/5 4. Candida albicans

Question ID : 264330144345
Option 11D : 26433056564 1
Option 2 ID : 264330565642
Option 3 ID : 264330565640
Option 4 ID : 264330565639
Status : Not Answered
Chosen Option : --

Q.26 Which of the following is a capital goods industry?
Ans & 1. Manufacturing of tools

" 2. Manufacturing of plants and machineries
5 3. Manufacturing of television

/< 4. Manufacturing of dyes

Question ID : 264330144396
Option 11D : 264330565841
Option 2 ID : 264330565839
Option 3 ID : 264330565842
Option 4 1D : 264330565840

Not Attempted and
Marked For Review

Chosen Option : --

Status :

\ J

__________________________________ " |
Q.27 Select the correct combination of Indian classical dance and their respective dancer.

Ans X 1. Kelucharan Mohapatra - Mohiniyattam
+" 2. Anita Ratnam - Bharatanatyam
/< 3. Pallavi Krishnan - Manipuri
X 4. Sharodi Saikia - Kathakali

Question ID : 264330130518
Option 11D : 264330511185
Option 2 ID : 264330511184
Option 31D : 264330511186
Option 4 ID : 264330511183
Status : Not Answered
Chosen Option : --




Ans

vaccine GARDASIL-9, in September 20217

+" 1. MSD Pharmaceuticals Pvt Ltd

#5 2. Sun Pharmaceutical Industries Limited

< 3. Cipla Limited

X 4. Cadila Healthcare Limited

Q.28 Which of the following developed India’s first gender-neutral Human Papillomavirus (HPV)

Question ID : 26433082799
Option 11D : 264330325030
Option 2 ID : 264330325029
Option 3 ID : 264330325031
Option 4 ID : 264330325032
Status : Answered
Chosen Option : 3
929 Match the column-A with column-B.
Column-A (Elements) Column-B (Group in Periodic Table)
a. Hydrogen i. Group-13
b. Helium il. Group-2
c. Beryllium iii. Group-1
d. Boron iv. Group-18
Ans X 1. aiv, biii, c-fi, d-i
& 2. a-iii, b-iv, cii, d-i
#< 3. a-, beii, c-ii, d-iv
< 4. a-i, b-ii, c-ii, d-iv
Question ID : 264330131784
Option 11D : 264330516236
Option 2 ID : 264330516238
Option 3 ID : 264330516237
Option 4 ID : 264330516235
Status : Answered
Chosen Option : 2
Q.30 According to the Census 2011, arrange the following states/union territories on the basis of
literacy rates, in ascending order.
A) Mizoram
B) Lakshadweep
C) Kerala
Ans X 1.(B), (A), (C)
& 2. (4), (C), (B)
X 3.(C), (B), (A)
o 4. (A), (B), (C)
Question ID : 264330157095
Option 11D : 264330615751
Option 2 ID : 264330615752
Option 3 ID : 264330615754
Option 41D : 264330615753
Status : Answered
Chosen Option : 3




accuracy?
Ans X 1. The email font style

/5 2. The email sender’'s name
/5 3. The email attachment

" 4. The email subject line

Q.31 When replying to or forwarding an email, what should you check before sending to ensure

Question ID : 264330168576
Option 11D : 264330661118
Option 2 ID : 264330661116
Option 3 ID : 264330661117
Option 4 ID : 264330661115
Status : Answered
Chosen Option : 1
Q.32 Prior to the 1991 Census of India, the concept of literacy was defined as essentially illiterate
children below the age of years.
Ans X 1.6
w25
X 3.7
X 4.8
Question ID : 264330117812
Option 11D : 264330463066
Option 2 ID : 264330463064
Option 3 ID : 264330463065
Option 4 ID : 264330463063
Status : Not Answered
Chosen Option : --
Q.33 Select the INCORRECT statement about HDL.
Ans X 1. It absorbs cholesterol in the blood and carries it back to the liver.
X 2.1t is considered as good cholesterol.
+” 3. High levels of HDL cholesterol raise the risk for heart diseases and stroke.
#5 4. ‘HDL’ stands for High-Density Lipoprotein.
Question ID : 264330112839
Option 11D : 264330443444
Option 2 ID : 264330443442
Option 3 ID : 264330443443
Option 4 ID : 264330443441
Status : Marked For Review
Chosen Option : 4
Q.34 The parliamentary elections, Presidential and Vice Presidential elections and the office of
the Election Commission come under which list of the Constitution of India?
Ans & 1. Residual List
5 2. Concurrent list
+ 3. Union list
X 4. State list
Question ID : 264330130487
Option 11D : 264330511062
Option 2 ID : 264330511061
Option 3 ID : 264330511060
Option 4 ID : 264330511059
Status : Answered
Chosen Option : 3




Q.35 In November 2022, who among the following was appointed as the brand ambassador of
Uttarakhand government?

Ans X 1. Jubin Nautiyal
/5 2. Abhinav Bindra
«" 3. Prasoon Joshi

X 4. Rishabh Pant

\

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 41D :
Status :

Chosen Option :

264330156993
264330615349
264330615350
264330615348
264330615347
Answered

4

Q.36 Which of the following Magadha Emperors annexed Anga into his Empire?
Ans X 1. Ajatashatru

" 2. Bimbisara
25 3. Udayin
5 4. Mahapadma Nanda

\

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :

Status :

Chosen Option :

264330112127
264330440594
264330440593
264330440595
264330440596

Not Attempted and
Marked For Review

Q.37 What does the ‘Print Range’ option allow you to specify when printing slides in PowerPoint?

Ans X 1. The order of the slides to be printed
Z< 2. The orientation of the slides to be printed
75 3. The number of copies to be printed
" 4. The range of slides to be printed
Question ID : 264330168591
Option 11D : 264330661176
Option 2 ID : 264330661178
Option 3 ID : 264330661175
Option 4 ID : 264330661177
Status : Answered
Chosen Option : 4
Q.38 Perennial snow is a characteristic of the cold climate group which is denoted as letter
code according to the Ksppen classification of climate types.
Ans & 1. EF
X< 2. Aw
< 3. BSk
X< 4. Cfb
Question ID : 264330113496
Option 11D : 264330446069
Option 2 ID : 264330446072
Option 3 ID : 264330446070
Option 4 ID : 264330446071
Status : Answered
Chosen Option : 2




Q.39 Which of the following crops is an example of a Rabi crop?
Ans X 1. Maize

< 2. Rice
25 3. Groundnut

" 4. Mustard

Question ID : 264330116451
Option 11D : 264330457892
Option 2 ID : 264330457890
Option 3 ID : 264330457889
Option 4 1D : 264330457891
Status : Answered
Chosen Option : 1

Q.40 The Abhinandan Saroja National Award 2021 was conferred on which of the following
dancers?

Ans X 1. Yamini Reddy

«¥ 2. Aparna Satheesan
#< 3. Rama Vaidyanathan

< 4. Surupa Ganguly

Question ID : 26433071506
Option 11D : 264330280451
Option 2 ID : 264330280449
Option 3 ID : 264330280448
Option 4 1D : 264330280450
Status : Not Answered
Chosen Option : --

Q.41 Which of the following is a dynamic function of money?
Ans X 1. Measure of value

% 2. Standard of deferred payments

«" 3. Basis of credit and liquidity
X 4. Medium of exchange

Question ID : 264330144407
Option 11D : 264330565885
Option 2 ID : 264330565886
Option 3 ID : 264330565883
Option 4 ID : 264330565884
Status : Answered
Chosen Option : 1

Q.42 The 7" Commonwealth youth games will be held in:
Ans X 1.2026

" 2.2023
& 3.2028
X 4.2022

Question ID : 264330109712
Option 11D : 264330431127
Option 2 ID : 264330431126
Option 3 ID : 264330431128
Option 4 ID : 264330431125
Status : Answered
Chosen Option : 1




Q.43

Ans

Ans

Ans

Match the animals with the forests in which they are found.

Forests Animals
1. Montane forests a. Camel
2. Thorn forest and scrubs  b. Yak
3. Mangrove Forests c. Crocodile
" 1.1-b, 2-3, 3-c
X 2.1-c, 2-a, 3-b
X 3.1-a,2-b, 3-c

K 4.1-b, 2-c, 3-a

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

264330132724
264330519992
264330519994
264330519991
264330519993

Status : Answered
Chosen Option : 1

Q.44 Which of the following is a genetically modified plant?

" 1. Bt cotton
< 2. Native potato
< 3. Sugarcane
X 4. Wild banana

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

264330109937
264330432025
264330432027
264330432026
264330432028

Status : Answered

Chosen Option : 3

2023 shall be considered as income from other sources if the premium paid exceeds
each year.

< 1.%2,50,000

& 2. %10,00,000
& 3. %15,00,000
" 4.%5,00,000

Q.45 As per Finance Bill 2023 receipts arising from life insurance policies issued on or after 1 April

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

264330156936
264330615122
264330615120
264330615121
264330615119

Status : Answered

Chosen Option : 1




Q.46 The interspecies interaction that has a favourable influence on the participating species' per
capita reproduction and/or survivability is called:

Ans & 1. mutualism

X 2. symbiosis
X 3. adaptation

X 4. parasitism

Question ID : 264330109930
Option 11D : 264330431998
Option 2 ID : 264330431999
Option 3 ID : 264330432000
Option 41D : 264330431997
Status : Not Answered
Chosen Option : --
Q47 Match the following columns.
Colum-A (Enzyme) Column-B (Secreted from)
1. Ptyalin a. Small intestine
ii. Pepsin b. Salivary glands
iii. Alkaline phosphatase c. Stomach
iv. Maltase d. Liver
Ans X 1.i-a, ii-b, iii-c, iv-d
& 2.i-b, ii-c, iii-d, iv-a
< 3. ia, i, iii-b, iv-d
X 4.i-d, ii-c, ii-b, iv-a
Question ID : 264330119748
Option 11D : 264330469267
Option 2 ID : 264330469269
Option 3 ID : 264330469268
Option 4 1D : 264330469270
Status : Answered
Chosen Option : 2
Q.48 The centralisation of the administration of India took place under which Act?
Ans X 1.Charter Act of 1853
/5 2. Charter Act of 1813
/5 3. Charter Act of 1793
«” 4. Charter Act of 1833
Question ID : 264330112158
Option 11D : 264330440720
Option 2 ID : 264330440718
Option 3 ID : 264330440717
Option 4 ID : 264330440719
Status : Not Answered
Chosen Option : --




Q.49 Kongampattu AV Murugaiyan, was conferred the Padma Shri Award in 2022 for his
relentless pursuit in playing the:

Ans & 1. kinnera
Z5 2. violin
75 3. bulbultara
" 4. thavil
Question ID : 26433064637
Option 11D : 264330253140
Option 21D : 264330253142
Option 31D : 264330253143
Option 41D : 264330253141
Status : Answered
Chosen Option : 4
Q.50 Syyed Ahmed Barelvi was the founder of which Muslim Reform Movement?
Ans ~ 1. Ahmediya movement
#< 2. Aligarh movement
5 3. Deoband movement
" 4. Wahabi movement
Question ID : 264330109059
Option 11D : 264330428516
Option 21D : 264330428513
Option 31D : 264330428515
Option 41D : 264330428514
Status : Answered
Chosen Option : 1
Section : General Engineering Civil and Structural
Q.1 Punching shear may occur in loose sand with density less than _.
Ans X 1. 65%
< 2. 45%
3. 35%
X 4. 55%
Question ID : 26433096809
Option 11D : 264330379973
Option 2 ID : 264330379975
Option 3 ID : 264330379976
Option 4 ID : 264330379974
Status : Marked For Review

Chosen Option : 3




Proper experimental knowledge about the porosity and water absorption capacity of acoarse
aggregate is required as its affects the durability of concrete because of:

|. Freezing and thawing

Il. Reaction with chemically reactive fluids

Ill. Increasing the workability of concrete

Ans « 1. (i), (i), and (iif)
Z< 2. Both (i) and (ii)
< 3. Only (i)
< 4. Only (i)
Question ID : 264330100157
Option 11D : 264330393204
Option 2 ID : 264330393203
Option 3 ID : 264330393202
Option 41D : 264330393201
Status : Answered
Chosen Option : 1
Q.3 If the pipes are connected in parallel, the total loss of head is:
Ans X 1. equal to the sum of the squares of head losses in each pipe
X 2. equal to the reciprocal of the sum of head losses in each pipe
75 3. equal to the sum of head losses in each pipe
" 4. the same in each pipe
Question ID : 264330158938
Option 11D : 264330623113
Option 2 ID : 264330623114
Option 3 ID : 264330623111
Option 4 ID : 264330623112
Status : Answered
Chosen Option : 4
Q.4 As per Indian Standard code (IS-456), what should be the minimum clear cover provided
during the design of a water tank during moderate exposure conditions?
Ans X 1.75mm
& 2.10mm
& 3.45mm
& 4.30 mm
Question ID : 26433099387
Option 11D : 264330390162
Option 2 ID : 264330390163
Option 3 ID : 264330390161
Option 4 ID : 264330390164
Status : Answered
Chosen Option : 4




Ans

of each bar in a structure's reinforcing drawing?
«" 1. Bar bending schedule

/5 2. Material statement
< 3. Sundries
X 4. Work charged establishment

Q.5 Which of the following terms describes the location, type, mark, length and bending details

Chosen Option :

Question ID : 264330159821
Option 11D : 264330626633
Option 2 ID : 264330626634
Option 3 ID : 264330626632
Option 4 ID : 264330626631
Status : Answered
Chosen Option : 1
Q.6 Which term indicates the stages in which the total predetermined cost of construction of
the project is to be spread over?
Ans X 1. Financial planning
«" 2. Cost planning
Z5 3. Cost determination
75 4. Budget planning
Question ID : 26433099306
Option 11D : 264330389838
Option 2 ID : 264330389837
Option 3 1D : 264330389840
Option 4 1D : 264330389839
Status : Answered
Chosen Option : 2
Q.7 A BG track is laid with a sleeper density of N+3. The width of the sleeper is 20.25 cm. Find
the minimum depth of the ballast cushion.
Ans X 1.61cm
& 2.30.5cm
# 3.20.375cm
K 4.10.125cm
Question ID : 264330100769
Option 11D : 264330395624
Option 2 ID : 264330395622
Option 3 1D : 264330395623
Option 4 ID : 264330395621
Status Not Attempted and

Marked For Review




Ans

Ans

Q.8 The least count of a theodolite is

< 1. 1 minute

" 2. 1 second
25 3. 1 millisecond

5 4.1 hour

paper, due to shrinkage after few years?
/< 1. Engineer’s scale and graphical scale

o 2. Engineer’s scale and representative fraction
25 3. Graphical scale

#5 4. Representative fraction and graphical scale

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 41D :

Status :

Chosen Option :

264330160584
264330629668
264330629667
264330629669
264330629670
Marked For Review
2

Q.9 Which of the following scales may NOT give accurate measurements of a plan drawn on a

Question ID : 264330160591
Option 1 ID : 264330629698
Option 2 ID : 264330629696
Option 3 ID : 264330629695
Option 4 ID : 264330629697
Status : Answered
Chosen Option : 2
Q.10 A current meter is a device used for measuring the:
Ans & 1. velocity of the flow of the fluid
75 2. pressure of the fluid
25 3. surface tension of the fluid
75 4. viscosity of the fluid
Question ID : 264330158930
Option 11D : 264330623081
Option 2 ID : 264330623079
Option 3 ID : 264330623082
Option 4 ID : 264330623080
Status : Answered
Chosen Option : 1
Q.11 An RCC beam of width 250 mm and effective depth 450 mm is subjected to a nominal shear
stress of 1.25 N/mm2. What is the value of shear force due to design load coming on the
section?
Ans X 1. 1.40625 kN
#< 2. 1406.25 kN
" 3. 140.625 kN
& 4.14.0625 kN
Question ID : 264330100823
Option 1 ID : 264330395840
Option 2 ID : 264330395839
Option 3 ID : 264330395837
Option 4 ID : 264330395838
Status : Answered
Chosen Option : 1




Q.12 As per IS 456, the stripping time of the sofiit formwork to slabs (props to be refixed
immediately after removal of formwork) is _

Ans X 1.1day
/X 2.2 days

" 3. 3 days
X 4. 28 hours

Question ID : 264330157705
Option 11D : 264330618179
Option 2 ID : 264330618180
Option 3 ID : 264330618181
Option 4 ID : 264330618182
Status : Answered
Chosen Option : 3

\ /

Q.13 Which of the following accelerating admixtures is harmful for reinforced concrete and pre-
stressed concrete?

Ans & 1. Silicates
5 2. Fluorosilicates

" 3. Calcium chloride
X 4. Carbonates

Question ID : 264330157696
Option 11D : 264330618145
Option 2 ID : 264330618146
Option 3 ID : 264330618143
Option 4 ID : 264330618144
Status : Marked For Review
Chosen Option : 2

Q.14 Which of the following is NOT a property of coir fibres?
Ans X 1. Ease to carry

75 2. Elasticity
" 3. Resistance to dynamic loading

X 4. Long service span

Question ID : 26433099401
Option 11D : 264330390218
Option 2 ID : 264330390217
Option 3 ID : 264330390219
Option 4 ID : 264330390220
Status : Answered
Chosen Option : 1




Q.15 When the precipitation of a storm reaches the ground, it must fill up a basin, which is lower

than its surroundmgs before it can flow over the surface. The volume of water trapped in

the basin, which is lower than its surroundings, is called

Ans  « 1. depression storage
#5 2. basin storage
#5 3. dead storage
5 4. sub-surface storage
Question ID : 264330160578
Option 11D : 264330629645
Option 2 ID : 264330629643
Option 3 ID : 264330629644
Option 4 ID : 264330629646
Status : Answered
Chosen Option : 3
Q.16 Hollow pre-cast concrete blocks possess good thermal insulation because of the:
Ans X 1. outside air near the block
& 2. seepage resistance
X 3. resistance to efflorescence
«" 4. air entrapped within the block
Question ID : 26433099393
Option 11D : 264330390186
Option 2 ID : 264330390187
Option 3 ID : 264330390188
Option 4 ID : 264330390185
Status : Answered
Chosen Option : 4
Q.17 Select the correct option for the given statements.
Statement 1: Direction of the movement of a storm over the catchment area has a definite
effect on the runoff.
Statement 2: If the storm moves against the flow direction, then the base period will be
comparatively more and less peak flow may be expected.
Ans  #5 1.Statement 1 is true and statement 2 is false
" 2. Both statement 1 and statement 2 are true, and statement 2 is the correct
explanation of statement 1
< 3. Statement 1 is false and statement 2 is true
5 4. Both statement 1 and statement 2 are true, but statement 2 is not the correct
explanation of statement 1
Question ID : 26433099448
Option 11D : 264330390407
Option 2 ID : 264330390405
Option 3 ID : 264330390408
Option 4 ID : 264330390406
Status : Marked For Review
Chosen Option : 2




as 1: 1 and the width/depth ratio as 6.5.

Q.18 A trapezoidal canal carries a discharge of 40 cumec and has the permissible mean velocity
of 0.95 m/s. The bed width of the canal is

_. Take the side slope of the canal

Chosen Option :

Ans X 1.17.40m
& 2.15.40m
& 3.14.50m
/X 4.16.40m
Question ID : 264330158570
Option 11D : 264330621642
Option 2 ID : 264330621640
Option 3 ID : 264330621641
Option 4 ID : 264330621639
Status : Not Answered
Chosen Option : --
Q.19 Which of the following types of soil have excellent workability as a construction material?
Ans X 1.Silty gravel
& 2. Clayey sand
" 3. Well graded gravel
X 4. Silty sand
Question ID : 26433099685
Option 11D : 264330391339
Option 2 ID : 264330391340
Option 31D : 264330391337
Option 41D : 264330391338
Status : Answered
Chosen Option : 2
Q.20 Which of the following test apparatus is used to determine initial setting time and final
setting time?
Ans & 1. Vicat’s apparatus
#5 2. Air permeability test
#5 3. Soundness test
< 4. Sieve test
Question ID : 264330157846
Option 11D : 264330618745
Option 2 ID : 264330618744
Option 3 ID : 264330618746
Option 41D : 264330618743
Status : Answered

1




Q.21 The Cq value of an orifice of d/D = 0.5 (d = diameter of orifice and D = diameter of the pipe)
lies in the range

Ans X 1.0.95t00.98

o 2.0.60 to 0.62
7 3.0.81t0 0.94
7 4.0.70 t0 0.80

Question ID : 26433091048
Option 11D : 264330357601
Option 2 ID : 264330357603
Option 3 ID : 264330357604
Option 4 ID : 264330357602
Status : Not Answered
Chosen Option : --

\

Q.22 As a precaution in cold weather concreting, cement containing should be selected.
Ans & 1. lower C3S and higher C2S

«" 2. higher C3S and lower C2S
5 3. lower C3S and lower C25
X 4. higher C3S and higher C2S

Question ID : 264330157701
Option 11D : 264330618165
Option 2 ID : 264330618163
Option 31D : 264330618166
Option 41D : 264330618164
Status : Answered
Chosen Option : 2

\ J

Q.23 Determine the total pressure on a circular plate of diameter 2 m, which is placed vertically in
water in such a way that the Centre of the plate is 2.5 m below the free surface of the water.

Ans X 1. 70058 N
/< 2.72058 N
/< 3.71058 N
o 4. 77048 N

Question ID : 26433091144
Option 11D : 264330357985
Option 2 ID : 264330357988
Option 3 ID : 264330357987
Option 4 ID : 264330357986
Status : Answered
Chosen Option : 4

Q.24 A simple U-tube manometer connected to a pipe in which liquid is flowing with a uniform
speed will give _

Ans X 1. vacuum pressure
X 2. absolute pressure

" 3. gauge pressure

& 4. atmospheric pressure

Question ID : 264330158992
Option 11D : 264330623329
Option 2 ID : 264330623328
Option 3 ID : 264330623330
Option 4 ID : 264330623327
Status : Answered
Chosen Option : 3




Q.25

Ans

In the design of T beam , If My > My |im then the section is designed as a

Where
My = Ultimate flexural strength of beam

Mu,lim = limiting moment of resistance of a beam
/< 1. Singly reinforced section

X 2. Over reinforced section
" 3. Doubly reinforced section

25 4. under reinforced section

Question ID : 26433099430
Option 11D : 264330390333
Option 2 ID : 264330390335
Option 3 ID : 264330390334
Option 4 ID : 264330390336
Status : Answered
Chosen Option : 3
Q.26 Which of the following materials is a sustainable and green building material that can be
used in construction?
Ans X 1.Mortar
5 2. Brick
X 3. Concrete
" 4. Bamboo
Question ID : 264330157861
Option 11D : 264330618806
Option 2 ID : 264330618803
Option 3 ID : 264330618804
Option 4 ID : 264330618805
Status : Answered
Chosen Option : 4
Q.27 Based on the slenderness ratio, a steel column is found to be an intermediate column. The
failure of such a column is visible as:
Ans X 1. The steel column will not fail but remain unstable.
X 2. only buckling
< 3. only crushing
" 4. a mixed mode of buckling and crushing
Question ID : 264330162711
Option 11D : 264330638166
Option 2 ID : 264330638165
Option 3 ID : 264330638164
Option 4 ID : 264330638163
Status : Answered
Chosen Option : 4




Q.28 In expansion joints, the loads are transferred through:
Ans X 1. aggregates

X 2. tie bars
25 3. longitudinal bars

" 4. dowel bars

Question ID : 26433086536
Option 11D : 264330339788
Option 2 ID : 264330339785
Option 3 ID : 264330339786
Option 4 ID : 264330339787
Status : Answered
Chosen Option : 4

Q.29 As per IS 456:2000, which of the statement regarding longitudinal reinforcement in the RCC
column is INCORRECT?

Ans X 1. Minimum 4 longitudinal bars is to be provided in a rectangular column.
5 2. Minimum 6 longitudinal bars is to be provided in a circular column.
Z5 3. Minimum diameter of longitudinal bars shall not be less than 12 mm.

" 4. Minimum 8 longitudinal bars is to be provided in a column having helical
reinforcement within the helical region.

Question ID : 264330159644
Option 11D : 264330625935
Option 2 ID : 264330625936
Option 3 ID : 264330625938
Option 4 ID : 264330625937
Status : Answered
Chosen Option : 4

Q.30 Register of arrears of wages due to work people is recorded in
Ans X 1. part Il of the wage record

75 2. part Il of the muster roll
" 3. part |l of the muster roll

5 4. part Il of the wage record

Question ID : 26433099365
Option 1 ID : 264330390076
Option 2 ID : 264330390074
Option 3 ID : 264330390073
Option 4 ID : 264330390075
Status : Not Answered
Chosen Option : --




Ans

Q.31 If the actual velocity of jet at the vena contracta in an orifice meter is ‘V’, the depth of the

centre of orifice below the free surface is ‘h’ and ‘g’ is the gravitational acceleration, then

the coefficient of velocity ‘Cy’ is:
& 1.V 7 (2gh)'?
% 2.4V / (2gh)*’?
2 3.28h / (V)2
& 4.2vgh / 300

Chosen Option :

Question ID : 264330158932
Option 11D : 264330623087
Option 2 ID : 264330623090
Option 3 ID : 264330623088
Option 4 ID : 264330623089
Status : Answered
Chosen Option : 1
Q.32 For field compaction of soil, in cohesive soil the combination of tamping action and
kneading action on soil is achieved by:
Ans X 1.frog rammers
X 2. pneumatic-tyred rollers
" 3. sheep foot rollers
X 4. vibroflotation
Question ID : 264330160343
Option 11D : 264330628714
Option 2 ID : 264330628712
Option 3 ID : 264330628711
Option 4 ID : 264330628713
Status : Answered
Chosen Option : 3
Q.33 A tacheometer was set at a station and the readings were taken on two points, which were
100 m and 150 m apart and had staff intercepts of 3.98 m and 5.98 m, respectively. If an
externally focusing tacheometer was used for the observation, then the values of focal
length (f), stadia interval (i) and distance (d) between the objective and the vertical axis of
the instrument could be .
Ans X 1.f=0.2m,i=12mm,d=30cm
K 2.f=0.3m,i=0.12mm, d=20cm
X 3.f=03m,i=1.2mm,d=20cm
& 4.f=0.3m,i=12mm,d=20cm
Question ID : 264330160623
Option 11D : 264330629824
Option 2 ID : 264330629825
Option 3 ID : 264330629826
Option 4 ID : 264330629823
Status : Not Answered




Ans

Q.34 Rankine theory considers the stress in a soil mass when it reaches in the state of

X 1. local state of equilibrium

#5 2. limited equilibrium
/5 3. general state of equilibrium

" 4. plastic equilibrium

Chosen Option :

Question ID : 26433096891
Option 11D : 264330380302
Option 2 ID : 264330380303
Option 3 1D : 264330380301
Option 4 ID : 264330380304
Status : Answered
Chosen Option : 4
Q.35 A magnetic compass can be used to measure _
Ans X 1. magnetic bearing only
Z5 2. magnetic meridian, magnetic bearing and arbitrary bearing
«" 3. both magnetic meridian and magnetic bearing
5 4. magnetic meridian only
Question ID : 264330160595
Option 11D : 264330629712
Option 2 ID : 264330629714
Option 3 ID : 264330629713
Option 4 ID : 264330629711
Status : Answered
Chosen Option : 3
Q.36 Consider the following statements with respect to long wall-short wall method. Which of the
following statement is/are correct?
I. The wall that is taken first is treated as the length, though the length may be lesser.
II. The wall with longer length has to be taken as the long wall.
Ans /< 1. Both statements | and Il are true
< 2. Both statements | and Il are false
5 3. Only statement Il is true
" 4. Only statement | is true
Question ID : 26433099337
Option 11D : 264330389963
Option 2 ID : 264330389964
Option 3 ID : 264330389962
Option 4 ID : 264330389961
Status : Marked For Review

3




Q.37 The air vessel in a reciprocating pump is:
Ans X 1. fitted outside the system
5 2. fitted ahead of the pump
" 3. fitted in the delivery pipe
5 4. not fitted
Question ID : 264330158980
Option 11D : 264330623281
Option 2 ID : 264330623280
Option 3 ID : 264330623279
Option 4 ID : 264330623282
Status : Answered
Chosen Option : 3
Q.38 Formation of type(s) of rocks involves biological activity in addition to complex
mechanical or chemical processes.
Ans X 1. sedimentary and metamorphic
5 2. metamorphic
< 3. igneous
" 4. sedimentary
Question ID : 264330159311
Option 1 ID : 264330624606
Option 2 ID : 264330624605
Option 3 ID : 264330624603
Option 4 ID : 264330624604
Status : Answered
Chosen Option : 3
Q.39 Which of the following statements is INCORRECT?
Ans & 1. Incomplete combustion of carbonaceous fuels releases carbon dioxide as the major
pollutant.
< 2. Municipal drainage systems emit H,S gas.
#5 3. Thermal power houses are the main contributors to SO, emissions.
X 4. Welding operations may release nitrogen oxide.
Question ID : 264330160687
Option 11D : 264330630082
Option 2 ID : 264330630081
Option 3 ID : 264330630079
Option 4 ID : 264330630080
Status : Answered
Chosen Option : 1
Q.40 The distance travelled by an electromagnetic wave in one second is called .
Ans X 1. period
X< 2. frequency
" 3. wave velocity
& 4. wave length
Question ID : 264330159297
Option 1 ID : 264330624549
Option 2 ID : 264330624548
Option 3 ID : 264330624550
Option 4 ID : 264330624547
Status : Answered
Chosen Option : 4




Q.41 The maximum shear stress (in N/mm?) in a reinforced concrete beam of M-25 grade as per
1S 456-2000 is given as:

Ans X 1.3.4
X 2.35
X 3.2.8
W 4. 3.1
Question ID : 264330159670
Option 1 ID : 264330626041
Option 2 ID : 264330626042
Option 3 ID : 264330626039
Option 4 ID : 264330626040
Status : Answered
Chosen Option : 4
Q.42 For a railway track, the width of the formation depends upon which of the following?
i. Type of sleepers
ii. Type of ballast
iii. Type of gauge
iv. Number of tracks, i.e. single or double track
Ans #< 1. Bothiand ii
X 2. Bothiandiv
< 3. Both ii and iii
& 4. Both iii and iv
Question ID : 26433086539
Option 1 ID : 264330339797
Option 2 ID : 264330339800
Option 3 ID : 264330339798
Option 4 ID : 264330339799
Status : Answered
Chosen Option : 4
Q.43 As per IS 456-2000, the fiexural strength of a rectangular section of a singly reinforced RCC
beam does NOT depend on which of the given options?
Ans X 1. Grade of concrete
#5 2. Depth of beam
X 3. Grade of steel
" 4. Temperature
Question ID : 264330159655
Option 1 ID : 264330625981
Option 2 ID : 264330625982
Option 3 ID : 264330625980
Option 4 ID : 264330625979
Status : Answered
Chosen Option : 4




Q.44 Arrange the following steps for painting of surfaces in a sequential manner.
1. First coat

2. Final coat

3. Prime coat

4. Surface preparation

Ans X 1.4,1,3,2

Chosen Option :

Ww2.4,31,2
< 3.3,1,2,4
K 4.3,2,1,4
Question ID : 264330160753
Option 11D : 264330630345
Option 2 ID : 264330630344
Option 31D : 264330630343
Option 4 ID : 264330630346
Status : Answered
Chosen Option : 2
Q.45 The maximum value of the radius of gyration is obtained if a material ___ .
Ans X 1.isplaced at the centroid
X 2. has the maximum area
" 3. is placed farthest from the centroid
X 4. is placed nearest the centroid
Question ID : 264330159684
Option 11D : 264330626096
Option 2 ID : 264330626098
Option 31D : 264330626097
Option 4 1D : 264330626095
Status : Answered
Chosen Option : 3
Q.46 Select the correct statement regarding the 15! and 2"d moment of area of a circular lamina
with radius ‘R’.
Ans o1, 15 moment of area is may be either -ve or +ve based on the chosen reference axes,
but 2"4 moment of area is always +ve.
X 2. 15 moment of area is always +ve and 2"4 moment of area is always -ve.
X 3. 15Y moment of area is always -ve and 2"4 moment of area is always +ve.
X 4. 1* moment of area and 2"4 moment of area are always +ve.
Question ID : 264330159408
Option 11D : 264330624994
Option 2 ID : 264330624993
Option 3 ID : 264330624992
Option 4 ID : 264330624991
Status : Not Answered




and greater resistance to the chemical attack in OPC Cement?

Q.47 Which of the following compounds is responsible for slow hardening, less heat of hydration,

Ans X 1.C3S
X 2. C4AF
& 3.C3A
o 4. C)S
Question ID : 264330157850
Option 11D : 264330618761
Option 2 ID : 264330618759
Option 3 ID : 264330618762
Option 4 ID : 264330618760
Status : Answered
Chosen Option : 4
Q48 A beam cross section has shape of an angle section as given below. Which of the
following cross sections has the same nature of shear stress distribution as that of
the below angle section?
Ans
X 1. Z
I-Section
e %
Triangular
W 3. %
T-Section
= '7”2 rosip
X 4. /
/.
Cross-Section
Question ID : 26433088033
Option 11D : 264330345745
Option 2 ID : 264330345748
Option 3 ID : 264330345746
Option 4 ID : 264330345747
Status : Answered
Chosen Option : 3




Ans

Ans

X 1.2.78
X 2.0.278
X 3.0.15
o 4. 0.556

5 1. stream order
" 2. drainage density
/5 3. stream density

#5 4. catchment density

Q.49 A vehicle was stopped by fully jamming the breaks in 1.8 s and the skid marks measured 9
m. Determine the average skid resistance. Take g =10 m/s2.

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 41D :

Status :

Chosen Option :

26433091106

264330357835
264330357836
264330357833
264330357834

Not Attempted and
Marked For Review

Q.50 The ratio of the total length of streams of all orders within a basin to its area is called

Question ID : 26433095837
Option 11D : 264330376118
Option 2 ID : 264330376119
Option 3 ID : 264330376117
Option 4 ID : 264330376120
Status : Not Answered
Chosen Option : --
Q.51 The gross command area for a distributary is 10,000 ha and 80% of this is culturable. The
intensity of irrigation is 50% for wheat and 30% for rice. Determine the total area cultivated
by wheat and rice.
Ans & 1.2400 ha
o 2. 6400 ha
#< 3.8000 ha
#< 4.4000 ha
Question ID : 264330160570
Option 11D : 264330629612
Option 2 ID : 264330629613
Option 3 ID : 264330629614
Option 4 ID : 264330629611
Status : Answered
Chosen Option : 2




Ans

Ans

Q.52 Which of the following is NOT a retarding admixture?

" 1. Calcium chloride
5 2. Calcium sulphate

Q.54 The geographical information system is capable of integrating

retrieve, analyse and display the spatial data.
#5 1. only a multi-sector database system

< 2. only multi-sector and multi-level database systems
5 3. only multi-level and multi-period database systems

" 4. multi-sector, multi-level and multi-period database systems

Chosen Option :

& 3. Sugar
X 4. Starch
Question ID : 264330157698
Option 11D : 264330618152
Option 2 ID : 264330618151
Option 31D : 264330618154
Option 41D : 264330618153
Status : Answered
Chosen Option : 1
Q.53 The following observations were made in an open-traverse compass survey. Bearing of Line
ABis S 35° 30’ E, whereas the included angles measured clockwise at stations B, C, D and E
are 105° 207, 265° 50°, 20° 10’ and 325° 40, respectively. The bearing of Line CD is .
Ans X 1.524°20°W
& 2.565° 40'E
o 3.524° 200 E
X 4.565° 40 W
Question ID : 264330160598
Option 11D : 264330629724
Option 2 ID : 264330629725
Option 3 ID : 264330629723
Option 4 ID : 264330629726
Status : Not Attempted and

Marked For Review

to capture, store,

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :

Status

264330160191
264330628103
264330628104
264330628105
264330628106

: Not Answered
Chosen Option :




Ans

" 1. TSIKADA and GLONASS
X 2. GPS and GLONASS
X 3. TRANSIT and GLONASS
/< 4. TSIKADA and GPS

Q.55 Which of the following options represents the satellite-based positioning systems run by
Russia?

Question ID : 264330160587
Option 1 ID : 264330629680
Option 2 ID : 264330629679
Option 3 ID : 264330629682
Option 4 ID : 264330629681
Status : Answered
Chosen Option : 1
Q.56 The number of days for which a crop remains in a field is known as crop period. The crop
period is also defined as the number of days between .
Ans X 1. sowing and the last watering before harvesting a crop
" 2. sowing and harvesting of a crop
5 3. preparation of land and sowing
Z< 4. preparation of land and last watering before harvesting a crop
Question ID : 264330158538
Option 11D : 264330621512
Option 2 ID : 264330621511
Option 3 ID : 264330621514
Option 4 ID : 264330621513
Status : Answered
Chosen Option : 2
Q.57 The carbon credit system helps .
Ans & 1. reduce greenhouse gas emissions
#5 2. reduce water pollution caused by chemicals
% 3. reduce noise pollution
5 4. reduce soil pollution caused by agricultural wastes
Question ID : 264330160674
Option 1 ID : 264330630027
Option 2 ID : 264330630028
Option 3 ID : 264330630030
Option 4 ID : 264330630029
Status : Answered
Chosen Option : 1




Q.58 Minimum shear reinforcement is provided in an RCC beam under which of the following
conditions?

Ans  «" 1. Nominal shear stress is less than design shear strength of concrete

X 2. Nominal shear stress is greater than maximum shear stress
#5 3. Nominal shear stress is greater than design shear strength of concrete

< 4. Nominal shear stress is greater than design shear strength of concrete but less t
maximum shear stress

han

Chosen Option :

Question ID : 264330100821
Option 11D : 264330395830
Option 2 ID : 264330395831
Option 3 ID : 264330395829
Option 4 ID : 264330395832
Status : Answered
Chosen Option : 4
Q.59 Sprinkler irrigation is the best method of irrigation for standing crops in in
fields.
Ans X 1. level surface
# 2. undulating sandy soil
25 3. heavy soil with low infiltration rate
& 4. alluvial soil
Question ID : 26433099443
Option 11D : 264330390386
Option 2 ID : 264330390387
Option 3 ID : 264330390385
Option 4 ID : 264330390388
Status : Answered
Chosen Option : 3
Q.60 Consider the following distances:
dq = distance travelled by the vehicle after applying the breaks.
do = distance travelled by overtaking vehicle, during reaction time for overtaking.
dg = distance travelled by overtaking vehicle, during total overtaking time.
d4= distance travelled by overtaken vehicle, during total overtaking time.
The Overtaking Sight Distance, on a road with one-way traffic will be equal to:
Ans . di+dptdssds
x 2 di+dy+ds3
3. d3 + d4
4. dp+ds
Question ID : 26433091095
Option 11D : 264330357789
Option 2 ID : 264330357790
Option 3 ID : 264330357791
Option 4 ID : 264330357792
Status : Answered

1




Ans

(N)?
4" 1. The delivery head is directly proportional to N2,
#5 2. The delivery head is inversely proportional to N.
25 3. The delivery head is inversely proportional to N2,

/X 4. The delivery head is directly proportional to N.

circular bottoms for small canals are the most suitable sections for

Q.61 What is the relation between the delivery head of the centrifugal pump and the shaft speed

\

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 41D :
Status :

Chosen Option :

264330158975
264330623261
264330623260
264330623262
264330623259
Marked For Review
4

Q.62 Trapezoidal sections with rounded corners for large canals or triangular sections with

canals.

Chosen Option :

Ans X 1. semi-lined
< 2. unlined
/5 3. earthen
" 4. lined
Question ID : 26433099458
Option 11D : 264330390447
Option 2 ID : 264330390446
Option 3 ID : 264330390445
Option 4 ID : 264330390448
Status : Marked For Review
Chosen Option : 4
Q.63 For cast in situ lining, identify the false statement.
Ans & 1. It has a higher initial cost.
" 2. The recurring maintenance charges are high.
#5 3. It has a longer life than that of any other type.
25 4. It is most resistant to erosion.
Question ID : 26433099456
Option 11D : 264330390437
Option 2 ID : 264330390438
Option 3 ID : 264330390440
Option 4 ID : 264330390439
Status : Not Answered




to the rotary kiln in the dry state?
" 1. Dry process
X 2. Moist process

Ans

X 3. Wet process

X 4. Grinding process

Q.64 In which process of manufacturing of cement are the raw materials ground, mixed and fed

Question ID : 264330157841
Option 11D : 264330618724
Option 2 ID : 264330618725
Option 3 ID : 264330618723
Option 4 ID : 264330618726
Status : Answered
Chosen Option : 1
Q.65 A new system of sanitation is needed over the old conservancy system because:
Ans & 1. both the systems of sanitation have an equal chance of polluting water supplies
#5 2. the new system pollutes the city's water supplies
+” 3. the old system may pollute the city’s water supplies
5 4. the system of sanitation has no relation with the city's water supplies
Question ID : 26433095957
Option 11D : 264330376600
Option 2 ID : 264330376597
Option 3 ID : 264330376598
Option 4 ID : 264330376599
Status : Answered
Chosen Option : 3
Q.66 In the double integration method for a simply supported beam subjected to UDL over its
entire span, the slope and deflection calculation will require:
Ans X 1. only the symmetry condition
#< 2. the boundary condition as well as the continuity condition
X 3. only the boundary condition
" 4. the boundary condition as well as the symmetry condition
Question ID : 26433099377
Option 11D : 264330390122
Option 2 ID : 264330390124
Option 3 ID : 264330390121
Option 4 ID : 264330390123
Status : Answered
Chosen Option : 2




Ans

X 1. Inadequate stiffness
#< 2. Sag under own weight
X 3. High slenderness ratio

" 4. Tensile strength

Q.67 Which of the following is NOT a disadvantage of using rods and bars as a tension member
of steel structures?

\

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 41D :

Status :

Chosen Option :

264330159704
264330626176
264330626177
264330626178
264330626175

Not Attempted and
Marked For Review

Q.68 If the normal and shear stress corresponding the failure are plotted, then a curve is
obtained. The plot or curve is called the _

Ans X 1. phreatic line
#< 2. parabolic curve
25 3. failure line
" 4. strength envelope
Question ID : 26433096830
Option 11D : 264330380057
Option 2 ID : 264330380060
Option 3 ID : 264330380058
Option 4 ID : 264330380059
Status : Answered
Chosen Option : 4
Q.69 For , measuring is required individually in order to provide extra rates of associated
components.
Ans X 1. earthwork
«# 2. brickwork in arches
#5 3. honeycomb brickwork
X 4. reinforced brickwork
Question ID : 264330167533
Option 1 ID : 264330657106
Option 2 ID : 264330657103
Option 3 ID : 264330657105
Option 4 ID : 264330657104
Status : Answered
Chosen Option : 3




Ans

" 1. Modal average
/X 2. Traffic Variation charts

< 3. AADT in traffic engineering
75 4. The pattern of traffic

Q.70 Which of the following is NOT a way by which traffic volume data is presented?

Question ID : 264330176257
Option 11D : 264330691306
Option 2 ID : 264330691304
Option 3 ID : 264330691303
Option 4 ID : 264330691305
Status : Answered
Chosen Option : 1
Q.71 Which of the following is manufactured from particles of wood or other lingo cellulose
materials, which are agglomerated, formed and pressed together using an organic binder
together in the presence of heat, pressure or moisture?
Ans & 1. Plywood
#% 2. Fibre board
25 3. Block board
«" 4. Particle board
Question ID : 264330157854
Option 11D : 264330618776
Option 2 ID : 264330618777
Option 31D : 264330618778
Option 4 ID : 264330618775
Status : Answered
Chosen Option : 4
Q.72 Which of the following is a purpose served by lintel?
Ans X 1.To support the slab
Z5 2. To join the column at sill level
X 3. To join the foundation
" 4. To support the wall above the opening
Question ID : 264330100805
Option 11D : 264330395766
Option 2 ID : 264330395768
Option 3 1D : 264330395765
Option 4 1D : 264330395767
Status : Answered
Chosen Option : 4




pressure at a point A is 20 kN/m? (gauge). If the point A is 3 m above the datum line,
calculate the approximate total energy at point A in meters of oil.

Q.73 A 0.3 m diameter pipe carries oil of specific gravity 0.8 at flow velocity of 1.5 m/s and the

Chosen Option :

Ans X 1.5.95m
K 2.525m
o 3.5.65m
X 4.631m
Question ID : 26433091058
Option 11D : 264330357642
Option 2 ID : 264330357641
Option 3 ID : 264330357643
Option 4 ID : 264330357644
Status : Not Answered
Chosen Option : --
Q.74 The type pavement marking which is used as a hazard marking and guide marking for safe
driving during night is known as _
Ans X 1. object marking
«” 2. reflector unit marking
/< 3. pavement marking
< 4. kerb marking
Question ID : 264330157175
Option 11D : 264330616063
Option 2 ID : 264330616065
Option 3 ID : 264330616066
Option 4 ID : 264330616064
Status : Answered
Chosen Option : 2
Q.75 Select the correct option for the given statements.
Statement 1: Due to their low strength, particle boards are less durable than plywood or
solid wood. However, using laminates or veneers on the surface can aid to improve
durability.
Statement 2: A layer of melamine can be applied to the top surface of particle boards to
make them fire-resistant.
Ans & 1. Both statement 1 and statement 2 are true
< 2. Statement 1 is false and statement 2 is true
X 3. Statement 1 is true and statement 2 is false
/< 4. Both statement 1 and statement 2 are false
Question ID : 264330157853
Option 11D : 264330618771
Option 2 ID : 264330618774
Option 3 ID : 264330618773
Option 4 ID : 264330618772
Status : Answered

1




Q.76 In plane table surveys, the orientation of the table only by back sighting is preferred when

X 1. there is no second point for orientation

Ans
/5 2. the traverse is too long

+” 3. the plane table can be set on a point already plotted on the sheet

X 4. speed is more important than accuracy

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 41D :
Status :

Chosen Option :

264330160196
264330628124
264330628126
264330628125
264330628123
Answered

1

Q.77 Which of the following methods is most accurate for the determination of the water content
of cohesionless soil?

Ans & 1. Torsion Balance moisture meter method
#< 2. Pycnometer method
«" 3. Oven drying method

Z5 4. Calcium carbide method

Question ID : 26433099695
Option 11D : 264330391379
Option 2 ID : 264330391378
Option 3 ID : 264330391380
Option 4 ID : 264330391377
Status : Marked For Review
Chosen Option : 3
Q.78 Identify the correct statements regarding theodolite.
i.The axis of the plate level must lie in a plane parallel to the vertical axis.
ii. The horizontal axis must be perpendicular to the vertical axis.
iii. The vertical circle vernier must read zero when the line of collimation is horizontal.
iv.The axis of the altitude level must be perpendicular to the line of collimation.
Ans & 1. Onlyi and iii
5 2.4, 1, iii and iv
«" 3. Only ii and iii
X 4.0nlyiandiv
Question ID : 264330122653
Option 11D : 264330480726
Option 2 ID : 264330480724
Option 3 ID : 264330480723
Option 4 ID : 264330480725
Status : Answered
Chosen Option : 3




Q.79 Which of the following traffic sources will cause noise of the highest level during operation?
" 1. Jet aircraft at the take-off stage

/5 2. Road traffic

Ans

/5 3. Rail traffic

X 4. Inland water traffic

Question ID : 26433099407
Option 1 ID : 264330390241
Option 2 ID : 264330390243
Option 3 ID : 264330390242
Option 4 ID : 264330390244
Status : Answered
Chosen Option : 1
Q.80 Which of the following options represents an INCORRECT relation between the fundamental
axes of a theodolite?
Ans X 1. The axis of the plate level must be perpendicular to the vertical axis.
" 2. The axis of the striding level must be perpendicular to the transit axis.
#5 3. The trunnion axis must be perpendicular to the line of sight.
#5 4. The axis of the altitude level must be parallel to the line of collimation.
Question ID : 264330160625
Option 1 ID : 264330629834
Option 2 ID : 264330629832
Option 3 ID : 264330629833
Option 4 ID : 264330629831
Status : Answered
Chosen Option : 2
Q.81 A rectangular channel 3 m wide carries water at a depth of 1.2 m. The bed slope of the
channel is 0.0025. Calculate the hydraulic radius of the channel.
Ans X 1.0.637m
o 2.0.667m
< 3.0.617m
X 4.0.627m
Question ID : 26433094821
Option 1 ID : 264330372106
Option 2 ID : 264330372108
Option 3 ID : 264330372105
Option 4 ID : 264330372107
Status : Not Answered
Chosen Option : --
Q.82 To measure vertical angles, the theodolite must be levelled with reference to _
Ans " 1. the altitude bubble on the index frame
#< 2. the altitude bubble on the telescope
#5 3. the bubble tube on the plate level
Z< 4. the altitude bubble on both the telescope and the index frame
Question ID : 264330160626
Option 1 ID : 264330629836
Option 2 ID : 264330629835
Option 3 ID : 264330629838
Option 4 ID : 264330629837
Status : Answered
Chosen Option : 4
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Chosen Option :

T8 Ans X 1. RBT PR
X 2. cTUR & HRI
3. ATEFR
X 4.7 DT HRT
Question ID : 26433095923
Option 1 ID : 264330376462
Option 2 ID : 264330376464
Option 3 ID : 264330376461
Option 4 ID : 264330376463
Status : Answered
Chosen Option : 3
Q.84 Which of the given options does NOT include solid waste?
Ans X 1.Plastic waste
< 2. Garbage
X 3. Street sweepings
" 4. Sewage
Question ID : 26433096545
Option 1 ID : 264330378918
Option 2 ID : 264330378917
Option 3 ID : 264330378920
Option 4 ID : 264330378919
Status : Answered
Chosen Option : 4
Q.85 The mantle layer exists from the base of the crust layer to a depth of about
Ans  «# 1.2,900 km
< 2. 2,700 km
#< 3. 2,600 km
#< 4. 2,800 km
Question ID : 26433099684
Option 11D : 264330391335
Option 2 ID : 264330391333
Option 3 ID : 264330391336
Option 4 ID : 264330391334
Status : Not Answered
Chosen Option : --
Q.86 Defects due to fungi occur when the moisture content of timber is above
Ans X 1. 15%
W 2. 20%
X 3.25%
X 4. 10%
Question ID : 264330157883
Option 11D : 264330618892
Option 2 ID : 264330618893
Option 3 ID : 264330618894
Option 4 ID : 264330618891
Status : Answered

1




Q.87 If the cohesion value of soil is zero, the Mohr envelope will pass through:

Ans X 1.some distance on positive x-axis
% 2. some distance on positive y-axis
" 3. The origin

ZX 4. some distance on negative x-axis

Question ID : 264330159628
Option 11D : 264330625873
Option 2 ID : 264330625874
Option 3 ID : 264330625871
Option 4 ID : 264330625872
Status : Answered
Chosen Option : 3
Q.88 When designing steel structures, the effective length of battened compression members
should be _
Ans & 1. increased by 10%
#5 2. decreased by 20%
< 3. increased by 20%
< 4. decreased by 10%
Question ID : 264330159683
Option 11D : 264330626091
Option 2 ID : 264330626094
Option 3 ID : 264330626092
Option 4 ID : 264330626093
Status : Answered
Chosen Option : 1
Q.89 Consider the given statements.
I: Rate of material used for construction includes the cost of transport.
II: For material that is supplied departmentally, cost of carriage from godown to work rate
shall be added.
Which of the statements is/are true?
Ans & 1. Both statements | and Il are true
5 2. Only statement | is true
/5 3. Both statements | and Il are false
75 4. Only statement Il is true
Question ID : 26433099356
Option 11D : 264330390039
Option 2 ID : 264330390037
Option 3 ID : 264330390040
Option 4 ID : 264330390038
Status : Answered
Chosen Option : 1
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Question ID : 264330157185
Option 11D : 264330616104
Option 2 ID : 264330616106
Option 3 ID : 264330616105
Option 4 ID : 264330616103
Status : Answered
\ Ch. nptinn : 1
Q.91 The value of slope at fixed support of a cantilever beam of length- L, flexural rigidity- EI,
subjected to a point load ‘P’ at its mid span, and another point load ‘P’ at its free end, is:
A PL
M —
2.EI
, 3.PL
4.El
; PL
4.El
o 4. ZCI0
Question ID : 264330159401
Option 11D : 264330624965
Option 2 ID : 264330624964
Option 3 ID : 264330624966
Option 4 1D : 264330624963
Status : Answered
Chosen Option : 4
Q.92 The angle of the divergent portion of a Venturi meter is kept less than the angle of the
converging portion to _
Ans £ 1.increase the velocity of the flow in the direction of the flow at the diverging part
75 2. decrease the pressure in the direction of the flow at the diverging part
«" 3. minimise the loss of energy caused by flow separation
< 4. avoid a situation wherein the flow may become compressible
Question ID : 264330162559
Option 11D : 264330637565
Option 2 ID : 264330637566
Option 3 ID : 264330637563
Option 4 ID : 264330637564
Status : Answered
Chosen Option : 3




Q.93 During a cement mortar plastering of a brick wall, the ratio of 1 : 4 corresponds to _

Ans X 1.Lime : Cement
" 2. Cement : Sand
5 3. Cement : Water
/< 4. Cement : Coarse aggregate
Question ID : 26433099383
Option 11D : 264330390145
Option 2 ID : 264330390147
Option 3 ID : 264330390148
Option 4 ID : 264330390146
Status : Answered
Chosen Option : 2
Q.94 The painting of walls, doors and windows is measured in _
Ans X 1.gram
" 2. square metre
Z< 3. pound
X 4. cubic metre
Question ID : 264330159814
Option 11D : 264330626606
Option 2 ID : 264330626603
Option 3 ID : 264330626605
Option 4 ID : 264330626604
Status : Answered
Chosen Option : 2
Q.95 Miscellaneous expenses such as office expenses, stationery, postal expenses, etc., falls
under .
Ans & 1. additional expenses
" 2. overhead expenses
/< 3. extra expenses
< 4. surcharge expenses
Question ID : 26433099360
Option 11D : 264330390054
Option 2 ID : 264330390053
Option 3 ID : 264330390056
Option 4 ID : 264330390055
Status : Not Answered
Chosen Option : --
Q.96 According to the Air (Prevention and Control of Pollution) Act, 1981, how is the term
‘Emission’ defined?
Ans & 1. Only the solid particles coming out of an outlet
#< 2. Only the liquid substance coming out of an outlet
/< 3. Only the gaseous substance coming out of an outlet
& 4. Any solid or liquid or gaseous substance coming out of any chimney, duct or flue or
any other outlet
Question ID : 264330160680
Option 11D : 264330630051
Option 2 ID : 264330630052
Option 3 ID : 264330630053
Option 4 ID : 264330630054
Status : Answered
Chosen Option : 4




Q.97 In case of a turbulent flow in a pipe, the shear stress is:
Ans & 1. maximum at the wall and decreases linearly to zero at the centre

5 2. maximum at the midway between the centre line and the wall
#5 3. maximum at the centre and decreases linearly towards the wall

/5 4. maximum at the centre and decreases logarithmically towards the wall

Question ID : 264330158956
Option 11D : 264330623185
Option 2 ID : 264330623184
Option 3 ID : 264330623183
Option 4 ID : 264330623186
Status : Answered
Chosen Option : 1
Q.98 An underground water tank is to be designed. Which of the following cases is considered
most appropriate for the analysis of its wall?
Ans 1. The underground water tank is empty
2. The underground water tank is full
3. The underground water tank is half full
oy d
+. The underground water tank 1s full
Question ID : 264330100814
Option 11D : 264330395801
Option 2 ID : 264330395802
Option 3 ID : 264330395803
Option 4 ID : 264330395804
Status : Not Answered
Chosen Option : --
Q.99 Which of the following statements regarding Portland Pozzolana Cement (PPC) is
INCORRECT?
Ans X 1. PPC is useful in marine and hydraulic structures.
X 2. Fly ash is a pozzolanic material used for the manufacture of PPC.
" 3. PPC produces more heat of hydration than ordinary Portland cement.
#< 4. The long-term strength of PPC beyond a couple of months is higher than that of
ordinary Portland cement if enough moisture is available for continued pozzolanic action.
Question ID : 264330157684
Option 1 ID : 264330618095
Option 2 ID : 264330618096
Option 3 ID : 264330618097
Option 4 ID : 264330618098
Status : Answered
Chosen Option : 3




Q.100 Which of the following statements about carbon footprint is INCORRECT?

Ans X 1. Manufacturing and transportation of consumer goods form a part of the secondary

carbon footprint.

25 2. If you prefer to drive all the time, your carbon footprint will be higher.

« 3. Carbon footprint is of the following three types: primary, secondary and tertiary.

25 4. If you choose to walk or cycle, you lessen your carbon footprint.

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 41D :
Status :

Chosen Option :

264330160676
264330630038
264330630035
264330630037
264330630036
Not Answered
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